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38 | & 8T & 8 @I Tow 87 v W | [fey arzw
TSRO T 43R P9~ | TP I AE |

R = 11.2 kms™/ 7 miles™/ 25000 mile h™
B = 2.4 kms™

T =4.3kms™

HCT = 4.77 or 5 kms™

3¢ | g- 9T T KA @rRIE?
Teq: (N=F SCE AT 90° I 0 © I A e FKE @
45° SR S 4T T |

S | TS SHIRH g-9F N FATHH Q&2
Tex: 90°

va | R oot 2re (e SieerEd e fea s pae-
e 3’\% AR |

S | ARIT @FCH I T 9T
W:“fﬂ'l

35 | R wfeTEer TR T g AT bitwT ST e et T2
veq:
6

o | R3S @ JYIME T DIt ©F 6 [RCER 81 8 IR
4 oo | AR F I AT G&W 648 N | B diw
(I FORF GO FAIE?

Tes: 520 N

| AT @3 oA ARAE F I A IR RS
ST f T AFE FRCA-
Te: F=f

R | I Rewa 93 8 A
Bea: Nmkg ; [L? T%]; STC4it6 19 =7 (SP1es)

Q0 | TFIT 2T E-9F AR

M
W:E:%Q—

38 | TQFNT CFQ LRTHI T@a—
Tew: [LT Y

3¢ | RIS 2E @ FRIFHT [N 04y 1 Zeet-

W: E:_.d_v
’ dr

QU | @ TR A ToR T A oI I
TR of¥a T 31 ~Aifde IR |

23| 93 ¥ TANRT ARSIl F©?
Tes: 24 57 |

W | YRS FEEeR T Fo?

Tex: 11.2 kms™

| I RS I (CFERCE @) FoTe—
Tew: (@I SR FeTwerAeTS! S |

00 | (FATICH PO LA WA I 2
Teq: ARSTHIER 94 | T2 o« R® (1000%)

0y | e 223 T I%7 Toee 691 A I=7 |

smieda ol ot

1mm’ SERR CFawe [iE b TS ol (i 5%
ABITS FCET F© I LT 900 @2 [Y = 2 x 101 Nm™]
Te: 10N

Hint: F=YAX% = 2 x 10" x 10 ® x 5% =10* N

ol

F sAffe To gt I 2 m? SPRWR crawe (R
@I ETRIF SIEF i 3 @9 7G1? [Y = 2 x 10°Nm™?]
Tem: 8 x 10°N

Hint: F=YA(N-1)=2x10°x2x(3-1)=8x10°N

R

GFF CFGTT @R 2 x 10 Nm2 33 ez ({2 Siiren
S G 1 m | SR G 1 mm eRifie I F© g
FlET 7T RI?

Tex: 10°)

1 YAP

Hint: W:E L

O |

8| | &3 Ol OB F 20T il Y = x | ok T g
@ CC 5L GRR SIGER SAMITR T3 Q9IS Y T O O
e e =& Fo7

@@?&%FX

¢! WP AT qR Y @A S TAMITI /-7 2NF 7,
R OIER AfS 4T TS0 AS *{&—
P

e >V

Y| G YFTET Yo ONIF OIEF HOHT WS 1 : 2| 92
T eI e ol 76T Rgfen wpire we?

Tew: 1:1



v ey w @ fr
TET: AR I |

5| TEfegrHe M v 87 f Aoy ¢ G Rgfon wpire
&I RIATCE 0T
TE: 3 GT ST | TAMI AR N T Y A2 A |

o | O3B M 7p & &Y TR 9F NF-
e

3 | TR ST G T1@r-
Teq: W@ A

| R SPATS @F Fi-

1
W:—1<(5<§

0| ¢ W i 0.01 m WG [Ffen &y - [ =
0.0010 m | ST *RETT AFAT® F©?
Te3: 0.10

Hint: o = *r{ fagle/ tny fagfe

38 | A7 UF—
®&a: Nsm 2 or poise

3¢ | (I *WITdT et AT Qe
Teq: Wewed |

6| AGT I TR QANET VA ¢ G G Tl [MLT 7]
@F® Nm™ Jt Pascal

39| SMHANEl G AR AQoel—
Te: 0T

Hint: n oc [T

v 1 g5 3BT b IR e 1 2 T 9O e @O

S F7
Te:1:4

Hint: v; oc r?

35 | I (@ 40 &0 AT A AT oY oot AT ©of Feea—
TS TG I |

20 | q3R *Mieda RISy W97 Ty AT e 90T 0T
Teq: TS 4 |
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Y | 93T I AT ol 27 B i (T T st w4
T | TG (R FAFT I 6 mm A G AT 4K
JPE o7

Te: 9x 10°m

1
Hint: R = rN?

{3 | 3 R @I 90° T W T I S P (TN FA?
Teg: T |

Q0 | T = @ 90° UF T TF. OCF (AT T AT OGS
N FA?
&1 Toitw Towa |

38 | T @ (FT T SR [& OF AqYE AT, O
=pf et O =TT
Tea: 0 = 90°

3¢ | AR #ATT FIo CIFRT T B Too SSFSH AW—
Tes: s AR |

Y| F6 8 AW THFR -
Teq: eI |

29 | 2RV 8 T =0 &I O T
Te: 90° < 0 < 180°

Qb | AW 8 I TYF 0 (I F© 1?2
Teq: 140°

W | (T ST FIOCF (ST 1 Sl 4 Tpie—
Te: 90° O (5T 9T |

0o | G (FIHF TET IF A AT “Afire Wfters Fawa
A TER (TF AR I | TER IPNE r @R A@RS
AfRF B! h (I r << h) @ G3HB7 T3y 79 Tz

1
W’ﬁ:hocF

Hint. T = 109"
2 cosO

O | (I {Ca IR0 Al PO oS =7
W:‘j‘é‘ﬁml

o) | PO UF 4FF ¢ War-
Bex: Nm™; [MT 7]

Hint: T =

—|m

00 | #Hifire fog FeBrRTerS it a7 soi-
Teq: O AT | vy ST I 8 e mid @ Fh0E
DO AT IR I T CFCQ 0 |
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©8 | St i ¢ATT S BIT (Surface tension)
TeT: T I |

¢ | AR AR NOTSTE A(OS BiH-

4T
W:P:T

0V | BB (T) @R 8% (E) &7 77—
Ce: E=T

©q | ‘el AR (I 4R ORZ]?
Teq: JEEe |

S IS
e B e AfS W @G TR AfST TR, y = 5
sin(wt + &) | =W 3= 2.5 cm =eet FiBw =ifa vt Fo2
Bes: 30°
Hint: 2.5 = 5sin(w x 0 + 8)

ol

Q| HE gfe AifSte ~wage 7ft T 7 X, = Asinot @R

X, = A cosot, (TN AN qTid T4 w1 "WW{@?
T
W: 2

Hint: x; = Asinot 932 X,= A cosmt = Asin (cot + g)

o aﬁmqﬁﬁﬁawmw%xmﬁw
T T AT T2

5n__ &
Tex: 2aT2

Hint:wnvnvfar;:%xmw

8| & ®We ~@Wq (simple harmonic oscillator) «@%
TRFR?

d®x
Tew: a’z+ 0xX=0

2,
¢l 4%(%+ 16x = 0 AN G 77 e ==+ I
I | G2 R (@FF TN FO?

Tex: 2 rads
Hint: mz\/E=2rads‘1,T=2—n,f=2

4 ) 27
Y| I AR (G A SRGIT—
Te: fgfofe

Hint: E, = %kx2

e (Wi ATy I8 A AfSIfE a7 AT
Te: E = %kA2 = %mmzA2

- 1 7,
Hint: E, :Ek(Afoz) [X = 0 ZaT &6 sif=ifes =ihax A 1]

vl k3 EIe (PR @ @ A Rl w 2fte =i gece
T o (WG FfEs *If& E ==
1

W:EkAZ

51 @3B T 4 cm REE T e T g FAR |
TG (AT F© [Rey o AfexE ¢ e s
T@?

T&q: 24/2 cm

Hint:x:A:i:Z\ﬁcm

V2 42

Y0 | I MR ATFIE T O N F92

e 27:\/L
g

3 | b CAGEI WG REIE =0 (Hpes e anet e | <felb-
T TPO A |

S| TR (TR Fhe SRR AT T (TP O R(A?
Teq: S 7F 3 0 |

0 | G363 e RIAT e N eI -
Tex: I 21 |

Hint: T = 275\/%=2n\/%=oo[m?f (T 9 RIFIC 9@
Pl TANR g = 0ms?, T =0, F=0]

58 | T (MFIT PINPR (T80 qQCeT—

TG (T G|

Hint: T = 2% %:Tm\/[

3¢ | G CLFS @ O TM 2.25 @ o+ =, O
(RO (TETIET TS A2

®&9: 3 sec
L,
Ly

Hint: T =2n

W | GFB FET FTFT @IS 50% TS aF IEFT
SR AffS T 7|2

Te: 125%

g T



sa| AL R Tae ST @R G Fod Ia TS
A?
Teq: 4; Lo T?

S | G AT WA G L | G (RITTPIe LT FA0S A
W e TR

L
@%?fzz;LocT2

35 | IM GG A (EeRd BT fRew A =, SR W\
@B AHEET-

Te: TofiRere AT |
Hint: “{<e (@R ¢ 099 @1 S Foq e =1 |

R0 | 50 cm WY @36 e (e &fs R G 40 99 e
I G 200 cm A W 1 60 IF (E e F© TN
ANI?

Teq: 180's

Hint: T =+ = 2n\[£
n g

1 RIT B I CTFS @EEE @ 100 cm | & AR
*Rice afs G 20 I @ie I o 0 *3-
e 225 cm

Hint: T=~ = 27:\[5
n g

R G T @EER (et AN wmr A e
RIETTRIT  RGA?

Teq: Golfiere A |

Hint: SI@@a @9 +fiaed g@ a1 | o2 @1 IR@F gy
AfSIe AP |

R0 | @I T @EE FA (e Pl Arw wRr s
FACT GF MR P JBLI?

W:g%"ﬂ'@l

Hint: S99 05 (T A0 | OISt S (s i i |
o, T oc /L

38 | AT 8 FHIET N0 T2
P
%@?.r.f—T

¢ | PR- @ 3@ m o G T ARSI 2 sec T 4 m
ET €I G AT TS CNIFO?
W:4

Hint: T=2m (Mo Ly [M2
k T my
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Q| k Pergawe 93 Priee @i 32 St asTeI ot
M T @, GI0T WG Ry feed )| wfiees
Ffa-ee vor

3
W:Zk
oo (m+ny  2+1
it o= (D) = (222
R4 VmaX:mA:@:anA [10090]

e w xmin’ Amin, Epmin; VmaXv Ekmaxmm,
Ekpiy © Vinin RPSTE, Maximum |amay| = o°A

Y WW%WW’W:?

L

0o | (FT MECFA,
@RI, T = 2 sec; WEMIT=HIET, = 1 sec

ToIE, | :%: 0.5 HZ, el v, L:%: 0.993 m
= 99.3 cm = 3.36 ft

G @eerT = 30 &
BItA (RIe=pIeT = 4.5 sec

W 2 @ T (TR = 24/2 = 2.82 sec

O Ty:T,=2:3%TA, Ly:L,=4:9;LocT?

i AT 8 TR aifeeg

ST 115211 b W et o
®&3: 760 mmHg = 76 cm Hg
=0.76 mH = 1.013 x 10° Pa=1 atm

Q1 S Y STl 2
T _ 273° C 0K, <1 459.5° F; @ SI=wi@r V, P, E, 0 2 |

© | adfee A I 517 Al BwH I THSIF 12
©ea: 4.58 mm

8| WSIT SNl 8 BT R GF NI Xz~
Tew: 8.314 Jk tmol™

¢ TSI G AT S AT TR SIS 2
Tea: T wromar @ 9 BT |

@ W2 SR TR orem@r 27° C | ST f§7 AP
@I ST S fawd 2032

Tes: 600 K

P, P,

T, T,

Y|

Hint:
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9| @ G IR o e G I I A SR
SRTCE @R e fRed T | A B 1.013 x 10° Pa A
I OS] FO?

Tes: 10.3m

Hint: h=103x(n-1)=103x(2-1)=10.3m

v | ¥R B o SHNay @3 HIeH 97 ¢ IRER
IR B 8 SHNAIR 1@ I I0R Ifeem fewe =z
®e=: 1092 k

int: &) L
HInt.COC\/TFDCIOC\/;
CIITAT AW I Sl (oo (BT 4 ot Jfa ot
O AYRTE T G TN F© ol I sArre
Te: 2
Hint: ¢ oc [T

S|

o | eIRF SN 8 BTe SACSH 8 @ISR T 1@ I7f
QT ATATS F©2
Te:1:4

3 | MTH NI C [EY T~
T IBIlifes |

Hint:?\oclocPocT
p

31 N IRATF T FYF STeIHA @ 3 ms™ X0 S T NS
T @ Fo?
T 3mst

y0 | @3B fRRefe AN S AT @
W: 5

38 | Ne TG CCq y <= W 2
Teq: 1.67

3¢ | TR AfeHf&E 77 orw@E -
Tex: Tgelfes |

Hint: =gnRT

S | T SrE@E S e @3 SI9F 1w sife=ie—

e % KT
3| I FUT TR TAF A 5 T e TINR©em
s S FeNba AT @b «fE T2
Sag: 2KT
2
oo f
Hint: E = > kT
Related Information:
i) Tagd | WfwoR e (f)
OF AINYF He, Ne, Ar 3
f-oIagF H,, O, N, 5
@-szwgF (oifes) | H,0 6
@-»=e9 (afF) | CO,, BeCl, 7

sor | RfEE e b F o aR IRE SENEE TS

B f 0, e RSt R = ?
Tew: R:$>< 100%

3o | (B G ISR SENIEl 20° C 3k fif¥EE 15° C |
20° C '8 15° C SN & & > Br JAHCT
4% 107 m8 2 x 107 m =W 20, WTHAfFs Sget o2
Te=: 50 %

0 | B @ ¢oACeT ForE-
Tes: AT

W Vocl;PocT;VocT, PV = nRT [5000%]

P
O3 FPRFQTA (AL AT |

2R Crpe= BR_T 7 Crms = ’\/@ [500%]
Y P

Q01 0°C SHN@T O 9T Cpmg = 461 ms™

81 ﬂmﬂ@'ﬁﬂﬁﬁﬁ‘f=%mncz

1 1
[, A =
nd’n \2rd’n

QY | TR 215 Y [ger Afa=i]

[SrewE]

3¢ | TTYE ), =
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H HunTeRSs GRS I SR AR 3038-3¢
AR RIOIT LI Yo | 3 NG Bt @6 e AT Bes I 0.01m’

S (I SN (TS @ FIENRIZE CFET G2 A1 “hewt T2
Bea: 574.25°F

. .. X=32_x-273

Hint: g - 5

(@I ST GTEARTEIT 8 FIEAFRIZB CFET G2 10 AneT
CR?
©&q: — 40°C Am - 40°F

c e X_X=32 a0
Hlnt.5 9 o X 40

FIETRIZG (FER (@I AN GIFB0AT (FER AR fRwer
TR?

®ex: 320°

X _2X—32

Hint: ==
int 5 9

Y

9 |

SN PRI (Fee 5° ARISY T FIEARILE  CFET
AR TQ?

Tex: 9°F

AC _ AF _AK

Hint: 59 5

81

¢ 93 ICHT OEANE 30°C | FIEERLG (FE SN TS
EICH
e 86°F

Hint: F-32

€.
5 9

Y| e Ferel s eSS T s FRE 0T
A IE?
Wa’ﬁfﬂﬁ@

q| ormfeRm erw 7@ @iF 7t [ T TF g I
TEq: O 8 e |

v sePfeRm e s sifafes wif ze-
TeF: AQ = AU + AW

@I BT #AfRta (tF 800 J ©rif&E et FAIT @R
w@g *f& 500 J @ A | Feesy wier AfRwew T o
JIER AT Fo?

®e=: 300 J

Hint: AQ = AU +4W

S|

e I T4 T | TS TS Fiee sAfer-
Tes: 1000 J
Hint: AW = PAV

3 | VTR Tepear =i W7 It @i aifig eoa?
Teq: orar

N | IR feFT (@ (ot AR fER At site e
Teq: IesE & |

Yo | @3 M vere AT ©iF TR o oy wrre
eiferat 5ot | a2 aferit == -
Te: 9 e Afer |

38 | OB & 4200 J S @7 FE @R 3200 J O I
I | 2 g Testive itew siffe v

©&3: 1000 J

Hint: W=Q, - Q,

3¢ | B FICH G S5l T 8 O ATF S I
327°C '@ 127°C | 3fem® ot T (tF 450 J ©rsf &=t
I g o Fite Feefie I qR 1R o AiRE
T T | IS ST “Afer F© e

©e9: 300 J

. T
Hint: Q_TI;
Q Ty

S | G35 FITT 2T 800 K 8 400 K SN (T WHFeIT IS
0 % Twwem FIw F@ T K @R 900 K SN« |
SN T F92

Tea: 1800 K

it Q1 Q2
Hint: T,°T,

391 RS o Q, R IME® B+ Q, T oMY FfwTa Wt
EacH

Tex: (1 f%) x 100

S | GF6 AeRRef 3@ 127°C & 27°C SNy FIEFT AT
G7 FHIF el 7
Teq: 25%

_ 400 -300

Hint: n = 200 x 100% = 25%




35 | G O e IS 80% | AIFT SFiEt 127°C
(A TR OoNEl F9?

Tex: 2000K

Hint: T, = 12

1-n

R0 | 93 A Zfeea B s 27°C @R wwet 50% |
T o AR S wwer 60% X2

Be: 150K

. 1 1 1 1
Hint: AT = S IVE, Y (R S
int (1—n2 1—n,)x (1—0.6 1—0.5)X

(27 +273) = (2.5 2) x 300 = 0.5 x 300 = 150 K

| 93 ARFEIEET Aree St ST (*TF 450 J O @>eT
0 T S YT 600 J SPE I8 I | ARFSRIEEER
FE T 7R TS FA?

Teq: 3

R o3 ERFeEtE FiiFe > 51 ¢ It A T
&fS BT 250 J St AR A0 2AfS i @FSIRBER
BN & It AR ST HFIAIR FACS A2

Tex: 50 )

Hi :K:&
int W

Q0 | SrrfeRvR TS e sAifafes wei-
e dQ = TdS

38 | (I TG GG IEF G HICEE A AF?
Te: T |
Hint: @GP 97 < o7& < 9707 < 2oy

3¢ | FEOT AfFE @ Sre T & A
T G G |
Hint: W%MAQ=OJ|A5=A?Q=OJK‘1

QY | GG (Entropy) @ G-
Tew: K !

29| GGer fFem offwer Som s
Tex: ﬁ"j@lf'ﬁl

| I BT GG SARIST-
W:*ETI
Hint: S&efaiNice QG a0e
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W | 0°C SHN@F 273 kg I9%CE 0° SR “fifAte Feex
T A GGEAR ARTET F© A2 [TWF AR AR
T ZEE 3.36 x 10° JIKg ]

Te&a: 3.36 x 10° JK™*

. ml
Hint: ds = —!
int: ds T

o | 100°C SrN@® 373 kg AfatE 100°C Stes@e e
Affre T4 T GGPR AfRTeT @3- [ IrAeIew
F&Ft = 2.26 x 10° IKg™]

Te: 2.26 x 10° JK?

ml,

Hint: H = T

O | O {9 FAOFT UFF -
Tew: JK

O | HTARFS O @ GFF—
Tex: JKg 'K

00 | FOE A FIT HAfFere TR @ SR AR e oot
Fo?
Teq: SN |

w8 | C, =7
R

vy-1

0¢ | 9T ARERE VITH & @I S SR St

(y) 9T T F©?
Te: 1.67

oY | @ f-oRarey /B2 e mmﬁ%w—
Ted: 1.4

Related information:

o AT " (1) y=%€=1+%
O LT 3 %=1.67
=T 5 %:14
i st (oifeE) 6 %=1.33

©q | 10 & A 4° G, @TF 14° G, SHNEE Sre TS IO
IR O QT2

®e1: 100 Cal

Hint: H = msA©
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Oy | 0°C SHN@R 1 kg I9%C@ 0° C oiiaR “Aiface ifqee
TACS I AR ST LTS ZA?

®e3: 336000 Jkg ™

Hint: H = ml;

5 | 1 kg SEF GF16 I7F 10m TSl T #TE e Feeie
(A Teofy St AR T =12

Teq: 98 )

Hint: Q = mgh

801200 m ¥y @F AN “vm| arFwm MK 8 AMSTR
SHNER AT Fo?

©e3: 0.48°C

Hint: mgh = msA©

851 5 g S b AT A6 @I (AT IS = ©F
SEEE 160 K 3% o | O (PRSI o W8 W =T
BT @ F© fowTe [ SieafFs o 125 Jkg K™

Tex: 200 ms?

Hint: %mv2 = MSAD = v = 1/25A0

83| 100 W “Fef 77 3o fRBIE 2 kg SE@F @6 AT
YSCF 40 s TR O (R A M S F© Y 202
(FAET SeaifFss oot 400 kg 'K ™)

Teq: 5 K

Hint: Pt = msA©

89 | RENGIET WRew RiIFad «Ff Fiew =ty 500°C @7
QP St et =T |

88 | Wrew R Tow fofe v ATifib I =@ @R
SMAT@IR LI 2N AT |

8¢ | 2cal oM =42x2=8.43 |

8% | IS, dV = 0, dW =0, dQ = dU
F@eies!, dQ = 0, dU = — dW, dW = — dU
e, dU = 0, dQ = dW
51T, dQ = dU + dW [FPmiea wftieae]

1-y
89| Fwel AT, PV! =&3%; TV =3%; TP ¥ =&37

8t | THTET [T, Eoc T
Xg — X; Xg — X;
85| 0, =S8 2ice » 100°C; O =8 —Zce ¢ 180° +
¢ Xsteam_ ice F xsteam_ Xice
32°F O [0S WY oo %k ** |

31 15 IERGET oiEt @7 AAfFe = -
Tew: 1.602 x 10°C

1 1 m vAEcy SR¥e 1 C g vitew e & A 3=
Ry Afee
e 9x 10°N

© | 7o AT SIS TS Gy WEF FE R HIS 7oF [T
e T 91 70 W -
Teq: TIfaSle AT |

Hint: F ocgé—gg

1 x 10 ewEw 3% eNefge 2 x 107 C oitet vifefe | 9=t
fePIT T Y8 WP FF ANCE F© NCT ofge
CHET QG pkk*

Tew: 49 NC*

Hint: mg = qE

81

¢| I 9 Sfeerwmm @i {f9re 2 C =igw 5 N 3=

s IW SR @ Rre ofiR ARETR W IS T@?

Tew: 2.5 NC
Hint: F=qE

Y| ST 100 C BE Tre 1m T @I [Rqre @Agyfes &
Io?
Bew: 9 x 101 NC

Hint: E =9 x 109%

10° C @R 9 x 107° C W= w26 =4 {7 77 Tre
10 cm M@ SRES | WY 7Hod REAPSR @R @
Rre ofYe AT ST %=y T2

©&F: 25 cm

Hint: x=

q1

d
1+\/§2
01
b | 40 cm RCSA S_(¥® 6 x 10° C 8 6 x 10° C W= qo

BITER T @I 5% Tpfgre oftr ele ze-
Tea: ONC*

51 NEFT AOSE LI -
@W:“f{]’l

Yo | I (AERT Y [k TF Fo2
TR J0od ferad T |



3| a3 JEY SETHE 50 cm IR SRFe 736 {7
e 2y 200 V T SRR 2l Fo?
e 400 V'™

. \"
Hint: E= ¥
n d

3| T ofeR CHTER AIRET +x OF 99T R I @R €T T
E = ox* T @A ¢ = T, O [ SR [eq Vv = 2
3

W:— X—
3

Hint: E = _av
dr

= dV =—Edr

3
:V:—chzdx:

X
—cz+C
3

s | @36 FfrFEF foF @HT + 4 C, - 3 C, + 6 C bI&t =i
T vl Reqre Fo vt e ey [Rew ¥ 7@

Teq: —7C
Hint: 4-3+6+x=0
=>Xx=-7C

38| 12 C BIEF GFZT (ATF AP A0S I erg FIet F4t
@ 3 Req #A1dT 500 (T 232

1 6 x 10 erg

Hint: W = Vg =500 x 12 = 6000 J = 6 x 10° x 10’ erg

¢ | @ % Freiwhis e & Row 3w e
Taq: *T G |

S| G (T APTE 9 x 10° m | CIFIHBT GFFP ZCeA-

Sex: 1F
. ; _ _ r
H|nt.C—4ne0r—mx9x109=1F

a1 5 pF @3 5 B e FRRE s g 3 et @
(IAPRTIR NG (IFTP L0R-
Tes: 1 uF

Hint: Ceq = % =2

5 1pF

S | N FICPA UG CRCSA NG RN AP
Y Efm TR (RICPT T F(I?

Te: viRed |

Hint: C, = n°C, = 2> x C; = 4C,

35 | o7 qiatea e WG 1, 2, 3, pF | TNSF [T

T T (AT T TA?
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wrEwae NH,0H [Cu(NH,),]sO, et qYTT
Cr- AgNO; Agcl A qYSTFA
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(a) T© Hifaw (b),Sit5 Hwe (&) ITF e (d) =igew Fifee
TGS (b)

8Y | QTGS ~ANT IEwG 8%, €, UB, a7 *&wq T0e TOR eV JABER T (@ Fifver @77 @t Ififer =ear
[ ?

(a) I (b) *FTHA (¢) I (d) =N
STEs (b)
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(@'l (b) 231 ORH! (d) 281
FAEEs (a)

85 1 4d TRARBMADA ST FRIBI YA I GTOH FA6F 2

(@n=41=0m=0,s=+1/2 Mn=41=1m=1s=+1/2
©On=41=2m=+2,s=+1/2 (dn=41=3m=+42,s=+1/2
S (¢)

€oin, = 2 - ny = 1 T, Ififeice 7R @R =W F© 2

(@2 (b) 3 (01 (d) 10

LA () A @ G =~ (n, —n)(n —ny +1) =22 - DR -1+1) =1

@51 MX3 TR @F &S 1.1 X 1072 molL™! &Yt T K, F© ?

(a)1x 10710 (b) 1.74 x 1078 (c) 2.1 x 10° (d)6x 1077
T8 (b) M, X5 @ @Ryl S A

Ksp = (28)% x (35)* = 108S° . 108S> = 108 x (1.1 x 1072)° = 1.74 x 1078 mol°L™®

@21 CaF, €T @YS! 2.0 x 10™* M T K, F© ?

(a) 1.6 x 10711 (b) 3.2 x 10712 (c)3.2x 10711 (d) 162 7
TS (€) Kgp =453 =4x(20x107%)3 =3.2x 107"

@9 | G AT A STHMD 1000 nm W GF S TG F© 2 [ AR S = 3.0 108 ms1]
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FAAY3 (¢) %z — L m1=10m!

1000x10~°
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ffen e R[fex

gfesrs 4ig: Ag, Au, Pt

<99 4I\9: Na, K, Ca, Pb

(SEf&Y 41g: U, Ra, Po, Th, Pu, Fr
Taft €19 Zn, Cd, Hg, Cn

afend Gt w9, a¥ “fEa Gie
fIRWGICEH: d¢ &1 (N, P, As, Sb, Bi)

0
0.0

¥ FIKLNg: Li, Na, K, Rb, Cs, Fr

% SRFIGANg: Be, Mg, Ca, Sr, Ba, Ra
% J@IANg: Cu, Ag, Au

% §¥FUNG: Fe, Co, Ni, Ru, Pd, Pt, Rh
& BIETCHICE: O, S, Se, Te, Po, Lv

% TS F, Cl, Br, I, At, Ts

0 0 0 0
0.0 0.0 0.0 0.0

0
0.0

% ©74Ng: Ge, Si, As, Sb, Te, B < A9 o 8d, ¢ o
< fofew s0: He, Ne, Ar, Kr, Xe, Rn, Og & B e H
AT Sre og 8 If
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7 TP T BEGIS Ao I MG (el
ey e wwige
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— SOyl 9HZE: ALO;, Pb0,, Zno, Sn0,, MO, = #IK 92C: H,0,, Na,0;, Ba0, Ca0,, Cl0,, Sno,
= A SHZC: MnO,, PbO, = I WHIZT: KO, RbO,,
= &¥¥ JHZE: N,0 NO, CO = < GHZC: Pb,0, C,0
ET FEFY A FEAPT qEQ

S. §F FEIW @fTe: HCl, HBr, HI, HNO,
3, faERR «@fTe: H,50,  H,CO;
o, fg == «@ffe: HyPO,
8. ¥ «fTER *F4: NaOH, KOH, NH,OH
¢. fa-afST8R1 *F1=: Na,C05, Ca(OH), Mg(OH), Zn(OH),
>, T THE (@ FAF T G AT AL (FTAFB AT @9 T SR A= 572t o= 3 |
@ K(19) = 1522522p®3s23pS4s! @2y, I2@H *fewa 4 , O3 *BIFRIN 4 799 R G |
3. 37 e e TEga @ 3 A SRROIE et I QA (12 Jed 2
a9t faefy
F) s I G CF@ T4A125E I EBEa SETFGT AT B9 2L |
) p 3 G CFC@: WEAMReT *GVER SR TR AL So (@ FF & ey a1 =71
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— aEfFe *fE: *RNgE @ BEF GFH IERINE TR FE GF A 2Af7ee Face e > |
= EERET APIS: AN GI(6 IEREH IS T FAS AW ~AfRTe Face @ *feq s{fqae 706 |

= ©fe YoTeFel: I CRINPS ARG E G #7q e e @ e == e |

TR T siffrge o sfffere eqeret &9 3 e eeret
> AR L 1 AP A (A T e 7= @57 (A e e I
N} qreq 4 A (A= T UeE g™ @7 (AT e e Jfm
© ERICT T W (A Tl e @7 (AP feea e g
8 TG el W (AT T eE I 8F (A T e g™
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b 3013 apife N (@A T e I 8 (At fve e g
S ot YareEe! W (AT T eE I 89T (A 67 M g™
0 THIZT ECR FER 4 A (ATF T e I @7 (A T e 3
5 HIRE e G T (P Tl e i @97 (AT e e g™

— AN @I TN SF>N >0 > C
— ©feR HNYFOF @ -F> Cl > Br > 1

= SRAPa9 *fSq @5 > Li > Na> K>Rb > Cs > Fr
= OO ST AFH q4 Jw @ > F, < Cl, <Br, <I

= 3IEFGT AAGT AfGTOT @ > Cl > F > Br > |

at T oFfe st T ol
NacCl SR [Cu(NH3),]** NG, A=
CH, G [CU(NH3)4]3+ ‘;{W@, Al
NH, TS KBFy FNCIG, A=, i
HCN SRS Na,50; SIS, AN, A
H3PO, NG, Al NH,CI AN, AR, ST
NHZ TG, A [Cu (NH,),] SO, ARG, AR, Qi
H,S0, SACAE, JHC! K, [Fe (CN)] TG, Afeea, arfe
[Ag(NH;),]’ SIS, Afeyae [Co (NH,)] Cl, NG, A=, @t
[Fe(CN)g]*~ TS, A Cus0, .5H,0 SIS, A, A, DG
(H20)y FIGITT, ANEAG! NH,:BF, SRS, A=
LiAlH, IS, SR, A
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= TB(GIEH I H 99 & |

> | S@geof{F H I%: HF, H,0, SHEI2e (CH,0H), (4 (CHsOH), =mifif6s «fste (CH,COOH) |

3 TRgEefRE H I Mifertigs wpefeaze, Wifemisfles afste 1 HF, H,0, NH,;, CH,COOH, C(H,OH W9 t<§ H I%e
a1 758 H,S, HCl, CH,, PH;, CH,;-0-CH; ®9% ¢ H 3% S9~(%® |

SRR AT
QIR C AT LA %S TH (1 wFfe
3739 H,C-CH, sp’ 25% 109.5°/109°28' PR
3 H,C=CH, sp’ 33.3% 120° ey fagerpie
29137 AHC=CH sp 50% 180° e AR
BF, sp’ 33.3% 120° fage
NH; sp’ 25% 107° e fraifie
PCl, sp’ 25% 100° foraifre
H,0 sp’ 25% 104.5° V-Sphes
BCl; sp’ 33.3% 120° fage e
NH sp’ 25% 109°28' TEEERRI
PH, sp’ 25% 94°
H,S 50’ 25% 92.2°
[Cu(NH3),]** sp’d 25%
[Cr(NH;3),]%* sp’d’ 16.67%
TNRE R FaT T Feeqe a1g feq

@ H =5 [V+X-Cr Al
QATH, V = (STl BT SEFaT A2, X = QIS 2T AL, C = FORCT 897 BIesd 7eyt
A = ST 8T BIEE AL, H = FAFATT |

ot T AT AR I @1 o
BeCl, H= %x [2+2+0+0]= 2 SP 180° e LAl
NO; H=-x [5+0+14<73 Sp? 120° TR fagasra
CH, H= %x [4+4+0%0]= 4 sp’ 109.5° PEAR
PCls H= %x [5+5+0+0]= 5 sP’d 90° <2 120° o fa-fomfie
SF, H=— X [6+6+0+0] = 6 sp’d? 90° EECHL

IF, H= %x [7+7+0+0]= 7 sp°d’ sigegdny fa-Prfie

v (AEERE: Lit > Na* > K" > Pb* > Cs*

FOET 8 WY G WP € W AR 2Afqqeq
v efe wfqEifae!: Licl < Nacl < KCl < RbCl < Cscl

v SN g5 Licl > NacCl > KCl > RbCl > CsCl

v & |E: LiCl < NaCl < KCl < RbCl < CsCl
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Y (AR F < Cl < Br <Na v/ ®fer #fRIfRel: NaF > NaCl > NaBr > Nal
v & 4 NaF < NaCl< NaBr < Nal v/ WRFS: NaF > NaCl > NaBr > Nal

v’ 9l I&®: NaF > NaCl > NaBr > Nal
= (AR : Na' < Mg” < A" < si**" < P” = 9e1I%: NaCl > MgCl, > Alcl, > SiCl, > PCl;
= A& € : NaCl < Mgcl, < Alcl; < Sicl, < PCl; = @Ryel: Nacl > Mgcl, > AlCl; > Sicl, > PCl;
= ofee #Afgaifgel: Nacl > Mgcl, > AlCl; > SiCl, > PCl;

v IR »F < 0” < N”
v INEE «f — NaF < Na,0 < NagN
v %= — NaF > Na,0 > NazN
v ofee #AfFRifeel — NaF > Na,0 > NazN
v @GOl NaF > Na,0 > Nag
QR A QR ACFS QAR 7N AR TS
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et N, g fofGae CuS0,.5H,0
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RUETIEY Ag,S T Tt Na,CO; + Ca$S
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R A7 0 e [eifae 27«32 S e e 16 F@E |
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IR AfSFH e s-3F @ p-Fa GIePTReE amH Al 2feal Gl <@ 2F; FIA i @ISye! B TGP et
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91 68 @I @R TN TA d- TR LRGSR 2
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b | fbeT ST ASTIR VT A UG ATAITS (FIT I7+ (A [T 2
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» 1 fT5a o arals Jfe et sivw < 2
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I TR I LA (@A TGS AR TG Rt e oiof d afivre it @@ @t 3fm @@t 2107 F6
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Ted: 91 AR AT GPE A AN (AT C I G Sfae [od I /1 {3 =’fierw cheet s ovea of
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a3 2pl @3 G AT (BRSO, N> 0 27 (T N 97 9Goif p oaf<bret aifxmod (Frome qce1 2raie ST
0 97 bW QM *fe A 271 T9g erFe ARIFEd Ko B-< Be <0 <N

30 | ©fER YetgFeid FdT T (I ?

) 1 < Br <Cl <F YNPI1<Cl<Br<F 4 I1>Br>Cl>F ¥) I<F<CI<Br T&x: F
38 | (FIFOT AEE I ?
F) AgF ) AgCl o) AgBr 9) Agl Teq: ¥

Il SHARCTR A TS I8 B CHARTRT ©© @ 1 (ARTRRE T @ 203 ARG 385 T @+ o2l 7% oo |
@M, I > Br > Cl > F Q€T Agl AT 6 IE I |

e TN Toyd wF:TT 2

) Al,O, 4) Si0, %) CaO ) CO, Ted: B
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Mo 1 @I A FHBI Ao o 2 2

F) MgO ) CO, ) Sio, T)Nacl Teg: o
3q | [T At weeiER?
) ccl, <) CHCl, ) CH,0H €) HF Teq: T

[ € 8 (] -9F SfER YelrgFoR AL, 3-2.5 = 0.5 O3 CCl, ACARF G | NG IHCA AT Gio AFTNGF T4 0o
Yoo A1 T @M 20 O ARE (#1878 T© @ 2T | IR AT TS TG ANGT ST YelFe
TR T fofe e TG WPTRT % dPl© [T Fe1 I |

S | 67 @ wifses TS 2

) MgCl, ) Cacl, o) AlCl, ¥) FeCl, Ted: ¥
55| HF W9H F -4 JSTHC TR TR Fof6 ?

) 8 ) o I 9) 5 Teg: 4
20 | #liff T TR AT TN @G 2

%) NaCl > MgCl, > siCl, > AlCl, ) AlCl; > MgCl, > Nacl > sicl,

) Sicl, > AlCl; > MgCl, > NacCl ¥) NaCl >MgCl, >AICl; > SiCl, Ted: ¥
1 e @ AeRge 2

J) CO, ) Na,0, 1) MnO, 9) Zno Ted: ¢
W @G ~AfAre wmady 2

F) CaCl, <) CaBr, %) Cal, 9) CaF, Ted: ¥
Qo | T e 9 wow FEw cie e 2

) S <) FRGICE %) TG q) FEA T ol
38| (PG B3 qIBWT G ?

) Co q) Ce ) Pt 9) Os Ted: ¥
¢ | e @A errhEbs @i 2

F) Ti )V ) Fe 9) Zn Ted: ¥
Q| i AR (T SIS 4R € TG TR AP ?

(a) IA, IIA, 11IA, IVA (b) 1A, I111A, IVA, VA

(c) I1IA, IVA, VA, VIA (d) I1A, IVA, VA, VIA

AL () [A, [1A AT A GIe18 41G |
Q1| @ SpifEaiRe e cis 77 2

(a) Cf (b) No (c)Lr (d) Er FAAgEs (d)
Q| TEEIZE GIPTNE _ F@ R G|

(@s (b) p (©d (df SIS (c)
351C,0,N 9 F-49 SfEe HgFo AéT & @HG ?

@AF>0>N>C (b)N>F>0>C (c)O>F>C>N (dF>N>0>C

SIS (a) GF2 AR AT (ATF T SFELATFS! AT |
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wo | [T @I Glieod G W A @ 2

(@ N (b) Cl (©0 (dF
s (b)

03 | ARFE JPER (R @ T A ?

(@) N3~ > Na* > 0%~ > F~ (b) N3~ > 02" >F > Na*
(c)Nat > 0% > N3~ >F~ (d) 02~ >F~ > Na* > N3~

AL (b) FIORCTR SISt AT AP I AF SRR BIS A AFIE IS |

o2 | R @F SR o fesiy arafaead *f& 7w 2

(a) Nat (b) Lit (o K* (d) Rb*
SIS (b) SIRFER @ Lit < Na* < K* < Rb*; IR WA 7GR (RG (Lit) SF Saeae *If& 7w |
0O | TG Q@ i @Y et @6 ?

(a) Al (b) K (c) Mg (d) Ca e (b)
8 | (TG AT «&f 77 ?
(a) ez g (b) ©fTe dergFet (¢) TEFE AT (d) ==

TGS (d) F9E SRS Ao 27|
O¢ | AFNFTS RO I @« @R o TN 2

(@A K (b) Na (o) cl (d) Ne ANLIS (a)
OV | (FF @ FIEa wRe A AfE<?
(a) HCIO (b) HCI0, (c) HCIO; (d) HClO,

S (d) HCIO, HCI0,, HCI05, HCIO, ¥ IR Siae eyl M@ +1, 43,45, +7
99 | (FCAMIIRE [Fe(CN)g 4~ @ibe @i a0 forviie e 2

(a) 4 (b) 6 (©)3 (d)5 TS (b)
Ob | Y ARATS Mn 9F SFZH @RI ?

(a) *RfiT gor ¥R & 1B (b) *R v @32 &= VIIB

() 71 faSiw «3e &+ VIB (d) = 22w @3z & VA

e (b) Mn — 1522522p®3s23p©3d°4s?

05 | (@A T7dg?

(a) e (b) TEA (c) fo= (d) =t
TS (d) 9LRg UfS; Ge Si As Sb Te B (f& 1 ST AR Fie I07)

80 | (FHBTS JICGITHA IF TR 4T @ ?

(a) PH; (b) NH4 (c) AsHy (d) SbH4

TS (b) SHCHT LGS I qTo! (@ 0e1 F2res ~Afrs 73an |
85 | (I G CFGG +5 T O G oifFe = =1t 2

(a) PClg (b) SbCls (c) NClg (d) AsCls

A (C) NGBS & AL 43, +5 8 N, 05 7f0® 2w=e NClg ¥ 27 7111 w19t TIETEa AT B wi!
L ICEISRIGERCOUIEICE
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831 [Co(NH;3)4(H,0),]Cl; &foa @iaifbre srges argfa e 7t F© 2

(@) 3 (b) 4 (©6 (d) 2
ANGHs (c)
89 1 NH,Cl GITt? (S AFIEI IF7 IR ?

(a) O (b) NG (CRESK (d) ReTNR
s (d)
881 [Cu(NH3),(H,0),]?* @if5Te Cu @32 H,0 97 Wt Ry 35 20o=-

(a) SR (b) NG (CRESK (d) «re3
A3 ()

8¢ | fI53 @ Eifbrs arfae, TG ¢ AfE-a3 foq aFEa IFa2 RWE?

(a) PH,CI (b) NH; (c) K3[FeClg] (d) cacCl,
FAALEs (a)

8Y | H,S @9 H — S — H 09 (9 F97?

(a) 180° (b) 104.5° (©) 92.1° (d) 109.5°
FALls (c)

841 Fq 9IS sp3d «ft Aewae {82

(a) PCl, (b) PCl, (c) CCl, (d) XeFg
g3 (b) PCl; — sp3, PCls — sp3d, CCl, — sp3, XeF, — sp3d?
8| PCl; 99 (FQIY ~AYT Aq @0 2
(a) sp (b) sp? () sp® (d) sp*d
ERIICE (c)X=% (T AT BEFGT + GPCG (I el — BIer)
=2(5+3-0+0) = 4= 4 TA, T = sp’

85 | (I «frels Sigew ?

(a) HNO, (b) HEIO, (c) HePQ, (d) H,S0,
A3 () N, Cl, P 99 &9 A=l 45 58 N @5 S Faos |

@0 | TG IHEI AoT *feaw @52

(a) CH, < NH; < H,0 < HF (b)CH, < H,0 < NH;3 < HF
(c) NH; < CH, < H,0 < HF (d) CH, < NH; < HF < H,0
LS (a)
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. PhysicsHunters Agri Last View Suggestion - 2025
[ T SR A [ A3 AP A | j

ESERG
ofe gs AN RiGaera gawia g1 a1 f[iwe 578 Sesiore saal Jfae 2= [ =9 e
i TE@F 9F: molL~1s~1 A, mol dm™3s~1
>, S et SRR A [Kiens 2@ 8o ormee dor SaR FEd | fof et 3@ @, afs 20°c
SNIEr Ifad T @ A< e 2w faedt @1 foqed g o @9 e 2@
(5) St Jfaa A [Kfews @9 9 ARAER oifer@el i@ =1 () HYWTEH T Ay 2 I o
() fser MF [t @9 [Kieas o aremy Afew *fE e @ Kie aweiae F@ A0 |
R, BI%t: AWRAR AwIed 5%t I S0 MET WO FeF0® 7F, T TN i A 1 A ARG I (A eI Were I
o G2 T [iGae 2ge Jfa =
o, RfFREa T@l: Sveo A @Al L. Wilhetmy F9F aifoe 2@z @, i 2= At sfo@ agims [faws Teea
TR ed o9 F0a 1 Safe sy, [Kiewnw 2 [iemes waae Ao wdie, [Rigaes g e
i =9 gfm i g2 ga e i =29 g o

(1) TR FR, (i) TS 7T e P! (jii) [iem spmedfe (iv) doREs ghmRel

* TG AIKS! |

(1) N, 4+ 3H, = 2NH,4 * SRTTg AZ:

(ii) 2S0, + 0, = 2S04 v' CaCO5 = Ca0 +€O,

N v C+ H,0=CO+H,

(iii) C,H5OH 4+ CH3COOH = CH3CO00C,Hs 4+ H,0 v 3Fe+ 4H,0 = Fe,0, + 4H,
Fl-HreleREs Ao

@ T K AP AFFIE AW & Y GF6 NS @9 S 1@, bist 92t gesial 2fiqed 4 23 |

SR AT TIZA Tl A AW G9E 09203, Ao FRNF FTeEa, Faea e*fie 271 sz ¢ ANEE
e o) 5 s e () ORar (3) Tar-() Bio-(8) Ffer siwef Setas |

Y, SN &OI]: (9 SN AfTaea2 AMEIR T e F90e A |

R S R Teoim AREIF
SITAIRATAT AH = — T (oI T AT I 7@ I A
I cofe I Al 3P+t 7P A

SRR AH = + I AT e A BRI I A
B I 3= == T A T i

B PHYSICS Bl PHYSICS
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R, BIt7IR 2ol wyia g Rieraa cta oo 2ok =itz |

(5) I fferas Sesrl Tl TR (e 72l @f¥ =W, O O 7@ 98 SO0 b7 AT | (T 71 CFea bI%f It T
TR T AR

() @ Ricar R SCer TeAm AR I 7R I 7, ETAIT bi7 Arelce [Riwn s e @ese 2@

(0) RTS8 TAMI (I 2 A 20 GICHCE B (@I &SR (72 1

O, TNEY &el:

(5) Rfwes gl reiee Sesiions i I =11 Fr=e, [iawae ofe Jfa o 93 Mo o<\ o Mes I3

() TLATHE TTII@l ATIE ACHI T AN WCF A @32 TAW T AT |

I B FepR TR &
O3 I @Fifss [feas *mrda sow@ e == a4 fafe
O3 I @Fifss RiGaers smmda goaa e PoIRYA fafewa
SIA@l g7 FRCE s e e
Sl i FEce e [faas e
Biof eI T AT R 7 T
B9 I @M e q9gF e
PH e aiffdfess semt

S1pt = - log [H* ] — «fites ¢Ft@1 31 PO = -log [0H™] — =ltad ¢F6q 1 01 PH + POH = 14
8 | AT &F A1 F1 A TP 79 TOSCEA FRA ARed ©r PH /poH w0 7 |

LRSER 4 BT AFrS
PH=0 -2 O WE
PH =24 Y TR
PH= 4 - 6.99 I EH
pH= 7 2
PH = 7,01 - 10 I WER
PH= 10 - 12 TG AT
PH= 12 - 14 S R
I

@ TR AN SAfe 7_E @it A FE 779 @of FAF 2[0S T PH @7 IF [Rew sifiaed =3 91, o 37 A oI
TR @9 0 | AP 119 A 92 AP

>. IR AP (& T + S9IF ®ES) : i. CH;COOH + CH3CO; i) H,PO3 + HPOZ™

3, TFIGR IFE (THe1 TS + Sl afTe): (i) NH,0H + NH} (ii) Na,CO3 + HCO3
AFIT G GHFE LA PH & afed pKa
H-COOH '8 H-COONa 3.7-5.2 HCOOH = 3.75
CH;COOH '8 CH3COONa 3.7-5.6 CH3CO,H = 4.75
NaH,P0O, '€ Na,HPO, 5.8-8.0 H,P0;= 7.2
NH,Cl € NH; (3 NH,OH) 8.5-10.0 NHf=9.25
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ST IAF; AT A0 IRFA AF ENCAN AT D, R AT TR FEEH (NaHCO,/H,CO; , pka = 6.1) |

R e foq @R qRE w0e R |

>, AZFILCEG AFE: NaHCO, + H,CO5 . TS AIA: Na,HPO, + NaH,P0, . (6T aria:; grem cenfb et
* 25°C SIPI@R fCes pka, K, @9 W4 |

«gfre K, 9 pke g
AR @fTS (HCOOH) 16 x107* 3.80
BTARE GBTC (CH,COOH) 1.8 x107° 4.745
(ENTAIRS @fT® (CH,-CH,-COOH) 13x107° 4.89
@TERE afSTe (C,Hs, -COOH) 6.3x107° 4.20
YRR 7w (HI) 3.2x10° 9.5
FFEGERS @b (HCl) 1x107 7.0
AAFERT ABTe(H,S0,) 1x10° 3.0
wi3Ge 4B (HNO,) 2.4 x 10 -1.38
AFRFEART @FTE (H,505) 1.4 %1072 1.89
FEGH @fTe (HNO,) 45x107* 3.35
RGFE @i (HF) 63x107* 3.28
FRGEIRE BT (HCN) 6.2 X 1071 9.21

e fog Riew K, K, W vieare s

FAFFe! fafe % AP % I AP
K, K, K, K,
A—B+C |PCls— a? a? Ppcy,- P, [PCL5]. [CLy]
PCl; + Cl, 1——aZ'P (1-a)v Ppci, [PCls5]
A 2B N0, 4a? p 4a? Pfo, [NO,]?
< 2NO, 1—a? 1-a)v Pn,o, [N,0,]
24> B+C | 2HI o? K.=K, Py,. Py, [H,][I2]
— Hy + 1, 40 < o?)? By [HI]?
A+B e 2C |H,+1, 400 K="k, Pa; [HI]?
< 2HI (@a-a)(b—a) Py, P, [H,]. [1]

K. '8 K, &3 g 7™
K, = K. (RD)*" An = (TR (NG (1= A2 — TRfemcaa (NG ¢iet 722t
K. ¢ K, a3 fdfa

-1 An -3 An
K, 99 93F = (moll ) 3 (moldm )
QI c= concentration (I9N@) [1L = 1 dm’] T GFF molL ™! ©IF, Kc 97 GFF = molL™!, Kp 99 933 (atm)™"
P = pressure (51%) I GFF atm. ©IZ, K, 99 433 atm.
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K., K, T g ewmgid oy
— s 8 TeAra (e e TN 2@ K, = K
= fieae ¢ Testma @ et Afafe® 2 K, + K,

= An > 00, K, > K, An < 0>, K, <K, An=0%2,, K. =K,
s a1 Besitma gmaE Afes dx
— ffeam 2= e 27 = e e ﬁ’l”—mzﬁm_—a_a,mm,c_ﬁfw.Wa
G2 x = SRATWME TIN@l; @FF: molL 1s~! LA moldm~3s~?!
= RN TAREa:

> k= Ae Ea/RT @iid, k= R aieaifes @ 499, E, = Rieas A «fe; A = IR w3/ &< 932
R = 8.314 Jmol 1K1
tog (i) = [~ el [ 57
- =[S
RI1|lT,T,

B SOET AN log K, ———+ Constant

2 303RT

B O e AR (p+—) (V—nb) = nRT
GFF oo R @ el (k 99 939)
> AN &N @F G K @9 @FF: s, min~, hr1,day 1,y !
7o @ @3 & k @9 9FF: Lmol s, Lmol 1min~1, Lmol~1hr~1
> YW &N @3 & @9 9 moll1s™!, molL *min~?, molL"*hr 7!
B K, S K, 99 G3F: K, 99 4 (B @39)" @ @ K, 99 4FF (AR 93<)An

A\

] Kabe=Kw=10"14;K3=Kb=§i_2i0‘= %;%=%= %

B pH = —log[H*];pOH = —log[OH~]; pH + pOH = 14; H* = 107PH

m Ink T - rfbras o = - 2

| long%Mﬁ@W:—ZBE&R

B CFC-—114 &3 &, 114 + 90 = 204 o, C=2,H=0,F = 4 = (] = 2 . FS C,F,Cl,
eyl AT e T AT amm

> (@[ “mfete NH; ©=AWa: N, + 3H, = 2NH; + 92Kk] [450° — 550°C S©°¥@T; &Rks: Fe; RS
Mo/Al,03; 5I%: 200 atm]
> = smfers HyS0, TAMTS + 052 'S0,; 2805 405 == 2503 -+ 192.5 k| [SI7@l: 450° — 500°C; AR
V,05 4 Pt; 5171 2 atm]
> AT qZCeA R AF Awfere HNO; S=AWA: N, + 0, = 2NO + 180 K] [S+=@l: 3000°]
> e S7We: CO + 2H, = CH30H + 95.05 kJ [Si°N@l: 300° — 400°C; &®&F: ZnO + Cr,05 A Pt; 51
200 — 300 atm]
< e aﬁwwawwﬁmﬂ ﬂw«m— aﬁvﬂw@@ana (IF TR e To @f* @ @fire Sigel oo
SIDESE HC104 > sto4 > HNo3 > sto3 > HNO2 > HCIO
< RFATET (F@ AT IF TR T TN 20, AT (FRIY 2R[NGT AP (=6 i 5Iet 9o0gd @N @ @
«oftes Siget @ =
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oy FIRANT APRY! IR FPLFIACFD LT
T RS fRfer Aolgpn i L2kl goE
e A N, + 3H, = 2NH; 450° — 500°C 200 atm Fe/Mo
H,S0, = e soszoi ;2%2:335304 400° — 500°C 117'725‘&‘;’3 V,05 /Pt
T2 afTe | I wRe N, 4+ 0, = 2NO 3000° - —
IRRiec Fifelfers CO + H, = CH;0H 300° — 400°C | 20 — 300 atm -an(?rzog
EUER ot | COT2NHs = NEIZJZ_OCO ~NHz | 9000~ 210°C w1
PETFE SEoeT IIAT
IR Rfer LEEIE)
fotama Besive CH; — CH,O0H + 0, —» 2CH;COOH + H,0 et wifafs
S G BRAT CO + H,0 — C,Hyp4p + H,0 Co— Fe — Ni
el T (SR FRGITET* Ni
I T AP I ATIOEEFA A O
LSSl TR
SCIFEAC BRI Pt (NH3), V,05 (MnO,), Cu, Fe, Al, 05
Y AT H3PO,, (H,0,), ROH, (CHCl; + 0,), CO, Urea
TS Al BT G Mn?*
48 e Na, S0,
oS - As,03,BaS0,
Oig Gffe @ Sig FHFT AN o
«fre P e oo
HCl NaOH —57.34
H,SO0, NaOH —57.44
HNO, NaOH —57.35
HCl KOH —57.43
HF NaOH —68.60

MOST HIGH VOLTAGE MCQ FOR AGRI ADMISSION 2025
31 &f® 10 °C SriE Jfawe @i Rigas 2 Red e = 3w Rignbe o=@ 110° @ 150 °C o TH® = ©@
Rfera 29 v @4 I =2
(a) 4 (b) 8 (©) 16 (d) 32
SIS () SIFE g = 150 — 110 = 40 °C; @f® 10 °C Jface R[iFae 79 2 @4 Jfa 2051 40 °C @9 &=y [fewe 2=
I 7T 2% = 16 |
3 1aA - bB Rfemfon cv @HE Rivme 9 Fox s 2

(@) — 2 ® —1§ :é—‘t‘] (c) — 451 (@) - 14

SIS (b) ff@am 7 = — -2 = 4 2%
fh PHysIcS B PHYSICS
F.h EHUNTERSH ﬂ.l" EHUNTERSH



9 | faRICer spy 73

(a) N,0 (b) CH, (c) CFC (d)N,
e (d)

81 (P ofdr [y =1 2

(a) CH;COOH (b) NH,Cl (c) CCl, (d) caCl,

TGS () CCl, 9 AT TIZCAT (NCACHH F *5 |

¢ fadh o R 7 39 97 @ 2

(@) s"'mol™? (b) molL"1s~1 (c) Lmol~1s™1 (d) Ls~?t
de —1.-1

TS (c) G = KC2 -+ k= & = T

b1 @3 dw @ Ko @iy 10 min T, @ i 7 &7 392

(a) 0.693 x 1072 min~?! (b) 69.3 x 1072 min~?!

(c) 6.93 x 1072 min~! (d) 0.0693 x 1072 min~*

LTS () ts = =2 v k = “‘f’ = 0.0693 min~! = 6.93 x 10~2 min~!
2

= Lmol 1571

Q1N,(g) + 3H,(g) = 2NH;(g), AH = —92.4 K] /mol Rf&Ta NH, 97 Seoiive IR @162

(a) BIToR I (b) Si7@aE I (c) Ny Q% F4c (d) H, @ I
SIS (b)
b | SRt RferTE H, — Hy @3 -
(@) ¥ere (b) &S (€) X (o) (d) wfoet Set
SIS (a)
13Fe(s) + 4H,0(I) = 4H,(g) + Fe;0,(s); AH = 35 kJ/mol RS Apagw @iz | 5+t e & wHE?
(a) ANEFTF I (b) L F AL
(c) AR @I e =6 =1 (d) VR @@ AR

SIS (¢) An = 4 — 4 = 0 [Fe, Fe;0, (59 26T o= @7 1]
01 PCl5(g) = PCl3(g) + Cl,(g); Rz cva @aft Afos?

@K, = —PPIZ::EC[Z (b) K, = P P;f;sqz (© K, = Ppci)l::l:az dK, = —PPZ::;SCIZ
s (b)

1 (@I S Afde 7 2

(a) {2 Se@m k @3 w9 e (b) =iffe e afEnft st

() SHHal Jface #Aifw Kare wa srfzafes A (d) SiEl Jfacs wifea K @5 S I ==

R4S (c) STl JFCs ~AfE Rareral 3f o
| GEBF AN T AL OIZ e ==-

(a) THWE (b) I (c) =@ =l (d) feafba @mbe T3
TS (c)

59 1 45°C SN N,0,, REE K, @F I 3.0 atm | WEEE NO,, &7 T 514 0.41 atm & N,0, &F T
Bi7t Fe?

(a) 0.65 (b) 0.56 (c) 0.065 (d) @AHE T

z 2
A (b) N0, = 2NO, &9 CFC@ K, = (Pyo,)” . Py,0, = (041)

PN,04

= 0.05603 atm
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38 | WFIET (11) STHIRZC Sitel e R wpiied s @ af@wibe AoE e o I JN 2

2HgO(s) = 2Hg() + 0,(g)

() K = L0 (b) K = [EL:] () K = [Hg][0,] (K = [0,]
TS (d) AHEFT LB (STe TF AIENT IF 200 27 |
3¢ | FRIFF pH 4F A F© 2
(@) 0.5—7.5 (b) 7.5 — 8.0 (c)7.0-85 (d)7.0-75
3 (b)
Y| TE PIIE ARTT mmolL~! G 10.0 A, mg dL~! GIF F© T ?
(a) 18.0 (b) 180 (c) 90.0 (d) 180
SEg (d) 10 m molL.™ = 0.01 molL™! = 1.8 gL = 1800 mgL™! = 180 mgdL™?!
391 Oig GFTE ¢ T TR HIREITH T TS Foii @ 2
(a) f=iEecae (b) I (c) AT (d) @=HE T
SIS (a)
Sbr | QYLHR pH Frit =To=-
(a)48—7.5 (b) 6.4 — 6.7 (c) 6.6 — 6.9 (d71-78
SIS (c)
5510.1M CH3COOH @< pH 9?7 [K = 1.8 X 107°]
(@) 2.672 (b) 2.772 (c) 2.872 (d) 2.972
T3 () [HY] = aC = /K,C = V1.8 X 107% X 0.1 = 1.3416 X 1073
~pH=—log[H'] = —1.3416 x 1073 = 2.872
20 | I (I TG pH 2.3 A ©F F079 [H*] 8 pOH @7 T I G-
(a) 10733 molL™! © 13.0 (b) 1023 molL™* € 11.7
(c) 10723 molL™! 8 11.7 (d) 1033 molL™! ® 13.0

e () pH = 2.3 = —log[H*] = 2.3 = [H*] = 10723 @ pOH = 14 — pH = 11.7
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T AN A [ SRS FAYIA TARA |

Py AT JITe Ry Ivfae i ¢ ama ofit [ Rercefbes]

eI i, TS ifa JREA Ty @ oFq
ARG (CH;CO,Na) ORI 95, (9] ¢ oy TER /eI | TR I, BN,
TSR A6 (C,H,CO,Na) c&ifel, wAfea, #iTes, RF6, 37 G |
CATATCITIGIZ(CH,CH,CO,), Ca Bl ERISRIC] 95, (NN, WFGA @A, TER T, &, A=
KHSO;, SO, EIIERIECRISRIC] T, TT G GHC! T |
ARGE @fte (CH,0,) Bl ERISRIC] (PIoTETeFS Wy, WL, WL |
NaNOs;, NaNoO, PG IFe@m aF | AU R 8 N FFHd 20 |

Ay e IR [few A Amd ¢ g ot [ nif s |

RS md, ATES @@ A T @ (FG
ASoREee 2R 5RT | wiftafEme sy (AMREE | F9B 8 (NI @ 6 | wied 551, Fife, (e, e
(BHT), CysH,,0 TR TS MR SIS, SN2 |
fAeoiReToe ARG @l prE | wiftaiEee FAEPHAINE &, A, TFA, IEAC N Tepiivce
(BHA), C,1;Hy6 0, LISEER
TBHQ ( C,oH.0;) RIIEESIFE (R AR @, A, FE, I W Fepiae
RISEISE

B AW fRareiet € TR

< WHO W fasisier e ¢f6 fre faoasen caees & T PR G CaC, IR TR, T AFHEA &
GISTEN 2(E- FHE AWy TAW, TH FerTae ore AN (FIAETLIZC T79) FA2F Bl =W |
T, AWy FeFwe, Ay {oield | < 2ffs a 5oy 10T &y 21.0 KJ AW *fe Atee |
& AW AR SRS Yo A SBeTd S i |k o 245, 6 @A @FTE @1 @ FREIGAFA ofes &7
< ABIRRN Y& AF FISEE <=6 (KCl), #GiF=s
2G5 (KNO,) Topifir |
B feerareften ¢ Am At @
< TAAECZIZT GRIGTE 0I5 271 S YT T CRATE Spfo-aEes o '
< ATE 9T 40% TN GINE FANE 01 A AW feoRtee REF e (BHA), RebiEEnse
QA 2157 (@Y, FIFEHE € TS AT Tors 3G 5537 (BHT), SRt 8513 2IZgpac
FREA | (TBHQ), (&AT213%1 *[ITeTh |
& BIERGY 936 Agfos epfo-wifeees, A B, % NaCl 93 T @I B AW TFTHA FA AR
NS4, QIesle, waye, e Frer Tenfvcs shexr A | fFofae T
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AR(GS Wiie, MG G T 2iplod My LT |

< OGN @TS@6  (C;H,COONa), @@ eiRe «ffe
(C¢HsCOOH), BRI 95, CNeaN @6 Tojifn
R Jlaw fe

< IR AL CNCAN LFIRG I92F <41 7, A @6
afigtafae fe

< SIFB-NZCHRACETR TAIAe TR- TP Qe @ ©iF
79, (@ee AfTe € O 99, NaNO,, NaNO;,
NaHSO0, ( SO, 4w I81 ff+[ted &iFd @4 I ) |

% EDTA fewafbe atert f2riw Iaze 211

% AR G @ WD SHCSREER WO AWy 267 40 |

< BHA, BHT TBHQ (R WEEOFOIL Te Ffaw
TS (T 0o @ BRSO AW ATH FH) |

1CV[LW |

1C9[LW |

K/

0
0.0

0
0.0

0
0.0

0
0.0

O
0‘0

T (FIOTSORACE 2% AW Tl 32% ofa 7ael T2
BTl

Afe A FTSIA (a,) 99 4 a,, > 0.8 (80%) 20 A
5 QAT 21 TSl a,= 0 2F AW ALHS FAl
21

oMt feameceibe 37 «fie a1 g =[d
2GR @ B0 pH @F W 3.14 - 4.74 93 WG
QI |

EPfE 7 [E0, A, A4, A 932 TER g
A Ca-(2IATED Y7 FREA |

s @fTe (Atd FEFH WA (CH,-NH.NO) Cofd
Y A PRGNS A FBI 3B FACS A |
fedite THa mEd fawmcete ferE s
ARG IRTS W 2 Ot 929 Fea w3, [ =ifvs,
L, @R ANAT FeFHe 4T 2 |

B AW (FIoTEeFet

& O (BT 30-40% BT Gae @ 0.25% A3GF
GPTe I_/ZS =W |

% PRI @ fEBINE A 8 C & A (FICC AMOBT
el e &

% 15% FRCTE @Qed Al 9 (50-60%) ofa Brames we=r
oA @7 IHR TG ISR TS AR 11

< AMRET 254 ¢ RAgFR JFim (W),
SR AMIES (pH < 4.6) (R 82°C (AF 100°C AW
Te8 I, I TR WR-ARGE (pH < 4.6) @R
115°C (ATF 121°C *RS T€¥ T4 TR AA |

< G, AB-TEF (F0@ (FIOF V)L T80© 7-15% Nacl
G3q (@ 9 A

Fhfe afeam go _faaacebemt 0.25% M2GE
e ETfea @Ta@B A1 ENfea TEEs @ad
[I© 7|

*fif o 1L ~mfe @idl Gees!, fifen 5% wreln e,
Fqe- e e 7y e Ao T4 27|

RS WE G affe bite Fere w=d 96 e
AR S bR Wy | Weed 5 OB A ¢ D @3
24T B |

Mg 75% N, @i 19%, & 2.5%, FEA=ITEE
0.3%, SONRE @G 1.65%, @HEE 9 0.65%,
LT GPTE 0,9% SAZS |

SACAT, TARTT 8 (FIAGTET

< TS R APTCATCTE TArzae |

< Y (A Bl (ol 00 (FRIGET afl I77e 23,
QR Y4 BOR GFf6 FEAC @R BT |

% AT, Fe¥ ARNEE (FRISERE wWel @1 FEd,

(PIANSTTH TS SRCTA BIE ALY FANANOF (5ret

AR T© T (FRNSTET FNol ©© JTE) |

Fe,(S0,), TIf4F FFA (FRIGTETS |

G FCATHAR 7 WG =0 1A |

s SPTITG (AT APTCATT T |

B PHYSICS
/b

X3

¢

X3

¢

DS

EHUNTERSH

X3

o8

X3

o8

AfTe I e 202 Fa0e |

SHCATH QAT SN AP 10 cm (ACE T 27 |
ofte fReee smida s @ 2@ @32 FAEs S
@ R G o1=1a 20O YL T (910 Fo0C Jeet
(FRISTTA 27 |

w4, A6, (&fel, 9%, fors 99 /2w [Ca(OH),] 97 Tl
A ftel, i =@ eiEtRl [Mg(OH),] 99 &@m
fameel, TR, TR, (4R, F197@, AP ForCaCes Swidd |

A PHYSICS
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X3

S

DS

0/
0.0

0/
0.0

0/
0.0

0/
0.0

R/
0.0

R/
0.0

R/
0.0

R/
0.0

O
0'0

FARC FAF WHE 107 - 10 cm (1.0-1000 nm) ©I2
FARE S BoE e aw i F@ |

FIBRA @FRNSGETS Al,(SO,)s, AlCl;, FeCls, Fe,(SO4)s
AR (FRIGTES NasPO,, NapS0,, MgS0, 395 |

BT e
DI ATSTIEd 24 SoiWie Biieis ( 3Mg0.4Si0,.
H,0) 9, HyMg; (Si02),, I, Mg;Si,0,0(0H),) <!
FARTE T ZI2CGEBT Mo et it wm
ST Pt |
@ egfece Ponfas abTe, 5T 26M Jze 27|
@ e Fqepbe et 2 wee ~AjRifee toe
BISECERE
ifaf*ie fe @a 24 Torwae Foaias afe)
ETROEa o1 ToAMIN (N @ S TAME S 3
G, SEACHIRE 8 ANGTD 3R Foifsh I
Twhed WG «ired @feN w119 20T Al |
foriiee NEroEzEE @l 9Ros ¢ wiEhE o
GG Q9= *J |
@R s T el aNe 228G 1,4
TGP L& Q9 AT A (IR T06F G Al |
ATHIII0 P AN TR &y LR SHAWI 2ce! Wfere
(oF 1 (AR (et |

o
*

*

SAPTCRT SZE S FRSol Ja A -
BAFTRF ¢ ST fow wd a Fea @RPsifee
AFICEE |

S TG P! SIPRIH APTATHIET SHIRA |

% ICFET ISR IS BasSO, Fel jaze 231

sffFeay

2RSSl A PoT ffen IR ¢ SEITRE (el

(O ETCT AT FoICHS Pl A Feq12e] 2T

IR (SRS qE SR |

R SR FAHIRANC @ @oae A |

B AreurR fPifteeere 2o fees A spreiafrm

oAt I]ge =W ¢ @R HluE @f s «fte

FEEHGE =21 7o =3 |

% IRRFCAR tofite BME AR e (iR e
QRS 2N TS =W |

% WRrol AR Jeqite- Like dissolves like

% 0OTTH e CAMI @-BE{Pe A8 |

< SO (*I0oF WIGEEB fC-TIbe epeRe-40
NI f2PfEe i SyiteTed! At Sfere e |

< Dieey ACuiE Hfteesiae 2o fas Pt ¢
SeIRRN it T 27

0
0.0

O
0‘0

O
0‘0

7Y 8 YHE© IEy

5174 94 70(kCal/100g) W3 F=IR ACF | QRIS NfRd
2TF A% 110 keal |

*oFdl 2N a4 SoAME i (84:3-87.8%) 4
WEEE wey MA® 463 fRCAGgE =i, (STR-396
feetrege, oIea v 275 fENgE 8 RONER 9 253

fretge e At |
T TIPS AT A G0 TR, N e B

FIME S WA |

A A4 (2o 2e ST, i oiF 410" I
AT NQEF 9L 0.9% € AFF 94 3.2-4.6% 2B
T |
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< WP Bi7 ey wfers wea A offee w4 23

% MBS YA pH FRICR & NaHCO,, I9T© 2T,
VRS pH TR (6.6-6.9) |

o CLF PRI 8 T ST PR (AT |

S WIEE A4 ANE ca®, K, Na' @ P [ T o0 Y93
Tt |

% VHCP (T0C 5 T I AwOCE burning I0 |

< ARBIAC YIHT TACHOH ATe12N (8 T4 2 |

< EREEER T A [oe 2w s  afiie e
AR G@fe offaTe 23
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I e e Saeet fe

< I TR Iz Al QeTee 205 SRETeenge
WGP G TG SAWIY ZR NI A
739 8 CTEAN S AT |

& o feaiee Afan Some ar fefae Ssime 2oz e
SR 1 GG T @4 Soimie 2058 NaOH

% BACETB gold ¢ Wiol iF A0 bR Querbmes! S
FEMFRIRT Iz & 8 GRIFAF A IJ37e
T (e 8 FEPTAN FRCATCHIED |

% 3T fFITE NaOH I920R 1 I ST &3¢l I9%e

21

*

foreiT 2ef® 8 A et FeE

< o «fe 1 2R «fites (CH,COO0H) 6-10%
T Qe 200z fOaA 1 aTS 90-94% A AF |

% CH,COOH + H,0 fimdfG 2tz foraia, af @t Tex
YWy HFHS | fOEa @ pH 99 W N W
JHIFORAT R IR |

< TSN == foisfere simfote vy s1eamel S 281 @it
ot Tiewe ffafoe

< fOEaE 6-10% AR Qe s |

% WO fOEaR A $3F @l egfers (NH,),S0, €
(NH,); PO, 9= Sl =3 A IR (054) Jaee
TS R IS W

& W forae eEfere e WY f[QeeEed ZTeise
QTR TS 2 |

< SIS G O TS 8 FCBIE R 2T =3 1,

< TG @F LI FINCoH efean TTen i 2re
3 (ofT 23|

& TCHG RO S TLAMCT (G NEo& GTeRy
RAENET

& WH AR OFEe AR J G @ O A
FIACCEACTR AT (6-10%) AR Gffe 1 ©IR 6
fRged fotsia stz I |

& B (AF T 2fe weorsge R =

& ANCALTE JLPTe 8 FLFE O FRNF GFS 0eT 1

& fermam @iy sfc s s H awes Sigw
[ QTS TG 78 FCa AW Feqw o ¢ dfp

& fOToIE @7 N0 ZIFGTST IF K |

o I LG AT 16-20% o B A |

& SR Ao T AfGTE s 8 FLInEd
FIACICBHCAT & G Gz 377 T

«fice ffgee I

*

MOST HIGH VOLTAGE MCQ FOR AGRI ADMISSION TEST - 2025

> faoe afB spieefetcast w7 2

JF) Ca q) P

I TS TS Groiesl Ol I A3

»  WCHIREEE: Na, K, Ca, Mg, S, P, Cl

» R EEEEE: Fe, Zn, Cu, Mn, I, Se, Si, Mo, Co, B
R AR @I TAMIAD e A5 T W 2

<) febifv ¥) #199

) Zn q) S Ted: oA

7)) ferfore ) i Ted: ¥

Gt Ay e SR sifasie sfiafes 2 o Samitaa qnfs =, 36 W 270 @32 AHF A5 T 1 AWRECS afelie

“Aife THifEfe Amere MR Jfaa F2Tw |
© | & AR &y v dafbre gRea i =7 2
<) ol mad <) = @A

o) T q) (e Teq: ¢

GrPT: AT FFFHCIT T AT B0 TR A 27 1 AQTIS Mg, e, FI6! T 39 ABaIe] UGS S0 A6 JIot

74 ((Fefae »mafers) Aewa a1
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8| AR =4-

) f98 o afemed <) O% oFEaR afeead o) 8 ¢ On ormiar dfeuead ¥) quiftesad e €
I AR AR QRIS IR @Al 1 70°-80°C i@l € T8 FAC AWy AR I =7 |

¢\ TP & 2

F) 40% CH,CHO €3 T &aet <) 60% HCHO 9% Sl el

%) 40% HCHO 93 Sy &l 9) 60% CH,CHO 9 @id &9 Ted: of
I TR 20N FANECLIZE LA (HCHO) @9 40% Tl¥ &I | AW JCHA A5+ (F14, WIPOE IR ZASA*ET
RO aore I |

Y1 @A aAiFfes wift wfFes 2

F) TBHQ ) EDTA o) B ICAIDw Q) (A2 20 Teq: o
Q1 @A  ftwfFEes?
F) EIfSAN @It <) A2fGs «afte o) fAEoReEhT 23w e ®) Enfeaw 913@s Tex: o

Hil: YS T RO SHIBSAHCGD 2Cel- [REHIRCEOT 2RGH Ao, BHA: REBIZTGT =IZGRA 52, BHT; SRR
fITB13e 2RCGIFIC, TBHQ; (2NAIZ ITETH |

b | (I S QI AWy eTHY Aafore PR I 2

F) AR ) B o) fota= 9) AW F]e Ted: ¥
Il FACEAR NG Jaee Ay Aol af A i 7@be A Fefe

5 | J6! T APRR &P JI7© ] @D ?

) et <) 3 o) feHw 9) AT Ted: 4
30 | T (AT B! {ofd 0O (I Siferal II® I ?

) SfETes <) FCICH ) =g e Q) (P Teq: ¥
3 | 68 @1 SRR @I et @ 2

) Al q) ca” ) Mg” ) K Ted: &

I (PRIGECEA (FRSTET FIO! WAL 5I& MG Ao @efie @FRIGETD SRR BE My T© AT G
RIS FIOe TS 0T | (AN AT FAIC WA (FASTE fqearen ForE= Al™, Fe' afss Fdsa1
S| TR APTCATAT (A GF [ NG @0 2

) Q) ige %) S q) 2 ¢ wqead e Ted: &
30| 7Y F R AW 2
F) (& q) FAC ) ARTCAT q) e Teq: 4

Il FERAC G TARAY A G4 | AFOHF Y 0 FARC @A G0 T |

381 BT @I (IgF IS (AT o =W 2

JF) Ca ¥) Zn o) Mg q) Al Ted: A
I BiieT SAICCIR (P ALHCA Bed Jel 71 IS 2R 3Mg0.45i0,.H,0 @fb eretricT vt wisfze vzt ¢
FAABIZ (AF LS 21 BT AT T AT 0T BIeTs | Biieie G APTaifer<e i RIZ0gebe e fferess
3l S AT BTt |

se 1 AR AteiE @A wiftets RenR 3w 6 2

<) foaes aHze <) (5o ) PPN I 1) Q@faF @fie siter Ted: 9
I SRR ORS¢ @i @t @S 2IulE wforoe e Fia e |
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AR QT A [T FP: A 0]

TS @
= BIEfeR @ 59 ol e Stae (@I IO SR @3 #q SNl 1 e SiepiaE Ao |

sifafes F%- Voc T, a4l V= KT Ww,gzg[ﬂm,nepﬁg]vaﬁmﬁﬂjﬁﬁﬁwl

= QTR @ (57 e WM S @I NeE 9o & SHeE ¢od oY@ bie TR |
ﬁrﬁmw-wc%apv:K@w,Plvlzszz[dlm,n\ﬂﬁgr]

1V I P= WiEger |

2. VW%W‘T@WQM

3. PV AN P = SQfNP Fercasl

= ¢ PR I 37 Aoty e Al G Mo @y biol e (@een SN AT |
= PocTaTP=KT,WQIaT,:—i=’T’—§[¢1Wn,VﬁQa]

= SCOIATE! 3@ fZ< Sl @ BT T WOCT el A FA AL 9 IS |

= AR JAT 3@: (1 Ol @ 51 et e eifgme 29 ApRiio S o9 91 qeeed e Ko wgeice
Afqafes =3

SRR &F FES NOqM: SRR ©F SPAE-

>, O TR QGISTTE Mol RETE S G0t 220GISE QAR Ht Wi 0 |

3, FRF TR G A1 @7, QT Gl Bcel ZIRGFA OH ™ ST Wi ¢ |

= @ MR TSI SNl 1 S SR FoNE T90L STP (AT 7Ld AT @7 pgfe wrar wog ¢f

= IR SnIaTS [P @ He < Ne < Ar < H, < N, < 0, < Cl, < CH, < CO < CO, < NH;4

= %I WETE ALPHTATO! AIF (A7 @el[F ¢ v SHA: (o @R dFOACF 4L SIN@l 8 Bl I WO
TS @ G PO (W TSI AT |

I AEF &7
A T e o puCH
AT o7 9T amu 1.66 x 10727kg ™! dalton

TG AL N 6.023 x 1023 mol ™1

FRITH FIF F 96485C ~ 96500 C

CTfere Bt e —-1.6023 x 10719 C
Q@AFBETE FIF k 1.38 x 10723 JK 'molecule™?

8.314 JK 'mol~! = 1.987 calKk 'mol~?

SULRUEE A R ! = 0.082L atm K™ 'mol ™!
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B STP (Standard Temperature and Pressure):

ot (P) S (T) e (V)

latm =76 cmHg = 760 mmHg 0°C A 273K 22.4 dm3 3 L
=1.01325 x 10° pa

B SATP (Standard Ambient Temperature and Pressure):

B9 (P) o (T) e (V)
100Kpa 25°C 3 298 K 24.789 dm3 3 L
RSy vt R @3 9
G AN G W G R 99 Wiv
bR 0.0821 L atm K~'mol~? bar 4T 8.314 x 10%L bar K*mol™?
@3 =Ng 8.314 JK~*mol~? Nm 43¢ 8.314 Nm K 'mol™?
1.f&.a 8.314 x 107 erg K™'mol™! torr AFCE 62.364 L torr K-'mol™?!
ESIGIE] 1.987 Cal K~*mol~? i a3 2783.63 ft b mol 1K1

= (0, 99 @ife Al A% A 7F6 W@, T, = 31.1 °C A 304.2 K
= C0, 99 @@ 1 A& A 7eF6 B, Tp, = 72.9 atm
= €0, 99 @@ 1 AF A 7eF6 WIS, Ty, = 95.65 mL mol ™
= AT, Hy, 9 T, = —240 °C,P; = 12.8 atm 8 V, = 64.51 mLmol~!
= SfFEEEd T, = —118.8 °C, P, = 49.7 atm, V, = 74.42 mLmol ™!
= ifoxifE 8 T AfoxifE FAwre:
3
> Eg =>nRT YT TR
3 RT
> g ofenfe =N > JQECE @ PV, = PV,
P2 V. V.
PR S FeTre: = oI ﬁ@;T_izT_z
P P
> r.m.s @, C= % > CﬁW‘i@:ﬁ:T—;
> oo TNy o L = P2%z
> rms @7, C = % K Tt T2
> @ o1 AU PV = nRT A, PV = T RT
> @, C= |20
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IO TSH, STl 8 BT G

i a3 T ffey azs 1=
> 1m3=10°cm3®=103dm3 =103L
S v m’3 dm?® A em?[L > 1L=1000mL = 1000 cm?
mL 4 ¢ &M T =] ~1L=1x10"3m?
522414 L =22414x 1073 m3
» 1latm = 76.0 cm(Hg) = 760 mm(Hg) = 101.325 Kpa =
Dkl P Nm~2 4 Pa 101.325 x 103 pa = 760 torr = 1 bar(1 torr =
1 mmHg) = 15 psi
> g $PEl- 0°C 91, 273 K
ol T °C 8 K > % wPN@l- 25°C 91, 298 K
> A e SrEl- 0K [, —273.15 °C

B 49 Z > 1 2 L 2GR S iy Seerw F IRy 2710 @4- Hy, He, N,
B I Z < 1 2 O s S o5t Sieomw @ (R 271 @4- €05, 0,
W BICoR AR Z = 1 =0 Odfie wifs o bitel 919 8T T v Sibee 0 |

U A 1o
9 il Y oM
2 AT BTG &= A | AT ZCEFGT Wl e | ZETIGA ToqM
@=: CO,, SOy, BF;, AlCL, Cu™ @@¥9: NH;, H,0, CN, CI
QEEAIR | TEE g3 H QR A TR ®JC OH ¥ Wi IR | R Todm
P | @N: HCI, HNO, (T9: NaOH, KOH
FACOG AR | G *WILE (25T W I | TF 20O (5T 8o I | (BT Toa™m
G HCI, H,S04, HSO; @@: H,0, NO5, F, OH, Cl", NH;
TS | aF0! FREICE M I, MORE | Q0] GPeE e I@, AT | HORES paRes Todw
1 BTG A [, WG Tisl B, B i S
AL J& | (T2 S04, Cly, (@9: Na,0, KCN, NH;, OH
HCI, NH
A Fe | Rierw T @ w9 arm | [iER T @ 9wz ane agd EEIERCE I
Ale ¢ | @NF: SO,, Si0, I | @I4: Ca0, CaSO,

EHUNTERSH
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TR O @ S
RE OF 8 HEE SRE T RS NSkt
HCI Cl- OH~ H,0
HNO, NO3 §2- HS™
H,S0, HSOZ Co%~ HCO3
HSO; 502~ HCO3 H,CO4
HNO, NO3 NO3 HNO,
H,CO4 HCO3 CH;C00~ CH,COOH
HCO3 CO3~ HCOO0~ HCOOH
HCOOH HCO0~ NH, NH;
CH;COOH CH;C00~ cl- Hel
HCN CN- S0%- HSO;
HF F~ NO3 HNO,
H,S HS™ Clog HClO,
ffeq crc @z AW T © IR
CFC-11 CFCl, T (FIN @ A7 75, e, Tie, S0, @freies, e ¢ o= Fie 1
CFC-12 CF,Cl, 3o 2B, N, @FEIEsT, IR, - ([few o) |
CFC-113 CF,Cl. CFCl, fare, g @ ffen Sraaiiae ARG Gileer (iR sie 7o =1
CFC-114 CF,CLCF,Cl
PRI O
= JEETE @RI, ANOAEA A AR A = &7 SPN@E pv I P RRIE I Wl

RGN

SRENA Sf4FeR @UPTE Aeq I 1 T SINaE
8 TN B IQCETR @ TSy |

8 SI7NI@ ¢ T bt AT @ [pfe @er amn
fame s [vE owe @A TR ST F
SR TS A I i

SIS @I, FHR T4 < ST e
q

e S TR FIRF PO WOR TG ¢ Sielfs
o fqefa w4 A

EEEER AE O ROGE FW TG GF

U

= ALIIOTAT SAR I (7 QAT GF3 SI2N@l 8 BT

IBI WO WA Aoy € qw W (e
ST TOCE AP A |

—s ESIFRIEE B T v WA FE, OE 6 =

T SINIGh

= AP FER 10 @ HR SesHdkE ey q@

FRE 2T |
387 &l pH-9F D T 20T 21 5.61 |

= ISR WL @b B A pH @9 W 5.6
QPR “IfOCIe! AT (A | (AT 3.5 GF T ACE |
JEa ~Afce =g s 5=e affted (H,50, @ HCl @3 FFeg —— 1
HNO,) ©+f3fe qfie 2 Jo1 TR | H5PO, 99 g —— 3

SO, *BI A AR Y7 | NO 8 NO, T (/TS 78
ST CoMel IS |
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H,S0, 99 FEIIFQ — 2
CO, a9 FIgPg —— 2
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= NaOH 9% oHg—— 1 = i A 1ToF TR FAIRT 8 AFACTS |
= Ca0 93 Iy —— 2 = Afg STFE ATO FRe AZFIECAD |
— Al(OH), 93 THg—— 3 — A Ao @l N I9eE Fa 27 NAEE 9E@e
= Fe,0; -99 IHg —— 6 — EDTA “afere g 3E ¢ a3dl Tox oFF 4ae!
= @FE Hfe afftes Aty @i = fadfa <=1 a1
FHEA &N [ affs arer #ifq S 2ce 57.34 = T-F MK pH O3 I 2 6 (A 6.5
KJmol™ d 13.7 K Cal mol™ ©t% Seoig 271 = WHO @3 W& WS, 25°C-9 Afd pH 3 6.5-8.5
— FELC-ACRE Ogh (A og Fce Afbe | @ M APCS A |
= 2% 4% R == —> BF; BCl;, AlCl; PCls, SnCl,, = WHO 7 9% WP e 0.01 ppm W@ TAE
FeCl;, SO, SiF, T\ | AR AFE G A A T4 fT@em 31
= 2 TS YR AR — H,0, NH; T | = TR C2FFIAT Hifcs e @l 0.05 ppm
= A IO o1 TR 20— Ca™’, Mg”, Fe™ a7 06 A @7 N IRET SN I =T

MOST HIGH VOLTAGE MCQ FOR AGRI ADMISSION TEST - 2025
01.12.0 L SRR @6 i Fiferieg 23 °C Stoi@ay @32 7.08 atm Bt QTS 2511 At wieg | Fifeeiw ve aE

(Mole) RIRGITS i WCR?

(a) 2.45 mol (b) 3.45 mol (c) 4.45 mol (d) 5.45 mol

SLA: (b) PV = nRT = n = = = —2%*12_ _ 3 496 mol
RT 0.0821x%296

02. & Sio@r 8 BiTst UFfB MWCTH % 29 kgm =3 2@, 17°C SIHAAT &€ WK g IS 2 ?

(a) 27.3 kgm™3 (b) 493 kgm 3 (c) 1.7 kgm ™3 (d) 46 kgm™3
ARL: (a) dy T, = d,T, = dy = d;—:l = 227 _ 27.02kgm™?

03. IRES BTet 100 mL *HOTE 47 T Bi#t Jfan S0 GF SO 76 mL T ?

(a) 10 x 102 mmHg (b) 2.4 x 10> mmHg
(c) 7.6 X 10> mmHg (d) 7.6 x 102 mmHg
S4:(b) P, = 760 mmHg; P, =?V, = 100 mL; V, = 26 mL; P,V, = P,V, = P, = 222 — 1000 mmHg;

AP = 1000 — 760 = 240 mmHg

04. 14 g N, WO &y fAeoa @S e e a9

(a) PV = nRT (b) PV =" (€)= =RT (d) PV = RT
SAIYI: (b)PV=nRT=%RT;n=%=;—:=%

05. 25°C SI“NI@ 1 atm 51t 4 L 05 T3S 0.8 I @ AfGdS-5eitS Bioh-gima-#ifawiel 203-

(a) 5atm (b) 4 atm (c) 3atm (d) 2 atm
FgE: (b) P,V;, =P,V, 1x4=P,x08=>P,=5atm;~ AP =(5—1) atm = 4 atm

06.STP (S 3.2 g 435 o1 2.24 L ST W& I A5 20® AE-

(a) CO (b) CO, () N; (d) 0
FMYE: (d) STP (S 2.24 L e+ 7 5 3.2 g

% 22.4L “ “ “ (32) =328

07.3M 3 L SISEHR (@ WER B9 @ 27N i@l fawd T 23, SR ©fF STee IO F(A?

(a) 2 (b) 3 (©)6 (d) 12
) P,Vy PV,  Pix3 _ 2P;xV, _
FALI: (b) -, = = T =>V,=3L
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08. TSI AT AESF MAF CO, AT CFe@ qvl [T AT ael-

(a) PV = 3RT (b) 2PV = RT

(c) PV = 2RT (d) PV = 4RT
A A

SIE: (b) PV = nRT; (n =N1 =2 = %mole) =PV = %RT = 2PV = RT

09. 93f6 25 cm WY b I [ HCL T A8 IR AT FAICH NS (0T F© 7708 NH3 T G52 7
YL FACE ANME (A F© 708 NH,Cl 9 w1 cdfn 2 2ea?

(a) 10.14 cm (b) 10.10 cm
(c)11.14 cm (d)11.10 cm
VNH3 2
. () THCL /MNH3_ Mk Ineg | Ines 17 0 x =
ST (a) e = A Mo~ YHD = g e o 368 == =068=>x=10.14cm

t
10. U3 ITOET (6 TS P 8 (FIfET I3 SIoEEl € vl G5 femsie e fssifae 2re M@ 60 Gwe 8 73
CIFT AN (17 | T oo d AAkF O F© 2
(a) 46 (b) 48 (c) 50 (d) 52

s (b) 2 = 8 =71 % (2)° = 48
U May, ()t 8 73)

11. afres Sige @ SRR @EG 6 2

(a) HI > HF > HBr (b) H,S0, > H,S0; > HSO;
(c) HNO; > HCN > HNO, (d) HClO, > HCl > HCOOH

T (d) @ftes $ge @ ; HCl0, > H,S0, > HI > HBr > HCl > HNO; > H;0* > HSO; > H,S0; > H3;PO, >
HNO, > HF > HCOOH > CH;COOH > H;C03 > H,S

12. @16 735 «fsre 2

(a) AlCl, (b) NHs (c) H,0 (d) CH;0H
SCE: (a) AICI;

13,39 T I@AAITeq T ABC @I T A I o4 2

(a) CI” (b) NO3 (c) OH™ (d) S03?

SIEE: (b) NO3

14. @I iR 73 3 2

(a) CO, (b) CO () SO; (d) so,

STLE: (c) SO5

15.N, 05 93 TR ¥39-

(a) 98" (b) = (c) S (d) f=eors
TALE: (a) TR

16. Acid rain @ UH-

(a) HNO,, HCl (b) HNO5, H,S0, (c) H,S0,,H;PO, (d) H,CO3,H,S0,
FY: (b) HNOs, H,S0,

17.foAfB =51 @97 @ I 25 ms™!, 30 ms™! ¥R 35 ms™! SR F ¢ 37 T2

(@) 17.5ms™1! (b)30 ms™? (c)30.3ms™t (d)90.3 ms™t

— 2 2 2
SiEE: () € = /w =30.3ms!
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18. TINT ST IF ‘a’ AIT GFb-
(a) atm L?mol 2 (b)atm L2 mol~2
(c) L mol™2 (d) atm?L™tmol ™!

FAG: (a) STCR STETT T ‘a2’ oF 9FS- atm L2mol 2

19. M3 @G ©itel JEE e AfFers 232

(a) Na (b) CCl, (c) NH,CI (d) MgCl,
TNLE: (¢) NH,4Cl @ft @35 Sesiron «miel | ©i2 oiest J@hife et ofaqe 231
20.H,0 + NH; = NH} + OH~ ffeifbq H,0 @7 gf¥ 62

(a) ¥R (b) «fTe (c) fT=ers gad (d) @AHE 7
SILE: (b) H,0 —» OH™ + H* [¢A16F wjisl 95C<]; NH3 + HT — NH] [(2I57 &2 95H]
21. @3 G et A 8 B 9o S KA @itR 1 A S2WIER IETE Soie 0. 34 20 B SoMITTA (NETF Soies F97
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29| 97 A% F2feR @39 (Fehling's solution) @3 Aty e wca 1 2

(a) T @fie (b) =ififes e (c) TAMCRIZE (d) =nfBrfEzze
AALE: (b) SHF @hre

b | GfEEE ¢ SfBrTeRIEe e 27 @ i 7=

(a) her fafewa (b) St fafwm (c) SACerEy & (d) I et i
TGE: (b) Beew R

35 | I Rerfae 2 F By F@?

(@) CAINZT SpreTCPIRe (b) SRR SHRTFRT () IR SHTCPe (d) RCHIZe wyeTeIRe
FG: (b)

wo | fEAIZEE aEfere @w @ Fze =2

(a) MR fermfm (b) MEGE! 53 (c). TG &fere (d) TG Geyet

SIG: (a) TCAIEE azfore 3@ 2R F5e 2 |

oy | @G 374 2P I9ze 272

(a) FeCl, (b) FeSO, (c) FeCl, (d) Fe,04

TANLE: (a) (TS FRIZC G 8 FRCABHCS RFRS RO JIZ© 2 | ORIG! FEFFACH (2058 ARE @S (P. C. B)
tefare «ff I77e 21 WY FeCl; (o [ doreme aze =31

o | (@ afifTdiee R I9Te T2

(a) CBr,CIF (b) CH5Cl (c) CH3Br (d) CH;CH;Cl
FAAL: (a) GOATAT (GCTADF)

w00 | [ @F GRS SrRTeE o[ e S

(a) H,NCH,CH, (b) CgH5NO, (c) C;H;CONH, (d) C¢H5NH,

0 —5°C
ST (d) CgHsNH, + HCl + NaNO, —— C,H.N,Cl + NaCl + H,0
8 | (FAEH TRITHINIT (FRIZCCT Tl GRS Oiof (3l 2 F 9062

(a) Formation of phenol (b) Formation of nitrobenzene
(c) Formation of biphenyl (d) Formation of phenylhydrazine

AACE: (a) Formation of phenol

©¢ | TIRIRGIFIRE QGG A (F{G *Ie F1 =72

(a) SUETCFRE (b) =i (c) fFto= (d) @55F
FIE: (¢) o
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.~ Physics Hunters Agri Last View Suggestion - 2025
oY | FFGP GFTTed Foa= (FIG?

(a) 118°C (b) 128°C (c) 138°C (d) 178°C
ANG: (a) 118°C

©q | (@ FRS 7= AR opifse *Mre w60 72

(a) HCl (b) CHCl, (c) NaOH (d) CHCl; 4+ KOH
siLE: (d) CHCl; + KOH

Ob | (@eE A A LP e Pifereid [ Ait?

(a) CH, ¢ C,H; (b) C,Hg € C,4Hy, (c) CH, '8 C,H, (d) CH, © N,
LE: (b) C,Hg 8 C4Hyp

O | 21 FER AR T FIH-

(a) “ifeT SpIcEnItE @It (b) SiferEibE b (o)febifss (d) SIETCIRET
AL (b) SifermIE @b

8o | ATFITH &fSfb I 21 Fob6 FA AN A & AT ?

@1 (b) 2 (©5 (d)3

AL (d) ARG N 2t T o oft IR ML T& A |

85 1 (I Lo G ARGILE TiFe?

(a) FififEa (b) =B (c) AR (d) &= 97
STLA: (a) 2GS [ & @l CCl; = NO,, €Cl,; COCl,; CFy = CF,

821 3T ~AfeTigFae 7l AR TeAWEH I92© ACRE-

(a) ZnO + Cr,04 (b)'Cr — Fe — Ni (c) TiCl; + Al(C;H5); (d)Pt—1Ir
SLE: (¢) TiCly 4+ Al(C,Hg)s

89 | (MM (TP [NFAP NIIAIR I 17

(a) HCN (b) NaHSO, (c) RMgX (d) HBr
iKE: (d) RMgX, HCN, NaHS0, @@tel ez ez «32 HBr 2 3R GIReIee |

88 | BT FoI% (P62

(a) 56°C (b) 68°C (c) 78°C (d) 118°C
STNEE: (c) MAFER Foa1% 64. 5°C 1 (AT Foa% 97. 2°C; [TCOAA-3 @ Foa= 117°C |

8¢ | g7 W 7 R IS =@ (@2

(a) AgBr (b) CH,€ly, (e) KBr (d) CH3Br
SIC: (d) CH3Br

8Y | TEE FI9T (AR &) (FA0 IJIZ© 277

(a) CH,Cl (b) CCl, () CF,Cl, (d) CBr,CIF
S (b) CCl,

89| (MG 2AZN wpfiTa o= w77

(a) I apfie st (b) FEG™ «@fsTe 4w (c) @fs= =nfq (d) Tortaa SRetE

FAYE: () Q@I A 2l R et * TSI A |
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( T T A [T WG AN FoAF] >

wiRe Reaet (R w8 {ue smg {f
A [ afsl clitm ard 1l @@ Facs 2@ |
77 RieTe 7 SRe M FUE G SIS, A A4 AE G [ |
AR wFF Mg G, @ife, wifeeem, e, so,, No,
o G mie: o9 @, H,0,, o6 H,S0,
3o T mig: STIfEA, KMnO,, K,Cr,0,, KCl0; MnO,, FeCls
sJER fese smief: Hy, CO, H,S, SO,
— o7e fqese 2mid: HNO,, HBr, HI, H,S0;
— Mo @ *mMi: FeCly, FeSO,, SnCl,, Hg,Cl,
— f@@e=: Cl,,S0,,H,0,

R R O ¢

e feres
ERRIE femrgel 9o
BTG &9 FAE BEFG A6 FAE |
ftera ferige €% fAtee w9 906 |
e A 2 AR Wﬁﬂiﬂﬁ{f\%?ﬁﬂl
FaR GIeH e Tt [
Gt ST @@ G TR et [y
KMnO, Mn 1+x+(-2%X4)=0cx=+7
K,Cr,07 Cr 1X2+x X2+ (=2X7)=0, x = +6
[Cra(CN)6]3~ Cr x+(-1X6)=-3:x=+3
Na,S,05 S,0%~ 1X2+X=0 ~x= —2
Na,Cr,0; Cr 1X2 +x X2 + (=2 X 7) =0, x=+6
Ca(ocl)cl Ca X%=1-1= 0 SX =42
MnOy, Mn x +(-2X A4) = -1 ox =47
[Fe(CN)¢]3~ Fe x +(=1X 6) = -3 = x=+3
[Cu(NH;3),]** Cu x + (0%X4) =2 = x =+2
Na,5,0¢ S 1X2 +x X4+(—2 X6) =0 . x= +2.5
K4[Fe(CN)g] Fe 1xX4 +x + (=1X6) =0  « x=+2
Cl,0, cl 2x+ (—2) X7 =0 SX =+
[Cr(CN)e]3~ Cr x+(-1)x6= —3 . x=+3
H3PO, P (1)x3 +x +(-2)x4 =0 ~x =45
HCIO, cl 1X1+x + (- 2)X4 =0 = x= +7
Na,S,03 S 1X2+2x + (-2)X3 =0 ~x=+2
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iR /e | A=fEE Gl T we A | ojRre/Afere ffafee wme | i we
ST et Afafes w4
EF
KMnO, (afTe) Mn +7 +5e +2 Mn**
KMnO, (FFI5<) Mn +7 +3e +4 MnO,
K,Cr,0,(af7®) Cr +6 +3e +3 Cr3*
Cl, / Br, /1, cl/ Br/1 0 +e -1 Cl/Br 7 /1™
PbO, 4 126 2 Pb2*
H,0, (SIF<) 1 +2e -2 0%
Cu?* +2 e 1 Cut
FeCl, 43 e +2 Fe*
SO, +4 +4e 0 S
e
FeSO,dl, Fe?* Fe +2 -le +3 Fe3*
HzS S -2 -2e 0 S
H0; 0 1 -2e 0 0;
H,S s 2 -8e +6 H,S0,
N,H, N -2 -2e 0 N,
SnCl, Sn +2 -2e +4 Sn**
H,C;0, C +3 -e +4 CO,
SO, S +4 -2e +6 503~
H, H 0 -e +]1 HY
ffer ge= Foe
«fiTe Fee oFfe 2 fIa pH e
e GfTe % HIF (HCI-Naoth) 7.0 f=iga Jcas, WA @, @
Ve GfSTe-379 FF (CH,;COOH-NaOH) 8.8 TR IETe
e @FTe- Vel 1 (HCI-Na,COs,) 5.27 1% weae, W23 @
Ve «fiTe-74e FF (CH,COOH -NH,) | e =ftear am = @ e Toige T
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e oeea 3 ¢ 3 AfsEa pH
o A I PH o e I A TP I
Ferrefers 8.2-9.8 BREL| T (@A /AR
e @e 7.2-8.8 £ GG
T (TG 6.8-8.4 LG Gic
ERIEGREM) 4.2-6.3 Gic RS
[ERIEGRSICE 3.1-4.4 ST /T =W
feroa 6.0-8.0 Gic e
Q- g 6.0-7.6 ko] e
A3 g (%) 1.2-2.8 GG LG
AR g () 8.0-9.6 =M Bl
m mol/L - mg/dL 18 M wd
mg/dL — m mol/L 18 @ o

= PG CRIGEGIA N A0S e TG 12 m mol/L A, mg/dL GICF 97 T F9?
= AN LIS AT 18 7T @ FAETR TS SANGA A 1 &R, 18 X 12 = 216 mg/dL
Q. 9FE @NF S IS AR 162 mg/dL =, m mol/L G @7 7 F9?
ST JCFICE ~AfAE 18 B Svl FHCEAR TR 2eH T | O, - = 9 m mol/L
— IBAA BT Amid; Tz
= 9% ETfEIN FEEG (NayCos)
= 9 93 @fte (H,C,0,, 2H,0
= @S ETfeAN SFHIE’ (Na,C,0,. 2H,0)
= FFPHF afffe (COOH — (CH;), — COOH)
AT 8 CIFTI I =Amtef
AR TBHSE el GRS SoeIe Mg
ofim SN FEEH  (Na,C0s) FiF, (@A 30 | NaOH *F, HCl @fTe |, H,S0, afte
TR ele e it afere Wit HyC,0,.2H,0 SBTRIR SIS (KMnO,) &9 wig,
ABIRR ©IBTHTTG  (K,Cr,0,)  GiES—#wiel,  (FeiipTe | @Tifeas eamieees (Na,S,05. 5H,0) k&= o |
e 3taq ©iRers A wH/EH  (Na,C, 0,.2H,0)
e “wid Tein |
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MOST HIGHY VOLTAGE MCQ FOR AGRI ADMISSION TEST -2025
51 1.008g H, ¢ &9 7Y F© ?

(a) 3.0115 x 1023 (b) 6.023 x 1023 (c) 12.046 x 1023 (d) 24.092 x 1023
SEE: (a) 1 mol H, = 2.016 gH, = 6.023 x 1023 6 @41 ~ 1.008 gH, = 3.0115 x 1023 & &

QI @HG ARAR AN &I94?

(a) HCI (b) NaOH (c) KMnO, (d) Na,CO4
I (d)

o ftR @Al AR SBrrere smid?

(a) HOOC — (CH3), — COOH (b) CH,O0H — CHOH — CH,0H
(c) KMnO, (d) NaOH

TNLE: (a) 2 wife 2@ e afie #fias 22 68 Afafe affe mam wifre =2 1
81100 mL #\TS 40 g NaOH Q1% FHC=1 Tl 2F-

(@) 10M (b) 1.0M (©)0.1M (d) 40 M
FAIL: (a)s:%:wM

€1 75 % Rum 2 @& g e Reafere a0 e St ¢ ot ¥ 51 €O, TedAx 2?

(a) 68 (b) 268 (c) 22.4 (d) @G 771

SE: (d)
Y1 g3 1.0 M EIfeaT JRGIRCCH WA T 1000 mL (& FAHee [aeei® F9ce $© wiwes 0.5 M wH T

G A& SR ?

(a) 50 mL (b) 100 mL (c) 200 mL (d) 400 mL
SLE: (b) e,S,V; = €,S,V, = 1x1x 100 =2 x0.5xV, =V, =100 mL

Q1 1L (SOIEE NayCO3 @dte 9 g Na, €05 AR 2

(a) 5.3 (b) 10.6 (c) 16.6 (d) 53.6
ST (D) W =~ o = 2T = 106 g

b1 #fifATe ¥gS 0, 9F TG 1 x 10~* M Z(E, ppm GICE TANE F9?

(a) 0.32 (b)3:2 (32 (d) 1.6

SMLE: (b) ppm = 103 X S X M =10 % 107*%x 32 = 3.2 ppm
51 9HT KMnO, 4R 93 «fies Rigam Rigreams @ ggee o 2
(a)3:5 (b)2:5 (c)1:4 d2:6
SEE: (b) 2MnOj 4+ 16H* + 5C,0%~ = 2Mn?* + 10C0, + 8H,0; KMnO, : C,H,0, =2 : 5
O M geTy e A OCR WA AU gel R [T IR (WA WS HANeA AW 1 @FF KMnO, 97 9 2!
= 5 @32 HyC,0, 99 §&F M = 2; KMnO, € C,H,0, 93 (NEF S = 2: 5
o | (A IR B wie?
(a) KMnO, (b) K,Cr,0, (c) (COOH), (d) Na,CO;
T (a) @ e @A € R @7 7 @19 2 23T o swid o Aifs 19 Crael e mid | o

HCl1
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M1 1ppm =?

(a) 1 mg/L (b) 0.1 mg/L (c) 10 mg/L (d) 10° mg/L
ST (a) Img/L

321 98 % H,S0, 99 W% @y 1.83 201 U TNI@l FANIfifbre F© ?

(a) 18N (b) 36 N (c)30N (d) 20N
T (b) W @y = 1.83 £ = 1830g/L

- 98Y% fIwm, ©12 = 1830 X 0.98 = 1798.4 g .. (=faf = 179383'4 =183M =36.6N=~ 36N

yo | e @I wies ¢ Rees Tormest I1& I 2

(@) K; Cr,0, (b) KClO, (c) Hz0, (d) 03
SEH: (c,d) NO,HNO,, SO,, H,0,,0; T9im &es ¢ Rees Tox f2oiied e 36a |

5818,0%™ 932 §,0% ATFICHT TIF YT RCE-

(@) —2and-25 (b) +2and + 2.5

(c)+4and+6 (d+2and -2

FA4I: (b)

3¢ 220 mg I TEAHIZCTC F© (e SACR?

(@5 (b) 0.005 (c) 5000 (d) 10

_ W _ 0220 _
ST (b) n =+ = == = 0.005

51100 ml,0.02 M Na,CO3 &I 2fie 19 & @ SIS Bl A -
(a) 4.0 ml (b) 10.0 ml (c)20 ml (d) 5.0 ml
F: () 2 X 100X 0.02=0.2 Xv.-.v=20

39 | B TN (@I AFF SN T feaRie?

(a) (T A1 (b) =S (c) renfafs (d) @2 77
TACE: ()

Sb 1 GG EIRTART QIACE (CHTET 799 LOfTe Jaeeld e S A Jfa 0o A2

(a) 5 @ (b) 4 @ (c) 9 29 (d) 10

HAAIYI: (b) V181 = stz :>V2 = V1 Xz—l = Vl X%g = 5V1; AV = 5V1 —V1 = 4'V1
2 O
55 | 3AFRE e @ NaOH 93 GG &2 fAm* (@b?

(a) Wiz o (b) TR (c) TR (d) e
STEE: (b)

30 | SfFTEER e e —%m@ﬂ?ﬁt@?

(a) Na,0, (b) H,0, (0) K,0 (d) Ko,

FIL: (d) o THICC AFCSCTF T 7L —§
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351 #Y H,S0, 97 T+if¥fers 0.08 M H,0, @3 50 fifsi 3ot 77 @ife® F409 15 cc KMnO, IR G 23 |
KMnO,, @39f6d Gl qsiial $e?

(a) 0.107 M (b) 0.08 M (c) 0.06 M (d) 0.8 M
. _ _ (V3xSyxep) _ 50x0.08x2

AL V1$1e1 = stzez = Sl = (Vixer) = 15%5 =0.107M

21 (@I @Rl TS ¢ cenfafs s Fe?

STY; AR ©F 8 Qe ©F N (e JANEA6 8 R AN 27 1 PG NCACANF FEE (@ A2 FINels 8
CEIR STaI1 |
291 Ca(0CH)Cl @M Cl 9T TR L F9?

(a-1,-1 (b) +1,-1 (©)+1,-2 (d)—-1,+2
JC: (b)

38| IRFOW TFF @ [&ias 2o A 91 &FA5?

(a) 03 (b) 02 (c) SO, (d) H20;

TNLE: (b) 0, + 4~ — 202~; HEH Tl e~ &7 F¢F [Feiad [ @3, O ©f vy TS RO FIe I |

3¢ 1 ARFIEE GFTC Tere 1 “RE TEe oK) ]eET-

(a)+4 (b)+6 (e)+7 d-1

TALIA: () “MCHEE afTe 2t HCI0, | @RI, Cl 99 SReNE = +7

Y1 10 & FeSO, (F Mt Eif® Fare $© &N fawm K,Cr, 0, 9a?

(a) 3.23 (b) 2.00 (c) 4.23 (d) 6.44
10

w w w
TA: (a) (1 X €) FeSO, = (3 X &) K,Cr,0, = =- x 1= x 6 2 W=323g
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( T T 2@ [ 79 T3 SfeR TR | )

oftR eJited MR B [y oo

> ofte 211’ - WfEE (A)
> fagyres Afawd - $=1% (C)
> Ry @9 — @F% (V)
> oftr HfFifzea aa — Bt (S)
B FHEICeT Ja:

> 2N @ W QI W =ZQ = ZIt

> W@:W«Z:%=%=W|
B R AfETe PR o F9E @

& o1 (@ 75 SIcferl g WENReR Gt T SiS (=Y e HIS bRET0 e Gl #I1ed 23 et

Li K BaSr Ca Na Mg Al MnZnCr Fe ¢d Co Ni Sn Pb H Sb
As Bi Cu Hg Ag Pd Pt Au
R @89 =T® (Pb) (S €77 W (gt H (0P 9fF @1 ©i2 @3t H,0 8 HCl (}F H & afsgioq a0
%N | H 99 069 «rgete H (A0S 39 A3 162 @9l H,0 8 HCl (A H & afogie €0+ |
B EE: 5 Y& 26T 8998 AN (AT T GNEE AR NO;~ < S0,%7 < S0;2” <Cl" <Br <1 <

OH"
T IR i gl 3 @ EIEY] B
EIEGIRE NO3~ | S0,% 8 S03%" cl- Br- I~ OH~

B on=g=—sw= () Itew=LIt

B O ofte Regw-Sig «fSte a1 w1 sy it «fSTe 9 9 HCl, H,S0,4, HNO3, NaOH, KOH, Ca(OH),

B4 CFE SfR RIS TR = Y& SEHG #0F CF@ Ofee Ao TR = Y& & |

B iare Hifas Frier st 5 1 ©13 F21=0e Perer afsg=q $acs It a1l CuS0, + Ag — No reaction.

AR
B (o] SR 8 e e Afqarsia s
B (i) 499 A IEFEAT AR FLFTNT IETFET A OfGR T BT | ©fYR [T AT 4eE @ Hergs

I B ofeR 2[R 906 |

B (i) 3o ofTRite ofte g a3t (Ste afew, are sPmEe sfaeT w6 ofee [ sifzakite sfee
Afeden @30 IoTE alfeww, AfEB T 7R TERET &> i IS T6 |

W (i) SreET@l I MY qreF AR SfeR S wEel g1 #iR | St Ifad T ofe R ofe Az
el Jia 7R

B (iv) 4S9 SARRIRE CF@ FEOHE G ATy, Ao ot e «faidia owa FAeed Ja Ay |

B (v) 3EEEIN SR ©fYe sftaas wwel ofte [ ke g S wdl @ QA |

B RN ¢F%:- G T@fere “fFRAfe «FF ohm™1 A mho = Q~1, SI “F&fsts ~fAfTeR ¥Fs FEME (S)
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B 1S =1ohm™! =1 mho =1 Q71| WA *fFROT «FF: CGs *Mafore AT “fFAITeF 9FF = ohm™em™
A mho. cm™| SI @FeF “fFdifTe @FF Sm™?
B 3 ARSI @9 - CGS miore @FF-ohm1em?(g.eqv)1, SI UFCF €T ¢FF- sm?(g. eqv) !

B @ @A G@FF: CGS Aaers a3F cm™, SI I €9 933 m~ 1
B QIR H- (G WD T, ol Tegere! g, IR ¢ @& A Agd O W W 8 Ty | ol A
G (FfAF 9B Fe,03.3H,0 d 2Fe(OH); | 4gd 1 Al qfb ofte qrmfae spiaifes wiad afe |
B 5 @ WS G 7R g T =
B AG°=-nFE° cell FTNFACR SIR7:-
B () AG® = AT (-ve) 2, ©XF (I R TOFFS =1 G GER Ecell 99 T ITF 20O A |
B (i) AG® = 9P (+v) 07T, (I RGN FO&FS I 1 @ TER E o 97 T IS 2O A |
W (iii) AG® = 0 2, Eggy= 0 2031, O (I R Mg wtr @32 (F1AM (@rafs Yo
IgrTeRs o [Rese [eg g <t At Fifs
Sfoead A FETET E°(V) (at 25°C)
Lit/Li -3.04
Kt /K -2.92
Ca?*/ca -2.87
Na* /Na -2.71
Mg?* /Mg -2.36
A3t /Al -1.66
Zn?* /Zn -0.76
3+
o e e | 17 [ e e
Cd?* /cd -0.40
Co?* /Co -0.28
Ni?* /Ni -0.25
Sn?* /sn -0.14
Pb%* /Pb -0.13
H* /H 0.00
Cu?* /Cu +0.34
Hg?* /Hg +0.79
Ag?t /Ag +0.80
Audt /Au +1.42
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ofYe SRR @l
NERE e AR (TRrifEeR e Tug aifaien)
fe fe Foira AR | TeEgE @ ofoe fee st
MKIERIEY wgeifeaal | g qreq 70-100%  GACT | VEe ofs T OIS
i FOET BIEEIE] TS, e | Rew(1-10%) | o
IR wfee e ER(GRSIRIDIO]
T, %% IVA @9 | Nb,Ge(23.2K), | Ffoq  «rex | 5. @rfae 5. CH;COOH | 5.CH;0H, C,HsOH
TR, fife@ (Si) | YBa,Cuz0, |8 9«1 | G Nacl, Kcl | @3 7
SENERN, | @ QRN | (90K) @[ FAE | @Fel 3. HF &3¢l 2.(C4,H,,04;) @
e, (Ge) (i Siofia | 4o @ 3. HCL, H,S0,, |®. H;P0, &34 | ©. H,0 (Rem)
o T,) *fea ATFIZE HCIO, 8. H,S05, 8. S ARG,
SfYe ST | Sgred ©. NaOH, KOH |y co, , TR
TS I LAY Ca(OH),

MOST HIGHY VOLTAGE MCQ FOR AGRI ADMISSION TEST -2025

3127 °C SPNay @6 ©fSe@t@ 0.02 mol dm—3 97 B39 I 41 261 | ©ieerrta T feg Fdy w11
(a) 0.05V (b) 0.06 V (c) 0.1005 V 1.0V
T8 (c) Ecell = 0.0592 pH = 0.0592 [—log 0.02] = 0.1005 V

Q1 OF (FIE TEIFACA (T J920 2?

(a) NH,Cl (b) H, U™ (¢) €O, (d) <1 MnoO,
TS (d) A 7S RE @B fGred Aiq @92 Aad TGRIE S[kFe I web FNAT REnd I9ze 271 I
WS HIAME MnO, &IFE6 5, 31 ZnCl, 932 Sfsfie NH,Cl @3 (P95 Wea ez =@ +i w1 221 Sidawced s
FEF @R Mn0, 99 4T IJRF IR FRITTH *POETR (Fawe] I 27 |

© | CTIfEIN (FRRT s 7Y 7aetF oo RusRe Fa0E FATT &N 23-

(a) FfE= (b) TEGITET () eafears (d) FReTEN2
Y3 (b)

81 U WRICT Rype sifeT® NaCl = 15, Tta s F2cer e & #ifase Na ot 2612

(a) 6.023 x 1023 m><F(lae) 46.0 g Gy (02308 (d115g

JANGHs (c)Q =neF=>Q = :1F=T=>m=23g

@ | FICRTE 1 mol H, 7 T 2re F! Al g &wdem 232

(@ 1F (b)2F (c)3F (d)4F
S48 (b) Hy(g) » 2H'(aq) + 2™~ Q=neF =1x 2 X F = 2F

b | (PG e ofee f[Hee?

(a) HF @34 (b) H3PO, @I (c) KOH @3¢ (d) @62 77
A3 ()

q 1 ofR AR Faow g5 (&FIA0?

(a) =i~ (b) T°% (c) Fr=mCe () =%
TGS (b)
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v | NaCl @3 &g g3 ofor e @i Seog 27 = 2

(a) NaOH (b) H, (c) Na (d) Cl,
ANGHs (c)

51 HCl (A% H, & dfogioM Face 2 1 @167

(a) Pb (b) Mn (c) Mg (d) Cu

T3 (d) 4rgd FAFTS! TN PR Cu 99 S=ZH H, 93 06 26T/ H, (& Cu (@AM afegisq Fcs At 11
o | TI0Ra 4@t 0K ORI AT JIZ© RS 2FeTel (FAba @M 2a?

(a) Ba (b) Na (c) Fe (d) Cu

TS (@) Argd Alwwe! Hfas o piiE 7 e [owg M9 F9/a[ed [or@d 9 @ @ 4hg e ReE 6 $6@ |
wigTe! Pt T ArgetEl SiaTe R F16 I | Ba Tawe! Hied aes §24td | o2 «ft epieare |

5 1 41eT 2RI ©fee A<= (FIF 9@ (T b2

(a) T 7@ (b) WEICES @ (c) A 7@ (d) P s
LS (a)

531 b Wi (F1ea 77 fefie el 7ieeibe 22: Zn + 2Ag * = Zn?* + 2Ag. Zn/Zn?*, 932 Ag/Ag™ ©fCeaz™
TR 87 JAEE +0.799 (OFF 9ag —0.7 (OFT | Sfer FAGT @6 o7 F© aq 71

(a) 1.499V (b) 1.599V (c) 1.699V (d)1.799V

A3 (a) O (N6 87 = ST &R+ FICRITE [k = 0.799 +0.70 = 1.499 V. SIS,

EMF = J¢ 9§ — B o9 = 0.799 — (—0.7) = 1.499 V

>0 1 FeS0, @dtd 250 A iR 40 GG oleal Tacs1 HCATT F© AN 4hg Gl 2C4?

(a) 0.868 (b) 0.62 (c) 173.61 (d)31.63

TS ()3 = == W = oo = 2 K0 17362 ¢

38| (D T CTgrs ©fee s I7zs T?

(a) KCI,KNO3, NH,Cl (b) KC1, K,S0,, Na,SO0, (c) KCl,NH,Cl,Na,CO5 (d) KCI, NH,Cl, NaNO,

AL (a)

3¢ | CIRITE WEBIF T[S (AF T T &) (@I 4Ngd AT SN 2A?

) Zn ) Pb %) Hg 9) Ti Teq:
Sv 1| e G ©fee il 7312

F) T L MEEINIE ) 20 9) & Te: o
391 @ ofee Rsrer Ao w2

<) HClo, > CH,0H > H,PO, %) HClO, > H;P0,> CH,0H

1) H,PO, > HClO,> CH;OH ¥) CH;0H>HCl0,> H,PO, Teq: 4
St | SfR REEIT ANR (@ A0 S BIet I& 21?

) NO;~ ) S0, %) Br~ <) ClI~ Te: o
55 | FICATC 1mol Cu 4G T FACS CuSO, BT F© WHICE e BTl FHCS F(A?

J) 4F <) 3F %) 2F ¥) 1F Tad: oA
20 | (ALY St AT GNF FAWR @72

JF) Cu ) Ag M) Zn q) Fe Ted: ¢
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2 | 059 (@1 w13 2B CgEE I @t fenfae w4t A 2

<) ALO, %) Mgo ) Cuo

331 NaCl ~ifee gdrge 2= e @mfs tof 272

) NaOH+HCI <) Na'+ CI~ %) NaOCl+ H,
20 | (TFHEE (IR TS SEFEC-

F) Cu @2 Pt ¥) Cu ¥R Hg %) Zn 932 Cu
38| T (TG 0 (I @9 qme 72

F) FeSO, <) Aucl, 1) ZnS0,

3¢ 1 a0 FIEEE ofeag?

F) Hg,Cl, ¥) HgCl, ) Hg,Cl

Q| ferfeRs o ibifre Hiere B ze 232

) Liclo, <) LiBF, %) LiCo0,

331 AgNO; BT 60 TG 5A gy DIt TR FICRACT F© &N Ag Tl R(I?

J) 20g ) 30g ) 40g
1 Eppyn = +0.76 G2 Epg/ng = -0.799 OGR (FTAGE (N6 fod $©?
JF) 1.677V ) 1.559V ) 0.039V

35 1 Sl g A A Gioq ARRIRE iR Fol-

) I =i Q) B AR o) gefaafes e

0o | f5d (FIAMG WRITER @ ANT=S!?

F) SR @old @

¥) qro7 ~AfRIRT & 2rrey

) @ 4 MY Yoo ARTS T SR CF(a &Sy =l

v) aFifeF wFel e [ Feate 7@ dw I

©y | T OF OfeR Reae Hg Sfecad I320H TG FICATT F ST 202

<) Na ¥) H, N 0,
02 | (T GfTE TR oI @F o $97

F)1.63V ¥) 1.50V ) 2.0V
wo | [6a @0 GREE i e e I9ge 21 2

F) NH,Cl <) NH,OH %) LiClo,

©8 | 55 M35 (I JBIF k7 T4 T2

F) Ni-cd I ) &% oI ) fafez Foifa

i PHYSICS
@ sHunTERSE

¥) Na,0 Teq: o
) H'+OH™ Teq: 4
q) Cd 93 Pt T o

¥) KNO;, Ted: ¥

¥) HgCls Ted: T
¥) LiCe Ted: o
9) 50g Ted:
9) 1.50V Teq: 4
) ¥ 2@ A™ Ted: 4
e o

9) H,0 Ted: &
9) None Te: o
9) MnoO, Ted: 9

v) el erm it Tew: 9
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fH iG] STe'd fAPs wIdE 213!




AGRI LAST VIEW

AORGRD (AT OfS AT 2038-3¢

Q@ A #fd

01 O GRS GIET (*TF G (FIFT AR 2B Feaes & e =7

02.

03.

() CRATTHICTS (b) GGFEB! (c) ATSTCITEHTIB! (d) €& AR
T&T: (¢) ASTTATTHAG!
@IER & I NS ASH T T (@FA0E?

ORLEEM (b) GG (c) BRI (d) GifGe
Ted: (b) MGG
m {foq wmgg [Reg am:
Y o =w LD} Rosm =i
MREG *feqq q AeTR 2T RNA caifoe tefem g fors
AR cefow tofaa F=mA DNA ceifow tofaa Wem 2
frefgam FED &l T FBCACIN YS! AT, @ISR
SIEIE]
CRATBIgeTS R (oo fofe Gifrs sffeml, FT=izugs
(GFITTA Feiaffes (ote fofe sfer 9fE w3, ALy,
fEFoIeTy, 3feery
IR afTe ceifon tofam siommE fercm WBe g fas
(a) AZBIENT FOTCA 15 ! (b) (IR e ¥ Teofy T4l
(c) 35T Wi tofa T4 (d) caAifoq Secead a1 ®es: (b)
B RGN e

@ (T *f& Teome 8 Fager

@ YA & ARG AFSIRA S (Fl-Gaemias ([ |

& W fAfoR R -1 e, TG GETCATS, SIS ioe FRIRIRETN T T4 |
@ fJor¥ DNA 8 RNA Seome, (72 oIt 2wy <4 |

& Sl ¢ TR 7T 2 T @I (@FIE Apoptosis Al fFEs @ |

CTSIT TSR AWy I FTSRIPETE <@ =277

(a) TMeArB (b) FIAALE
() (TIPS (d) SRS TET: (d) WRENAEE
m RfSq v Fewarss:

& WF A O AW ALTFIA! TTOHYTE — SIS |
@ BE TSR AW ALTFIA! FTSHIPT — JANSYIT |
@ (o TeIT UMy ALTFA FTOHZTe — TS IZTG |




05.

07.

08.

10.

DNA 99T o7 (& FRERT FE?

(a) Tl (b) TG Fre () eqBw @ fg (d) e
Te3: (c) U ¢ f5
m Rfeq wmgr wkgEs:
I CISHER k| ISEEE
(eiCBrgeTs AfF e for T
e (I Pl A IRBRIG R
st af SRS orefar BIEWGIAR TS
FSEATE f&foam w g FICALE, APTE IRRQIG
Flax &=/ 1t @e FFCNEW CAE! GifTe @ T 1w o5
DNA 93 3% (FI6?
(a) ceftfoa (b) TE afTe (c) Fefpebize (d) Fefpeze
Te: (c) fTefFebize

fTefabize = MEfFeEs + o TAEs = (THS JoIF + TGS @ + S T |
w1eey S abize ficel DNA tofs 23

e @ ReFamRes @we
(a) Y (b) M
(c) S (Ia (d) ST aAfes @Nfee TEsaw

Te3: (d) TR afeg @ fee TP
n TR @F: o, fog 89S @R, e, 29 RBC, @31 @91

e @ T =igh St wive?
(a) @I (b) GTTIAENE @ oFa (c) AN (d) o= Afe
&R (c) TGN

B ERGHCIN: Srgrars! AfAFT 1 [BAIZTH (FRG, ARG af ey SR @, aesrme/anree, @b
(S, AGENIHM, AT FeHa2d, FAENF FFOE € SRACTE Tawe 2fsrdy F1 1

@I (@D (T SN e feiet s =1

(a) CCU (h) ACU (c) UGA (d) AAG

Tex: (c) UGA

B 515 (FIeT 2 AUG | Stop codon ©f6 1 T21l: UAA, UAG @32 UGA | @31 nonsense codon J termination codon
e Ao |

@ AT RNA S DNA (SfF T2

(a) @ (b) GrETcere (c) farort Gretfaoms (d) ST
Tex: (c) fTort GEf@ e

B TS SeRE:

@ DNA 20® DNA tofi7 afewi- @fec=; @ RNA 2(© (21foq tofia afea- G,

& DNA Z(® RNA (ofq7 afeai- Gt @ RNA 20® DNA tof7 afeai- et Gefaame




11. o3 T DNA &7 afefl i =piova e 20=-
(@) 20 & (b) 10A
Tea: (d) 34 A
B 9GS

(c) 344

(d) 344

@ DNA €9 TRRE @13 WTe 2R Te) ST 8 fFF Spuo AT (e JFHT S T |

@ fsfb it @1y 9ioa T 20 A° (2 nm)
@ 57 @ 4% 20O W7 LT RS 3.4 A° /0.34 nm
12, i (FFTNTSN Fe (2n) FE-

@ DNA 997 3@ 7iod &fefl “Ais a1 g<cTa tnh 34 A°/3.4 nm

(a) 20 (b) 40 (c) 28 (d) 14
Tez: (d) 14
B (TSN 7RA:
Bfew/ 2= CERITIITSS At Bfem/ 21 A% CRITITERIS 37yt
A, *il, 6K 58 I, R Yo
<1, BT 38 fotare V)
STy w1 V) RIGK| 8Y
299, foamw 80 EIGERY ¥
13. (I DNA &Y IO IIZ© TJ?
(a) e (b) =S (c) ERGF*M «TEIE (d) aRe®
Teq: (¢) @G aeies
QTSN IS
am DNA @9 FSG J9Z 24 | G5 AR i @1 27 |
BTN DNA 99(F @ @ 2B Skl (0P Y& B AL |
e af5 e W ARSI cets e @ g6 52T e
SSBP/HDP qFF R AN WO (A = es 731w )2 effoze s
N SIS uY I& I 5’ A% (A 3’ A8 FEHe AR 7 GIe I FF 197 &
ItF | DNA 2% i |
B TTer™ RN AGlRYIE & 1
QIEK] (216 (=I5 DNA ¥ W4 (SFIEIF) Tl (2 6 (TS AL FC |
TR () WWDNAW%@%WWW,:E?DNAW%WMWWWW
14. DNA € RNA &3 S~ FIReGies wafo = &2
(a) ef= (b) BEHIFTET (c) =mfefm (d) =B
Tex: (b) eIl
B GG U

@ DNA ¢S Uracil it =1
@ RNA (® Thyamine QMCF €1

& fefae @1 - wifef, et
@ SNRfARET @1 - AR, ARG, FeaifTe




15.

16.

17.

18.

19.

DNA &7 FHF 4F3F I I

(a) PTG (b) =4 () &fees (d) fress

e (a) Prga

m Py foerm Ry uss:

@ (@99 (Recon): & FERET=T 97 @35 | @ f857 (Muton): o NEH*ET u< |

@ (Jf2$9 (Replicon): DNA 93 (@ 92* DNA 99 @ G (Cistron): o IR @5 |
wefersfe feREe e |

Rl elfermain T Bfem (1 o7 35 “mid toff 0 ©f N &) ey | e @A o seye 1w

(a) e (b) @St (c) Tardt (o (d) o=

Te3: (d) qﬁﬁﬂ

@ 55 *wWd 2 @fe, Bifes, <IN, s, SeecEe, Seifae e, TaiEt (ow, s fesoe 1 dus Af s fasbre
FIERTIN SHCED |
Central dogma of Biology 9% (3% 78 &1{5?

(a) DNA (A& RNA 38 =% (b) RNA (& (2ifs 2 =7
(€) (T 2 TR T3 &Y (d) @IEa R fage 3 cefos

Tex: (o) (@EIN T 7EIRR T 99
B IR Central dogma 2 AEF RIS GifeT ife | GRIGEIER (@R AR A

Central dogma of Biology:

@ DNA (2CF 72 20 RNA @ (ellfB = AR T =
@ RNA (A0S 72 =2 (&ifbw @ | (FIA THeg FREel 8 e IR (@i |
i B FRECTT mRNA &3 v R of® 32
(a) IR (b) RS (c) frem3fm (d) CBGrIRfE
Tea: (b) SRR
wpifGarcte SRS R
FER C"f"iﬁﬁ?ﬁ‘{%l
BEIBIEEE JZEIATT mRNA EF BTG |
BRG] mRNA 8 t — RNA 93 54 aresffes |
CRUBIR A BrETEGTR S5 AR |
(BFT 2 FIRTAGIG -t — RNA 93 73 2R-fe
@Y Rees @ Wi @i geF 96?
(a) BB (b) wiZeiGw (c) @G (d) feanfo
Tes: (a) TR
— GBI ARG T (el AR, (IR @ AR
— wRAA B =06, AZNETE o =W G2 AN (FICAE GGt oo o =06 |
— PPIROT (GO, FRISTIG Lodt T | TR SOIF 9H |
— e ererFa W0, Rl @ =geeiw e =
— BRIFIREAPH fefes ¢ fFefEm o fRefe €6 |




20.

21

22.

23.

24.

25.

RGBT @R [Romes @ [iw afsl @it b weiey @it sfFre a7

(a) Prophase (b) Metaphase (c) Anaphase (d) Telophase

®&3: (c) Anaphase

B TS/ 1w FofFpeant s MEfFe crEer fe wre v 3@ (o aem oF 27)1 3 afefs
(TN 20 Y26 0 Faee [ee 20 quaee (@@mibe 9 |

W (AT en g Fios wEe 32 20 G2 @R Jor @9 w7

B GOIEe /TR (eI o SRR 2fer FAwE AGH 8 6T 7W, CIHRPREDDT 906 1 (@ T e
@R YR 9%t 9@y 0@ G2 CgEE fqeifere 231

B SIS /fSo/ R (@WTIeR GRed 561 &% 271 GRPY! 10 (@S V, L, J, | Sipfs 4Fe 6|

B G/ /agsida: FEFeaer smeafei 906 | MIBRIRERT 96«32 WG A A Ol 2 TR |

TG @R [RereTs @ it AefFesmr-az [Efe <bte Aws?

(a) Metaphase (b) Prophase (c) Anaphase (d) Telophase

ed: (b) Prophase

@ (TR P e ¢ Nefgae aaresas K@ w6re A |

@ (DI ofFeaiem [Refe 906 |

& GBI SR 7o) [ee A |

TEFRfEE @ & @Ee afiy Aee?

(a) W0 @3 N (b) =T W2 fem=ite
(c) TP GJ2 FAMo (d) FIETTeT qe M

Te: (a) WSO G2 T
T i S (PICT CERICHTICT FLP! QLRI FOR?

(a) T (b) SEF (c) Tage (d) vRes
Teq: (b) WEF
B SISO @ NI af @Ay Sl (PICT (GHITHTNITTR R NQCHICAI— I |
eI FEfEe @rEygE e
(a) Necrosis (b) Apoptosis (c) Mitosis (d) Meiosis
ed: (b) Apoptosis
B (RS T
@ Necrosis: %39 9oR 24 TS @67 PEE @ Qncogenesis: DOV 2 Qe |
(IR Y 9B | & Metastasis: (M(23 Kfoq wers BN 2o 2wt
@ Apoptosis: Wb 2N @EE @b TafEe
T
FRBIAE RFFACT NGew fo @y e alfane H e
(a) SRR (b) FfreFRem
(c) SRCBIF (d) “iceTeese

TeH: (a) ABEFIEEART
& FRGPREACET (BRI AP Feaw): FeFae=

fererem | @ gierCyI: ABCEraAreR e |
& HARBIFIREAPPT: ABGIZE Ko | & PRSP FTeFER e




26.

27.

28.

29.

30.

31

32

3k e ot @R [ <= =

(a) PramTEfos (b) girercE

(c) PiarnEs (d) RN TeR: (b) Arewifeas

B R FEFrRE Uevn @R Pramits gk Ir HefFrRe dfd @ e i Peapnsss i
PPN I

eed Fel (2 @ @IER?

(a) FTF (I (b) A

(c) IRAN &= (d) &9 9 Tex: (b) IR

o fJerer FTeRAT @ a1 (@I ~AfFre T @R A WG (ST, THY) ANoieed T, PR 8 Zwesrr
(1R | e HeTle T (RBC, WBC, Platelet) @32 Sfetwa Ziat (1 |

(I W DNA SqRT#ie 579y 237
(a) S — Wl (b) Gy — Wil () Gy — W= (d) calieTs
Tex: (a) S — it
B 2BREw 7 R[Rfey v e
ot Fle
G, — wl c2lif59T, RNA @ DNA &fefieitaa 7a Toiwie tofd 23 |
S — vt DNA @fsfeiof 5 27|
G, — 7l e ef e o ) awsam ATP toft 231
(a) &->0% (b) 50-5¢% (c) S0-0% (d) ©o-80%

ed: (b) 50-5¢%
EID: e 2R ¢-So%; TVRTS A 50-5¢%; G; M ©0-80%; S Al ATHTN Wl Wo-C0%; Gy W 0-30% |

(a) feome &7 (b) FF Tfen (c) TR (d) =g
Teq: (b) A7 ofen
o fosmme &iw- it Swtem @ IR 8 RAITH (MC2- TWIRLATHDS ST |
@ AT Bfem - ifas seifeT
TGS CERITAITET (F Tfoa?
(a) ') wgpfes (b) 'E" eTgTed (o) engfes (d) ' wrgfen
Tea: (a) ] wIFhox
m {fen o @me:
(IR I agfe
T EF QA (TOICIGE V HEd o
TN TGS Al A EOIG L SE9 T©
T ARBF@F A WGFCNGF IS EISERS]
A EF Al GEGE | A9 IO
Rt @iy Remees &% e
(a) CIFITIICAIN 2T &< A (b) wifeie

ORRRLER| (d) s Tes: (c) T R
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35.

36.

37.

38.

B SR

v @2 N5 e e I v ffd2 @ e e T v waors (afbras fgfeRieret

v R V' (SIS A Aol 50 v GRS FHIR

v et ¢ AR v OFH 779 v Gl 38 e T I A
SR T v IR I

m e

v G 2 v (aforas 2 v GesE

V' (EITICAIT e &< 0= v ufede v (ST 3

v eifen el o A v oG R ¢ IR

O3 97 (MR ANPS W @ Toimi facx oix Wi R?

(a) c2fos @ oI (b) &ifoT ¢ Fefgs oo

(c) 2 ¢ T (d) FTefF= afre ¢ w6

Tex: (b) @ifST ¢ FTefpe afre

fae @S DNA ©iZar

(a) 215135 & (b) o (c) BRI ez (d) w%

Tes: (a) @IGIEMA 5

B DNA SiZ35%: TIV, Sifaea, T,, epfafamn, afstn, o [, geefr @eids, afSe i Parvoviridae (g
($X174-€ M1z FPI) SIZAGTE DNA GF7ES |

B RNA SiZ3: TMV, HIV, (9%, (Aiifene, I3, i<, Bpefrii Reoviridae ¢Ita® (R e©IZA1, QIt= I (Ao
©IZ3) 1A RNA fo]as |

(P Ciiead SIZAEH RNA fopas?
(a) Virion (b) Prions
(c) Reoviridae (d) Parvoviridae

®&4: (¢) Reoviridae
B JYP: Parvoviridae ¢IGaS SIRATH DNA dFHGS |
B Reoviridae (It&9 SIZAT RNA f@o7@ |

FNARTE 2

(a) FSfF «fre (b) SRIACA (efba wz=et

(c) TITHI5 ©rzam () FIEIBAE ===

Tes: (b) ©I3ACGHE (allfbT =<

m feq o< oiRam:

@ fFoT: ol SeeAmEIa! (e | @ Capsid: FTFs e faa @ifba o=ed
@ Virion: FGENTFY ©3q el | @ Capsomere: Capsid 93 @35 =Fa |

(a) HBCACE (b) EBIRCTFRA (c) 2R (d) =R
Te3: (b) BT

B DR 9 «fFeras g «ft eiRarts Mg F9ce A

(a) TR (b) IR (c) fexe= (d) IR

Tes: () ferreE
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41.

42.

43.

45.

BIRIAGE W e
TMV, ST (NEZF SR, T4 IR LGORaE
colifeie, TIV, HIV, (8% 1311 (ARSI
e, eI Szam TACFAFR
Ty, Ty, T ©IZRM el
BT IR INEISE
s e oizamihe IfReg R (712?
(a) Human Immunodeficiency Virus (HIV) (b) Influenza Virus
(c) Tobacco Mosaic Virus (TMV) (d) Herpes Virus

¥&3: (c) Tobacco Mosaic Virus (TMV)

& 3fRgg WRRAJT ©IZAF: TMV, T, IZA0 |

= RsZ WAL ©iRAPY; Tvgreae ©IZA, A, HIV, S 1 HIV @6 fRgreizanT

e @efs Tmifek oz w2

(a) Herpes (b) SARS (c) Nile Virus (d) Ebola
©eq: (a) Herpes

W 0 (AR (A0 A T (AP eifors el RFE OIEAeTS T % Bfer AT |

B e ©IZIFT: HIV, SARS, Nile Virus, Ebola, T SRR SIZAMT |

(@ T, T (b) My3 X @7, ¥ (d) Te T
Tes: (b) M;; T
@ FMfoF bk T,, Ty, T

@ TGS b&: G FR(A FX), Py TR, M5 T

TS B9 ©IRAT (P Tfewm e B FeR?

(a) =1 (b) BB (c) @9 (d) @ed
TeR: (a) el

B Efemz JAfon @it BRI GIeiEs-oiNss; 9 GIEIes-P1; Bl SIZaM-419; AT60! (ISied SI2a-9i
oizaeT 2o o et age v =2

(a) IR (b) &S (c) BIFT (d) ==
Tes: (b) wfes

(a) TEOF (b) BIRFEE (c) (=% (d) coiifere
Tes: (b) BIEFEC

m Rfeq a=ia c@t:

= AN S @oL: (TF, IATF, CTARF, TeF, &f6 TS, TERTS, AN, TG, WO, F OIS TS
@ PGRA AP© st T, e, T, s, v, s, i

(a) Azobactor (b) Bacillus
(c) Clostridium (d) Staphylococcus ©&%: (c) Clostridium

B JGONET SR SR, SfFCee AR A6CS AR 7 1 SwiRAd: Clostridium
B JGONER IR R, SfFCE =Tl A6 AT 7 1 CWiRA<l: Azotobacter beijerinckii |




47.

49,

50.

T ORI G0 T FCSE AF?
(a) Spirillum minus (b) Vibrio cholerae
(c) Pseudomonas fluorescens (d) Bacillus subtilis

®ez: (b) Vibrio cholerae

@ SOIGFIT; QMR (I (I FICSE ACE 11 SRRFY- Corynebacterium diptheriae

& NAIGFFT; T (FIET OF &S QIO FIOSTEN ACF | BARAY- Vibrio cholerae (F W FCHE)
@ SIFFIRPNT; 12 AT O30 I FICSE™ A | SwiRFe- Spirillum minus

@ AfGIPT. T MR RS FIsE ACE | BR@- Salmonella typhi.

Wiftre B Fifee AiRtEem AT JFORA FAD?
(a) Azotobactor (b) Rhizobium
(c) Nitrosomonas (d) Pseudomonus ©e3: (a) Azotobactor

B T &SR 3t TP™RIEE: ST FFERT, Anabaena, Nostoc, Azotobacter, Clostridium, Beijerinckia.

@ RIEfbs: Rhizobium, Frankia

@ FIBCGICSH FHA Azotobacter, Pseudomonas, Clostridium 29 JIFBREAN AP A1y 200 ARG 22
IE

@ Rhizobium P19 GIOR Sfemd Y17 AGOTH AIRCGITEH FIFHA ¢ |

@ RGFRe JFGRA: Nitrosomonas, Nitrococcus, Nitrobacter.

@ A6 M clostridium 93 o & Bacillus thuringiensis JFHEA JIZ© 23 |

(a) Azotobacteria (b) Clostridium

(c) Rhizobium (d) E.coli

©ex: (b) Clostridium

AFfeF oA @62

(a) Clostridium tetani (b) Nitrosomonas spp.

(c) Streptococcus lactis (d) Bacillus thuringiensis

®ed: (d) Bacillus thuringiensis

m 9HG oY

& AIPeF AOAF¥F (= Bacillus thuringiensis. @ I3fGHIZL JIFOGRA 2N Nitrosomonas.
@ yFee Mg TS 7 Streptococcus lactis. @ DPT ferays e Ize =3

Clostridium tetani.

AR QMY AR AT 77 ST I g 752

(a) TaF (b) AFZR (o) 1& (d) IF©

e (d) TP

B AR ARG [kioy v

@ R GRIGT T & A N b @ PR TGN AR HGd AL GIToF
Tfedifee 23- TE | ITICETIEG |

@ AT ARSI 9E TFCo | @ AR QRIGE HETATH AR R

@ ERRT ARGIRT @ SGEE TR QAR AN AeafEes |
CHAATEB | & SR FRAGT TG AGAN W 2 T

f ilam. & E (IS |
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55.

(a) CFTICATCHIAIZG (b) AZerS (c) AL (d) Geereerazs
e (b) 2o
B IR AR@RE [{fow vt e Ay
qrsf cafiey
AT W AP, AR ATHFS AL WAl
f@ebrecs CoTIPI STphe
RIEET BERREERINISIRERE
leRkai RBC'A &% Wi
[ERICIAER CEISECINFE RN
IREREC FEFSEs SAFA Pl (A AR, A NG WA #4127
TSRS AR 3379 2T, T G A
(@SB TR ATH e, ferie@e 9we I8 Fe 2W
Plasmodium malariae-4% J¥F F© ?
(a) 18 — 40 (b) 12 — 20 (c) 15— 18 (d) 11 — 20
Tex: (a) 18 — 40
B GG U
TR A AT T BiASEY
Plasmodium falciparum R SR SR B b-s¢ e
Plasmodium ovale 2T (J7) Biffare speaf -3y e
Plasmodium vivax IEQICCRRI R DR (GIGE] y3-20 i
Plasmodium malariae @RIGH Spreafa Sb-8o fiid
SICEA RIQMF Sersie wiReoes & e
(a) ©ehPS (b) SSFCTHG (c) = (d) Ciarean
Teq: (b) TefFeTn
TR R A & BB R 2
(a) TPCO (b) R =TT af3rs (c)-CiES FAPrR (d) @
Tes: (d) @l
B 9HG oY
@ R GG [iE oiree- =B @ R TR ASHTER |
@ A QI NYRE ¢Aw- Ao
(a) Funaria and Riccia (b) Anabaena and Nostoc
(c) Spirogyra and Navicula (d) Azolla and Polysiphonia

®&q: (b) Anabaena and Nostoc

B 21 @ cycas @F A4 T AE | O 32 FFERA T TFFA ACH AL 78 @ W | AR GIRIE T
T o 1 FRE SR @O A (FIRIEES 4 A 0 BT 0 | (SRS Yo TS N
anabaena & nostoc AIZF I | OF CE BF 96 |
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58.

59.

60.

61.

e @bt st =1 =3

(a) Cycas (b) Pinus (c) Hibiscus (d) Ficus

®&x: (a) Cycas

B Cycas Sf6t *MGSIR! &) Cycas Tfew CHATEHF | (72 7, Fle ¢ o Fow | Tfegn el «iw arei
G-=a WSl I OTF AF (Palm — fern) I 271 A6t T 2F 78 To1 Toofy =7 11 weie et 73t 1 oAt
2, P (@I, F0ER AR e FAfeiaica Afeers | S Arom S =Bt (Fefere) | e FEire= B
Ry ol ergifae (PTG &1 RS | Cycas-97 S Senpee FE92e, BT Jrel, 751 © IRgHIcewenffe |
ifECafeS "'[@ cycas 99 @6 @i ¢af*igy |

T AFFOFOII ST FANE Sfegn o Ay F?

@)s5™ (b) 10 © (c) 8T (@ 15 ©

Tez: (a) 5 5 (@0 2ie 7 e BB RETBT T 4ers TA)

faf s 0 By oy 6 4/ee 2

(a) TAES (b) fegme (c) fGzwe (d) TS

Tes: (c) Gaire

& oG Sfeme 1 - Gare |

@ 3G Sfewa (IO Ephedra) @ AZFIER 17 - 2R

I e (AT @6 tofy T =A?

(a) Cycas circinalis (b) Cycas revoluta

(c) Cycas pectinate (d) Cycas media

Ted: (a) Cycas circinalis

B Cycas circinalis 93 FeFW ¢ & S IFLFR GAFD () 4TS T 1 @F I 2ret Ao Awt @
S 634 R W9”© VW1 Cycas revoluta 93 J& 1w ReTE T72e. W Cycas pectinata Sema
Ffosiret e fReia w2e 21|

CTIB: TS SIgeIGH CAMIBF ST TS I |

TG Sferma 8y mie?

(a) fafvzs =1 (b) & 4l T

(€) GRS A AT (d) aterif 2ngee

Teq: (d) aErin rs

B Characteristics of Gymnosperms:

@ ST T I AT T T A | @ SO, AT 8 TS (3 |

@ fRf(a T =1, ©i > Fgws | @ SR TIME o5 A ~ffos =71

@ TR BICS (ST (73, IR BHCS A @ YW CHITAFIRE I SOTIEe 2y |
@21 (Gnetum IrSTe) & & T IR A |

gy weefe we-

(@) I (b) FEcEw (c) oS (d) 9=

Tes: (b) AReaN

@ QRCHN: AW, TTW o f%ars: =i (R =] Je T @ies)

@ qi9: (RS, A @ qioe: ATHE
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65.

RFTC (T (AR T AN T2

(a) @52 A (b) &I (c) A= 3 (d) wrZIfie =
Tex: () s =
e (e e o GO T (FICEH (M
&0, 0, T, AT FAGo@ Sfgw
I (AP T T7) S FIfes T#) i :
o e T (ST LT | orord B
offos =ge o)

m g7 sAreE feaf @eel: (i) “@¥= (Base) (i) “@J€ (Petiole) (jii) *@F@® (Lamina) | *ToR @G AT ©IF
et I JBI 7ol Jea1 (BT 7 AT OIF GFAIZE  J8 Aol e |

e @wfbre wpeewa e of@ Rw?
(a) careTst (b) W= anfs
Tex: (b) IR AP

B 9HG oY

o foefet fore It ST @ o, @, wIw, o |

& G forw It QAT =A@ colfeti=l, I, Feie,
e, SISt

o agust G of@; < @i

< @AfbFED form i e FRifme: &&Res@t
e (3

(c) ¥R (d) et

& WREAFA N ~Ad: ColEe
& favre Qe =@ Fxepel
o {@orea Qe =@ e

o WEEE o T oweRE  RRReweT
GG Sfema afsy

AR g TArRAet-
(a) ot (b) &l (o) YA (d) 7
Tea: (b) Tl
m {fSq @@= ?I”i?.{@i?f:
TR Srrat TR Sl
@™ A Ffpe sitat, YA
S| X EiElkEl HAIZCAA ol
NEHT0 i, o) =
TSAM > TA-
(a) A (b) 414 (c) &l (d) e
Tes: (d) i
B ST SR SR $EE Snid:
TSR SREA Tz
T°{m,/ S« /Hypogynous e, &, 4|
OB/ TE-=fYS/Perigynous s, conetot
SR/ S/ Epigynous PG, AR




66. AT HARTIGR SRz FHB?

(a) AT 1 (b) FET! T
(c) I=ET = (d) FTETRRTH T
e (c) I]E T4
m ffeq @ offSren:
aforeq CLETR
0o A YS I i, T Tagfe
SIECSH Al AT Gl FER e, W™, A F4, @l
B30T At A TRl PR HETN@E, I
FEAF T o, At
cofgpetfa oG, Mm, wredl, werifere!
67. & TR A KPP @2
(a) @ (b) oI () T=edn (d) T
Teq: (b) TR
m [foq (q@s g
LOEIRECiLS \ZGEEL] ot R TAraq
ST a1 G AT ToafS, RIZBE A TRAS T, FS
SIEIZE SR G, (! SRR 1 A [T, o
fF-CTEe a1 youy O, R AN SuIGIRGIES faar, «m, SR
afsFne A Aris e, aAfevsitel
e @i Al Ffde?
(a) AR TR 2Tl GNCo! (b) o a6 e T
(c) et @5 frF we (d) Fiferpara Swrzgel =T €0
TeT: (a) [T TwRad T GO
FEER TN CLETE FEE AN IlECK]
4TS (TS (AT TLAT) o, T, g LTS (IS TS o A, Flore
g% 2 TiH)
oftze (936 ot 2o qrel, G Qifore o1 (Tue = gt B GBS IDIGE
TG ) TS GFH T)
ferfores (Co= (e e %, 6= PRPPTA (B4R (AT ToI0H gdl, (oo™, B
9o % il 23) 77 3 famef 23)
ferma (ws fwdh) s, S MIEA (W% Sfmia) g0, Med
i I, @ e, BTt
A Plowe, S cstean AT, =N
g N, I 8 IS ceAfeIS A, ORI

@ A fRdrer=ial Sfewa e
= FfReofFr: yFATe@r Sfewra tafsy
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74.

(a) et (b) AR (c) TS (d) TR
e (d) BT
T [ i):35 Elb M3y
Brassicaceae (Cruciferae) e Srer ¢olig Gramineae (Poaceae) qA (NG
Fabaceae (Leguminaceae) T T (ollq Malvaccae 4TS ©F Tl
Solanaceae T_fE ¢ ONF Trer Liliacene A 8 8FY TSI
Poaceae (@R TeTHA i3I &AW F06 & R Iwer?
(a) =hfern (b) ferfor®at (c) cra (d) Ffores
Tes: (o) @
(O BT (ST -
(a) Hibiscus cannabinus (b) Hibiscus altissima
(c) Corcharus olitorius (d) Corchorus capsularis
®&a: (¢) Corcharus olitorius
W i I AT O
el fewra
Crotalaria juncea W 25
Corchorus capsularis iR
Hibiscus subdariffa G315
Corchorus olitorius coral 2B

TSN (NS AR 8 NI L3RS B?
(2) AT, TATPR G2 FBES
() LTI, TMTIFR G2 FHI QLN
Tea: (b) GFAED, JFTE G2 FBFS
B S iR Sfema

@ AL JFTR AT AN

& SN TR G FBRFS

& QAT TR

e A B =1 =

(a) @l (Epithem)

(c) FCGH (cortex)

Tea: (d) Nt (mesophyll)

(b) CF LT, FFIFE 72 FTHE©
(d) RAGD, JFFTE GR  FoIEAA

@ eAq R FEE0C 1 AP
@ e I, @R
& Trrgg: T3, (oeH, T e, e

(b) AN (cambium)
(d) TR (mesophyll)

B TSR 2SS Boe ot I e Ao HfEeTe ¢ =G *fEaees FEed ATE | TAR 7D Ao 8y
G G AR B 27, ~HfeeTe 97 e A | oetie B e afe W tedl I

T ARRAREAT T F?
(a) «foreifs

Tex: (b) «frgst

B G IS AR @fef 9

(b) «feteza

(c) TRl (d) 6




75. Solanum tuberosum (P A& (IW\HF FN?

(a) (R (b) @& (c) CoITeT e (d) O=IF
e (c) ColleT @i
m e fen Sfema twmfas I e oo
e (T =
Allium cepa ot *
Liliaceae -
Allium sativum liliaceae
Lablab purpureus Ry
Glycine mase i
Leguminosae (Fabaoeae) Pisum sativum i~
Delonix regia FRGT!
Brassica napus wHfaat
Cruciferae (Brassicaceae) -
Raphanus sativus PGl
Hibiscus rosa — sinensis Tl *
Hibiscus mutabilis BTN *
Malvaceae Abelmoschus esculentus FoT *
Gossypium herbaoeam 5 el
Orayza sativa qie *
Poaceae (Graminea) Tritium aestivum I *
Zea mays oI *
Solanum tuberosum (ol &
Solanaceae
Solanum melongena @S
R TN SIS Trs 307 |
76. Sfeta Iieed Al o oy i o il
(a) SR (b) A (c) (d) 30
ed: (b) Wi
77. Casperian stripe @ q¥-
() 3L (b) FicS RIS (d) e

TeH: (a) W& W GHG O
@ 5 W@ WA IFWHIHT 6 (TTARMHE TG TAES | (FF TSGIW (FIEF &% ¢ Arfaiipla Jafze @
fereife 7@ 2 1 fFom Seot @ @3 AR T o FypTeele fae
& ARG (P (FRYTER LD ATSHAN AE WA TS GTa1 I | AN ABIGEEF AR CTOAF el (7l
Y, O @ BIF AR AR (starch sheath) 6T
78.  GF TR G TF-

(a) I ORUSE
() T (d) @TBE 77 T&T: (c) T
& H SEEH- G/HE aFfod & AR (FI ¢ HZF) TECETH- GRIF 2pfon

= P T2 GO dgfos = (GRTCIFIIBS TRET- (THT eFfod
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82.

83.

AREERR @ 7fS TR - @ AT O S1(FS J( O -

(a) Diacytic (b) Paracytic (c) Tetracytic (d) Anisocytic
®&x: (b) Paracytic

@ Diacytic: IRMHIEAR @ 76 TREIER > AP TRAFS A |

@ Paracytic: SRR @ 9o T8 @0aF AN AASAE FqRMF© AT |

@ Anisocytic: GO fexfb AHfCHT @F == AfcEEe A |

@ Tetracytic: GO B ARG @R 7= “fFcafEe A4 |

@ Actinocytic: GO SR &SRR ol (Y 74l 2P A |

@ Anomocytic: GBIV AR@ETIHI (FIPTZ AGRT TS (P (AT LB 7T |

AP Y& OIFE A e -
(a) GFAGAT IS (b) GFIAGHAR A () fadier=f@ I (d) *frs™
Tex: (0) fadiwsi@lm St
m SrFTR foopew:
a4t et TA-ifer st iR
I BAGE (FTT SO IS FOI) 8 TAIAG!
e ANA fema I |
BK NFE 2T GFAGTAQ! SeWd FICS |
B PR ST
YEEAGS A Pteris, Lycopodium, Selaginella, Psilotum
FIRET (FaS
T ETHICAfGS A Dracaena, Yucca
FIEW (FfaP
AIB A (I 4RI FIRIAA?
(a) TT (b) TREET () T (d) I°6
Tea: (d) A0

W P {57 S AT FIRAT A FT© AN FIRA | TT [TO SR FIZI |
fAefFamf@e @i e SRe [ w3

(a) AR (b) Hreaa
(c) Gfwe (d) SN &
Tex: (b) e

B YL WEETCR N 4P GRS (P FRCET AEATFEN 992 R T GING T (@ G FILI |

fadw-i@ St SIes aAgrRMA @ B (YR A ~fF=fFre 27 oF T 7

(a) “fqa2s o1 @bk (b) “fsve (c) e (d) @S

Tes: (d) TEsed

B G RS Sied IIeT AW @ V@ o vial +fefFe 27 ©F TIN- 9egs | AdRTe, fRaasar
AITRF SIS AT vl Afee 27
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87.

e g i e

(a) feres =Frel =iy (b) (FIF I A I
(¢) (FIRF I I I (d) T R=IFR 27+
Te3: (d) @R (IS 29 39

B G oe B5f ¢ 3R Bofe WErete oo ~ere =@ |

CIAGA TR FITT OIFAR I PO AT AF?

(a) IS (b) ST TIFIT
() TSI (d) Rfvzmrera =er A

Tea: (d) ffzFee 2ol A

N GG O;

& REPH @F - A= edw Sema Jag & QRTIAT I “Af-sIa7F — T, g, Seaes!

@ e @Y - oI¥, 96, @Y

B (TR B9 20e I8 0F OFAN TR (T8 78 GeE 51 a0 |
@ JFOAT T - AYIGF, FEH, ABIGT |

@ qRFoAT Gee - (ANIEE A DG, T A (gE, Wow A4

I DR CNF QR IO TEI?

(a) Na* () K (c) Mg** (d) ca*t
Tex: (d) Ca*

LI 6

@ Foaifere ¥ oFE: KT €92 NO3 @ WERfere (Aiff® BFA: Ca?t ¥R SO3-
(I ATET TSN TR 2ol 8 T AT ATE?

(a) TR (b) TR (c) TR (d) i
Tea: (a) T

B It [fen Sfema Soiwt Gliernz:

o P - TR T @ FRB - TG FE FEes @3 o
@ EIfERN - C, Sfema &= & AT - AL R &)

@ CHO (Carbon, Hydrogen, Oxygen) &fen I 2re 424 IR | &0 GRPTR Sfen SEAIE W4 i ReR
O ¢

fRferr sfavitae sTeam 71 &= {B?

(a) COI FGIZ (b) iz [z Team

(c) T &R ToIM (d) TICET Todw

Ted: (d) FAeT Todam

B

v Tfem 726 afer o1ae offseerae =3

i, AR AT PR 67 or@em 201 (e Todm, (25T —SHaRE @-GFHs Todm, @i s
SERL)!

i, T eI ReFR e awem =7 911 (M Todm, IR [Twa Todqm, ©F ANRE Todm, W
2AJIR ToqM)
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93.

@ aferaR e Sfewm Tt i AfF cirge I

(a) TR (b) fEfFe=q

Tes: (d) SPTim

AGIFHA VYW oF FooT AT 7?

(a) 30 — 40% (b) 40 — 60%

e (d) 90 — 95%

N

@ AGICHT YW — 90 — 95%

e g Jt e armw - 5 — 10%

T (it oFe 9 A [F Qe IE?

(a) Respiration (b) Transpiration

®&3: (c) Guttation

R

@ MG — FIYNAT I o3& A @9 2@ ASAE AT |

@ FqIF — Yo TRIER T @Pe ¢ ffae [ow feue EORGH 1 JaE 0 |

m 9HG oY

@ 7ol TG 4T AT o |

@ ofAR STBINGR qF AR &TFwe TR ey F=1 I3 |

& fIGe! S ATTIACS “ATNGAT ST AT |

@ gEifed ©oF 99 BeF Areid ofe I @AfGRLH
GEAIFTI S000-Y0,000 b HGTF AFCS AT |

(c) atzvd

(c) 80 — 90%

(c) Guttation

(a) SCAMFS TS T 20 (b) Si*I@l g ot
(c) W6Z iifF T 7= (d) I-fAG% wreire gt 2ee

Teq: (a) WS THS! T 2
B I AT T AR SISl 8 HREAGER Bl FREieifss |
(@ Blre aferat seafbe =x7-

@ @FfoPed AT - 0 — 0.1%

(d) =TT

(d) 90 — 95%

(d) Filtration

@ GG A (A ATE FFE So-d36!, R 2-951,
AATPHD TeW TS AqaF (et ACH |

& 1 ST AaaF e wAwe I |

@ kt SRE AqqF (A 9 I TA@¥e I |

(a) NREGTS (b) areigES @b
(c) *=ifer Ifere () FZAFE
Ted: (a) WEGHGTS
m foq R Fesem 3=

= am FTRASTHA

(T3 5 MG
ARERAH AZCBIZET
N3FCe6 Oxidation m TG
ETS TG oo ow

(a) @ (b) T () T (d) @

Ted: (a) e
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97.

100.

@ PS — | @7 e @F@a @fee—a 99 700 nm STHR@CII QT C<IFS T |

@ PS — Il @ 680 nm SITMCHA T AF (*iifye =71

Ps—m PS — I1 & 1< TS 2T |

eneERd afer e 0, @ B 52

(a) H,0 (b) CO, (c) 0, (d) H,0,

®ex: (a) H,0

@ CAFHCEA dfe Toere ReTd 0, fofe =1 e afee & 0, H,0 @it ¢ s
AT |

e @ FoFweRET g Rew s @

(a) TEWe & o (b) PR AZRIC
(c) FAI2PE (d) e sIgw et
Ted: (c) FIRERS

& TR o Sfewma s o, Reews e et
@ FOIATCRIP OHY: FAEPS
& PR @F Z: GFIRIZIEET AZFTFEAC

fow @R veie ffere?
(a) FRefE (b) AEHEIRIEA (c) ACOHE (d) frriEfa
TeH: () ACOHET
LI 6
ETEE T sifava
[REeiEaElin| TS (FICAF- a 99
ACBIH A afs (@6 bemIE e
ACSHA (PC) TOIT FEATAE F& (@ (Al
RGIGN cTeaioe 2w areifif*2 ceffea
TS IR AT (Ao
NADP reductase oAy «e AT (@FI-GTess FAD
e @ sTfeites =& 77 F@ ADP 93 e TEF6 @F TNIR ATP B T2 affeFar
(a) TOIEEN (b) GfFCTS FITRIZET
(c) IAFATETA () TP CFIRIZ T

TeR: (d) TOTTPERIZETH
& JIEECS AIGE *fe S HeS 2= P680+ @ Mn**taRR Cl- 9RF “AF SHE RSt I |
FACEARPACETCET FENF @ Ty 27 ({572

(a) ~AifF @ === (b) ATP € *&4t

(c) NADP € *&4t (d) NADPH,, € ATP
©e3: (d) NADPH, @ ATP

TS P T (o0 [ oy 2w

(a) CO,'¢ BB SR (b) T @fte 8 Co,
() 3AZA WA € H,0 (d) CO, ¢ H,0

Ted: (a) CO,'8 33 SECHIRE
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103.

104.

105.

106.

107.

108.

(FeTfon B AT CO, AR (F?
(a) RuBP (b) PEP (c) 0AA (d) 3 - PGA
®&4: (a) RuBP

@ (ST BIEFT AW CO, ARSI — AZIENS 3,¢- o7 Tt ¥ 2y A W - o-Tot fzhnfas afe (3 —
PGA)
@ 5 8 FWIF SIFT AT CO, Ae - TR AZFoF AT (PEP) @32 &A¥ B *mif - wHieen apifies

ifTe (0AA)
57 @ IS @ WiT S T AT T
(a) T 6 = (b) CO, 93 T+ FRIHETS G wFel T
() s SI9II@l 30°C (A 45°C (d) €O, 3 @&z PEP- FRfFEs

& (b) CO, 9T T IRHFES GF Wil NG
Wﬁw & 8 B 8 FIF 5i&d NLF SIS TS 2

e @R ¢ Sfew?

(a) e (b) TF (c) g8 (d) Foifey =T
Ted: (a) Afet

B g

@ C, Bfgw: 4, o, Af, @, @, sioe T @ C, Sfgw: fifs w1, 35, 961, 3o % 3o
TG SO T T-

(a) CAM Sfetm (b) C, Sfem (c) C; Sfem (d) FReTEICS
©es: (b) C, Sfem

B IR~ IS N @i B 9880 @it UGN 301 | Tie SHeB C, Sfewms a8y
IREFIRFT 8 (T HId AR SAMI FHB?

(a) ETS (b) =HIBIEE co — A

(c) “ZFlos affe (d) g Ne o

Tex: (b) IR co — A

L1

& JIRTTEILPT (T ARWIEST Poe I 27 1 PIeTa @R 4ieifs wfFreTs wsiffere 9 |

@ (@ B (T ARG APTC 5&F 8 I 2 IR (@07 5ad AW Teifrs sl siefGs «fre |

@ &fefb (@< ot 28 ATP Brog =

et 24 GRTCAITRIBE ol (Fiefo?

(a) Fere (b) T (©) Tt (d) TeBTE
TeR: (c) Y@

B G SRR 241 GRICEICHIET FoAIF B @S | @ & HS (T A< oA 38 et <&l =31

RS A qF I & T e T CO, @ #Hif ToAW e FB ATP o4 23-

(a) svf (b) b5 (c) ouB (d) oo
Tea: (c) wufb

o] FEmiET T e &2

(a) Borlaug (b) John Ray (c) Haberlandt (d) Hutchinson

©es: (c) Haberlandt
B I AN A% TE |




109.

110.

111

112.

113.

114.

g IBFCA 52
(a) TABICAFET ST ¢ AL et (b) MCABHCTTE FRCFE @l
(c) MBS efifersrion efcars! (d) G Bieecem e

TeR: (a) IEBIEASE el € AGF 2wt
B & 4T iR J AAGRETEAS- Tl ¢ AL el 1 w2 1 o AedeeTEE:- FlHewa e 4w
T W (@ 8 (FARG- BT @ e I s =

foop e afera Frge Tew Seom Tt I IR Tgew oI i 2

(a) *RILN FEHE (b) A PTG

(c) FfRCoN FETBR (d) e efFEs ©eR: (a) =[G FEmR

B Gt 5o S af e =09tad (Stamen) @ SRS (Anther) FEBR T T FIAEC Sfgn GAMe FI
AZ] |

Super Rice-9 & {6 TAm g T A2

(a) WM @ ST (b) = @ feBifm-fa

(c) FcifBe ¢ febifim-f (d) FeaifBa ¢ febifim-f1

Tea: (a) IRIBT ¢ w7

B GG U
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@ R T3 8 B &kel ol el 2R A, B,AB 8 0.
B ABO 3T o (3853
N - = AT ASMI FACO | TR T 44 FACS
Al Al
e A A A b A€ AB ASO
(20%)
e B &bt
B A B8 AB BsO
(92%)
3% AB @k A, B, AB (&
%) A€B a9l b (@FHE 2 AB JESN
e 0 & N - N A, B, AB (&&= 0
(©9%) 7re)
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(a) TIFEeA (b) =N (c) aTITeliE (d) ==
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-1 4 0

e a=4
Hint: AT = A T () 369 &t s 209 |

0 1 3
q) [—1 0 -2}ﬁmma:?
a 2 0
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Hint: AT=—- A
p 2 3
CA pkﬂﬁWW“{CﬁA:P 5 G}Waﬁm
7 89
iGwE?
W:p:l
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1 -1 2 1
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1 z x+y.
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s. (4, %)ﬁ%ﬁaﬂzﬁkrwasw.v
Bew: (212, 242)

Hint: X = r cos © €32 y = r sin O [T FITSIAT doo% ***]

2. (-1,1/3) @ cotema g TS
2n
e ( ,?)

Hint: r =\ +y? @3 6 = tan’l))f

0.

r=a (AT ANFBE FITSHT AN TS Fa0oT
@
T x2+y2:a2

8. r = 4a cosec § (AT ANPAUDE FITSAT FAFACH
TSRS T 1 72
Te&x: y° = dax (PAIgS)

Hint: x =rcos 6 @Ry =rsin 6

¢. x-Tw8(-5-7)fgze @4 k @I k="2
Taw: O
2
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Hint: T
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v. (1, - 1) @R (8, 6) Rrqaez= et ceirees @@ [Rfb 3:4
AT SRFCE FF qF T FO?

Te: (4, 2)

Hint: myX, + MyX, myy, + myy,
' m, +m, m; +m,

5. A(2, 3),B(1, 5) ¥3r (3, 4) ¥ 2 fagrem sy o7
Tex: (2, 4)

Hint:x:X1+);2+X3,y: y1+3éz+y3

o.M A=(2,-4),B=(7,1) aRC = (-1, 5) ABCD
Tefced foqft ME 77 =7 ©@ D u7 g% Fo?
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Hint: (Xl TX3—Xn Y1 TY3— y2)
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Hint: ~S—
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38. (2x +1,4)8 (-1, y — 2) TACHG FfB I T (X, y) = ?
Tex: (-1, 6) [9@ = & @16 = @]

se. (1, 2), (7, 8) @k (k, 6) g o=t ezt =ct k = 2
Te3: (-1, 6)
Hint: 5T & &7 o1 = 27 % g7 o711

S, X +y—5 =0 FEEAD x- ICHF A @ @ Ty I
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Tew: 135°
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39, X —[3y = 7 T AT T T2

1
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3
X GF IR _
Hint: —y = [ax + by + ¢ =0]

S,y =—5xX + 9 R W @R /61 T2
.1
W’S

WACKIIKEY

Hint: m[ax+ by + ¢ =0]

3. 2X +3y —4 =0 @R X COS o + Y SiN o0 = p 9L HIFCHT
s p=2a="

Tew: :i;(x:tan’1§
p NiE >

Hint: -( ¢ )atﬁ =t *1@)
ntp= \/52+_b2 Ra =1an a

0. TART (@ \[3x + y = 10 FFACRNBH 7T {9 T2
Teq: 5
. c
Hint: { 7110 }
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TGS AP FO?

9
Wg

. C1—0Cy
Hint: | —5V—
I \/a2+b2
RW. 4X + 3y =5 R X €0s a + Y sin o = 4 FANSAT AT
ERER TGRS {Y FO7
Teq: 3
Hint: =i 20 9ibw 7ae (39 S [{ea |

0. X =2 @R 2X -2y + 3 =0 @EEH SWYS @R T
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BeT: 45°
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8. y=ba®R\By —y+1=0 EREET TGS TH @R
¥ F©?
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Hint: 27 @9 o118 =03 TeAAg (@1 399 @36 @y = b
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e 45°
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TGS (I T©?
©e3: 90%; my x m, = — 1 [FT=eRH)

4. 4x -5y + 20 = 0 @RI x 8 y- WCHA @AT WK F6?
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AT A AJ?
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0o, AT AN FOLA2X -y =0qR 3x +ay -2 =0 &@T
AT ¥ RQ?
g 6 [alaz + blbz :0]

3. X TCHT AL 60° TAFFAT 8 y TF O 2 GFF AP
@R TR T2

T \[3x—y+2=0

Hint: y=mx+c; m=tan 60° ¥ixc=2

0%, @I IR (0, 3), (3, 6) 7™ e wfeww Fw7, @I
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TeR: y = x + 3 [P =0l

0O, (@ RN TR W Sfoery I qR x-CFT 4GS
AT 3T 120° it Teofy IR ©IF N2
®&a: y ++/3x = 0; y = mx

©8, 4x — 3y + 11 = 0 GHIF ©oF 7% ¢ FRPIN @
BLIE
TeR: 3x + 4y =0

oe. A(2, 1) ¢ B(5, 2) @ w3 maamt @keiw @w
ANRITTFT FARFAA?
T 3x+y =12

WY, 5X — 2y — y = 0 IR ANGAT @R (2, 4) g faew
AN AR HAFAT?

Teq: 5x -2y =2

Hint: Option Test

0, (@ AR HGHCE (2, 2) MAHqre wHzfee) . $E oF
TR @IAD?
e x+y=4

Hint: x+y=a

b, (I FFARRT (3, 5) g faear wfeers e @R o 4t e
Refre ORI TR 9 @7 I FFAERIHT TN
Q2
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0D, X- ACHFY ANSAT @R X -3y +2=08x+y-2=0
TR (AT, AT AW OFeT FREACERIF A2

Teq:y-1=0
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Hint: @<{@@R fAefmeas e =0
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OGS (I, TAEY Q6T G BRFETT (AT ©-8 A
AT | TSR (Soo000Pp****)

T
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et g8 ot waeae
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2 X +y =093 R 38 4R 97 @7 (0, 0)

©. I =cosh J0GH @ 8 JFTE Fo?
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8. X 4y’ —4x+6y— 12 = 0J0e (Y GR P T2
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X 93 7R3 y @3 %A
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Tes: 25;1=0

b, X+ Yy’ = 2538 QA WIE (R CRAT 307
Tes: 2571 3 995 |
Hint: mr?
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3. X +y* + 2gx + 2fy + ¢ = 0 38T @ x- wCF Ff®
/AT FO?

e 20— ¢y [P —¢

3R, TR G I8 (AT x- TF O 4 §FF GR A GF
y- I IO 2 (TP I T FAC, IF AT FE-

Bea: X +y —4x—2y=0

Hint: x* +y*—ax—by =0
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Tes: Jred Ak |
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eeq fSorg g T
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Hint: &5 Jtes T7= e
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< 0 7 feem

3¢. (I 0T (F7 (3, 5) IR T GF6 FIW T AT FARE
(7, 3) T WR AT ZIART 92

TeR: (— 1, 7); Y TR JOH 12 A0S TG |

S, P(4,7) 8¢ Q (- 8, 3) Raw = a7 [ &g x0T
BT (PTG GE T2

Tex: (-2, 5)

Hint: IR 28~ 7iow T

3. y = mx + ¢ 3 @I X° + y* = a* JBTE =i T =1S?
Tew: c=+afl+m (S00% *¥H¥)

Sbr. K @F W F© A 3x + 4y = k @RI x° + y* = 10x &
e T2

Te3: k=10, 40

Hint: P11 = (9 0S @RIF 9 7794

5. @ 308 \[2 tieda &t (T 7 G B I W (T

TS?
Te: 71 3 9T |

Ro0. X% +y? = 81 387 w1 (-2, 3) Rre wwfaxfes = | &t @
LH

Beq: 2x -3y +13=0

Hint: 77 =it P |

. X+ Yy —2x + 6y +2 =0 J0e T (3, - 1) Rgre
e AT
Bex: x + y—2 =0 (777 ==t Formn)

W (1, - 1) R s 2 + 2y - x + 3y + 1 = 0 3087 O
TfFe =g Tl Fo?

\ﬁ

Hint: \/xf+yi 2gx; + 2fy; + ¢
0. ¢ & @7 (0, 2) e &b TRT few 7w, e
T2

Tem: P +y? -4y =0

8. (3, - 1) Ropifl @3 x° + y* - 6x + 8y = 0 J0&F A
GG IO ANTA?

Teq: X +y?—6x+8y+16=0

Hint: Option Test

€. (- 4, 3) @R (12, — 1) Raea TG @R I 403
e e TR

B X +y?—8x—2y-51=0

Hint: (&9 (39 3 Option Test

QU X+y?—4x+6y-36=09R X’ +y*—5x8y-43=0
0ST AT T & T2

e x—2y+7=0

Hint:s;—s, =0

4. (3, 4) R @3 X + y* — 8x + By + 21 = 0 J&F TR
AT

Teq: Ix+y-—25=0

Hint: Option Test

. (4,3) FERME 38 X+ y* = 4 Jar@ IRegoI =0 FaeT
0T TRIE F©?

Tex: 3

Hint: [C,C, =1, +1,]

CUIE e (FE, IS, AW o, e,
T G, AT, 38 T S G (AFR W
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S. 9@@#‘1‘@?‘(C0t9=%‘€ﬁ,sin9+cosﬁ=?
17
Tex: 13
Hint: =+ 12 -1/
Nt 73+13~13
Q. skeksk
5[3—1 . 3l3+1
tan15° = =2-+/3 | sin75° = cos15° =
\3+1 22
3+1 . 3-1
tan75° = 5\/% =2 +4/3 | sin15° = cos75° = %




9, COSX+COSy=adRsinXx+siny=bJT cos(x +y) =7
2 2
a“—-b

e 7=

8. cotatcotp=a¥Rtana +tanP =b=T tan(a +B) =7

= ()

¢. IMsinA+cosA=sinB+cosBT, SCA+b="?
T
W:z

v, ABC fagtem cos A = cos C = sin B ¥, @4 ZA &7 WIF
PO?

. T
W.Z

q. tan20tan 6 =1 0 @I N F©?
. U

W’6

Hint: A+B=90°%sTtan AtanB =1

. Sin (A —30°) +sin (150° + A) @9 T 92
W: 0
Hint: A = 30° €30e T |

5. A+B :gw, (1 +tan A) (1 + tan B) &5 ¥ $©7

W:Z
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0. sin? G+ A) + sin’ (%—A) =9
W:l
Hint: A:%W S

3. sin?10° + sin? 20° + ... + sin® 90° = ?

Teq: 5

5. cos? 10° + c0s? 20° + ... ¢os’ 90%= 2

W:4

39, sin 65° + cos 65° = ?
e /2 cos 20°
Hint: \/E cos (65° — 45°)

8. tan 20° tan 40° tan 80° =7
W: \/§
Hint: tan 6 tan (60° — 6) tan (60° + 0) = tan 30

cos 15° +sin 15°  sjn 75° + sin 15°

*® ¢os 15°—sin 15° °" sin 15° _sin 15°
W: \/§
Hint: CosA + sinA _ 1 +tanA

" cosA —sinA ~ 1—tanA
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3, tan 20° + tan 25° + tan 20° tan 25° @9 Ni¥ 92
Te: 1

34. tan54° —tan36° = 2 tan (54 — 36) = 2 tan18°

. tan70°.tan30°.tan20° = tan30° = %

Hint: tan 20° = cot70° =

~ tan70°

5. COtA — tanA = 2 cot2A [T 7] Assumption A&fete
YT FA]

%0 2tan®

“T+tan% - sin20

1 + cos20

R3. sin206
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3. sinG + cosO =\[2 T, 6 = 45° [Fra =]

0. sin (4x + 1) aaviﬁz.r:%“:
- ) /.
i 2 P
DA AR

. Z T
38. sin®x + cos*x @7 /T = >

3¢. tan x 97 AT FO?
W: T

Hint: u

B AR

2V, y =sin §+ cos%‘@T{WWW?
T 121

4. 3T {Igrea @R SgHre 1:2:3 20, IR SgHire
o7
Teq: 1 \/.’._3 12
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A TR T
2 2 2
®eq: C=cos 1372 =7 _ 1900
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a@FF |
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©&3: cos X So. [, (L+5x) X &FAFTFE?
i . 510
Hint: 1M M) — 169 _ ¢y e e
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Tew: 1 T xo0 X ’
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. _5[1+&X5l1—bx_a+b Teq: eb
Hint: X T2 Hint:
3 3 lim 1—sinx _
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e 5
Te3: 3a 1
Hint: limx™—a™ _m _man 2
Nt e —a n 2 Hint: L'Hospital Rule
i 2X
8 limIn(1 + x -5 ; Ilml_—eagﬂjﬂ-W?
t x>0 X o x=0 In(1 — X)
W’ 1 W: 2
Ht o _— Hint: L'Hospital Rule
int: X €3 R © |
sg, 1M sin’x _
lim sin 4X:,) T xo0 X '
x>0  7X ' Te: 0
4 Hint: L'Hospital Rule
Tex: 7
Hint: x @ =0 ST | S¢. 'X'_T) 1-COS X oz 7 7
lim  sin x EG_ T 2 )
x50 tant (3x) G I F©? Hint: L'Hospital Rule
W% - i C0S.7X —.coS9X,
* x50, 053X ='cas/Bx 7 1
Hint: x @3 R0 ST | Teq2
Hint: lim cosax—cosbx g% _p?
lim x* - 3x +2 G T FS? Nt 0 cos cx —cos dx c®—d?
xom XX —x—3
i H 3
T yq lim tan X =8I X _ 8* g ey
2 x—=0 X 2
Hint: 4% QITed 72091 ST | 1
Tew: >
lim 2x°+3x+5 Hint: 1M tan sx — sin sx _ s°
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x> 3xZ+5x—6 X0 X 2
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3. y=1/sin ZXECﬁdXWWv
C0S 2X

b \/sin 2X

=t dy _
Ro. y=e smx‘{ﬁrdx_

TeR: e* (cos x + sin )

N T
Hint: VdX(uv)_udX+Vqu

1
S, tan™ aawﬁ?wf—r
3 1+e e

Q. ptan™'x ¢ WA, otanx.

\x
e

\D. = \/; -
X0 YENETRAIN =L K

8_:\/;( =
8. y=eVRAY, =

3¢, y=+[sec X Ty, = M

W, y=In(2-X)RETy, = 3

2
9.y = SINX +.cosx %,y = 0
\/1+ sin2x
. y = e, y,; = 5e™
Wy = A,y = e
X | X et _ et
vo.y=In(e"+e )w’ylzex-'_e_x

dy _
). y— mdx

e |I’]X—2

Vo u—-u-oVv
oy Tdx T Tdx T
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Te: 15
Hint: 1 + tan*(tan®) + 1 + cot’(cot *3) =1+ 2°+ 1 + 3° =15
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Souie 6 4 3 2
sin 0| 1 |1 |43 1 0] 0
2 |42 2
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2 | 2] 2
tan 0 1 | 1 |3 [wrEfrs 0 | O
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sind =sina 27O =nn + (-1)"a;; N € Z [AGRI: 22-23]
Sin6=0%CT 0 =nbn; ne Z
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i. sin cot™* tan cos’lg a3 AT = % [AGRI: 21-22]
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Article

01. Heis____ M.B.B.S.

(@) an (b) a (c) the
02. Heis___ F.R.C.S./FRCS.

@a (b) an (c) the
03. Hepulled __ boyby  ear.

@aa (b) a, an (c) the, the
04. __ AIDS virus infection is incurable.

(@) an (b) a (c) the

05. Hewentto the hospital because he had heart attack.

Ans: (a)
(d) no article

Ans: (b)
(d) no article

Ans: (c)
(d)an,a

Ans: (d)
(d) no article

Ans: (d)

(2) no article, an (b) a, an (c) the, no article (d) no article, a

06. Last year we wenton ___ cruise (®9%a9) in the Caribbean. Among ____Islands we visited Bermuda and
the Bahamas. Ans: (b)
(@) an, the (b) a, the (c) the, an (d) the, the

07. 1 know heis____ honest man. Ans: (b)
@ a (b) an (c) the (d) no article

08. Isaw ____ the beggar. Ans: (d)
(a) an one-eyed (b) an one-eye (c) a one-eye (d) a one-eyed

09. Which one of the following sentences is coreect? Ans: (c)
(a) Dhaka is on Buriganga. (b) Dhaka is on a Buriganga.
(c) Dhaka is on the Buriganga. (d) The Dhaka is on the Buriganga.

10. Footballis__ most popular sport in the world. Ans: (c)
@a (b) an (c) the (d) None

Preposition

01. Whycan’tyougo [ yeur father? Ans: (b)
(a) along, to (b) along; with (c)-onyto (d) off, to

02. The police station isa mile ____ the river. Ans: (a)
(a) from (b) beyond (c) behind (d) at

03. Which is the longest river __ Europe? Ans: (a)
(@) in (b) of (c) within (d) by

04. Shewassllding ___ depression. Ans: (a)
(a) into (b) of (c) on (d) at

05. Alion jumped __ the trees. Ans: (a)
(a) out of (b) outside of (c) from behind (d) from among

06. Theview ___ the open window is very pretty. Ans: (c)
(@) at (b) by (c) through (d) to

07. To lead a well-balanced life, you need to have other interests __ studying. Ans: (d)
(a) beside (b) with (c) along (d) besides
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08.

09.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

The client lodged a complaint ____ the cashier.

(2) against (b) for (c) with
The matter is too serious ___ him to handle.

(@) to (b) for (c) with
Our teacher told the monitor to hand out scripts __ the class.

(2) between (b) into (c) through
He has beenill __ three months.

(a) since (b) about (c)in
Mr. Rahim has been absent from the office _ Friday last.

(a) since (b) on (c) from
We haven’t seen him ___ almost a year.

(a) since (b) for (c) from
_____Pohela Boishakh, there is a festive mood all ___ the country.

(@) at, over (b) in, across (c) since, across
Sheputaquilt _ me.

(@) on (b) over (c) upon
The university will build a new dormitory __ campus.

(@) on (b) in (c) over
Our examination will start _ Monday next.

(@) in (b) on (c) at
____all the students, Sumon is the best.

(a) Between (b) with (c) of
Helives _ Mirpur _ Dhaka.

(@) in, at (b) within, at (c) at, in
He went there at 70°clock __ | the evening.

(@) at (b) in (c)on

| finally Kkilled the fly __ a rolled-up newspaper.

(@) by (b) with (c) through
We travelled  6:45 train, which arrived at 8:30.

(@) in the (b) on the (c) by
There are fifty passengers ___ the bus.

(@in (b) inside (c) on
What isthe time ___ your watch?

(@) by (b) in (c) with
The new airport should be fully operational __ the end of the year.

(@) since (b) with (c) by
He was happy to be ____ friends.

(a) between (b)-into (c)-after
Ifyoufell it

(a) about (b) on (c) like
The Sundarbansis ____ the south of the country.

@) in (b) to (c) on
They arranged to meet _____ seven.

@) in (b) on (c) by
Professor Razzak was a scholar ___ refute.

(@) in (b) of (c) after
We were ____ friends in that strange but magical country.

(a) among (b) upon (c) looking
The walls of our house have been painted ___ green.

(2) no preposition (b) by (c)in

Ans: (a)
(d) by

Ans: (b)
(d) against

Ans:(d)
(d) among

Ans: (d)
(d) for

Ans: (a)
(d)in

Ans: (b)

(d) until

Ans: (d)
(d) on, over

Ans: (b)
(d) above

Ans: (a)
(d) with

Ans: (b)
(d) for

Ans: (c)
(d) none

Ans: (C)
(d) at, within

Ans: (b)

(d) by

Ans: (b)
(d) from

Ans: (b)
(d) by the

Ans: (c)
(d) over

Ans: (a)
(d) at

Ans: (C)
(d)in

Ans: (d)
(d) among

Ans: ()
(d) for

Ans: (b)
(d) towards

Ans: (d)
(d) at

Ans: (b)

(d) by
Ans: (a)
(d) between
Ans: (a)
(d) with
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33. Please ____ the necessity of arriving early. Ans: (d)
(a) emphasise about (b) emphasise to (c) emphasis on (d) emphasise

34. Hewasaccused _____ killing a young man. Ans: (c)
(@) for (b) with (c) of (d) on

35. The committee has arrived _____ a decision. Ans: (b)
(@) to (b) at (c) on (d) by

36. Did you have any difficulty ___ avisa? Ans: (b)
(a) get (b) in getting (c) to have got (d) having got

37. I complied ____ her request. Ans: (c)
(@) at (b) on (c) with (d)in

38. Whatareyousoangry __ ? Ans: (a)
(a) about (b) at (c) with (d) for

39. lwasannoyed ____ him for his dishonesty. Ans: (a)
(a) with (b) for (c) to (d) against

40. The intellectuals can no longer be said to live _____ the margins of society. Ans: (b)
(2) against (b) beyond (c) inside (d) before

41. Heinsisted ____ there. Ans: (a)
(a) on my going (b) isto go (c) over going (d) to go

42. Weopted ____ areconciliation ____ the dispute. Ans: (b)
(@) for, of (b) for, to (c) with, at (d)in, to

43. My wife reminded/reminds me . Ans: (a)
(a) of my appointment (b) to go my appointment
(c) to my appointment (d) my appointment

44. We shall refrain ____doing it. Ans: (b)
(@) to (b) from (c) of (d) at

45. Hisillness is a mere pretext __ his absence. Ans: (b)
@) of (b) for (c) at (d) by

46. Idlenessisbar ___ success in life. Ans: ()
(@) into (b) of (c) to (d) before

47. For those who suffer ___ nerves the remedy lies___ perfect rest. Ans: (b)
(a) for, with (b) from, in (c) of, to (d) at, into

48. He has paid the penalty ___ hiscrimes ____ five years in prison. Ans: (a)
(a) for, with (b) for, for (c) about, at (d) for, in

49. All my efforts to bring about a compromise ended — smoke. Ans: (b)
(a) with (b) in (c)-off (d) through

50. The Bullet Train travels __ 200 -miles-an-hour. Ans: (c)
(a) for (b) in (c) at (d) at

Correction

01. Which of the following sentence is correct one? Ans: (b)
(a) Paper is made of wood. (b) Paper is made from wood.
(c) Paper is made by wood. (d) Paper is made on wood.

02. Which one is correct sentence? Ans: (b)
(@) The doctor found my pulse. (b) The doctor took my pulse.
(c) The doctor examined my pulse. (d) The doctor saw my pulse.

03. She will be studying science, __ ? Ans: (d)
(a) isn’t she (b) will she not (c) wouldn’t she (d) won’t she
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05.

06.

07.

08.

09.

10.

11.

12.

13.

14.

01.

02.

03.

04.

frefersr 2ot fefmyiers ©f$S ggfor ot Moacaty dfed

Choose the correct sentence.

(a) Your mistake hold this view.

(c) You are mistaken in holding this view.
Identify the correct sentence.

(a) She and her sister fights every day.

(c) She fights with her sister every day.

He will take examination. (G *=Rr=t w3 1)
Ans: (c)
(a) drop
Choose the correct sentence.

(b) give

Ans: (c)
(b) You mistake in hold this view.
(d) Your are mistaken to hold this view.

Ans: (c)
(b) Both sisters fight each other every day.
(d) Every day she and her sister fights.

(c) appear at (d) discontinue

() He used the phrase you know so often that | finally said, No, | don't know.

(b) He used the phrase “you know” so often that I finally said, No I don't know.
(c) He used the phrase you know so often that I finally said, “No, I don't know.”
(d) He used the phrase “you know” so often that I finally said, “No, I don't know.”

Which sentence is grammatically correct?

(a) Who do the book belongs to?

(c) Who does the book belong to?

A small child does whatever his father was done.
(a) has done (b) did

He is a most perfect judge.

(2) as perfect (b) such a perfect
Which of the following is a correct sentence?

() He was too clever not to miss the point.

(c) He is too clever to miss the point.

Choose the correct sentence.

(a) Men usually want to have their own ways.

(c) Men usually wants to have their own way.
Which is the correct sentence?

(a) BBC is broadcast from UK.

(c) Karim live in USA.

Ans: (d)
Ans: (c)
(b) Who belongs to the book?
(d) To whom does the book belong to?
Ans: (c)
(c) does (d) had done
Ans: (d)
(c) absolutely a perfect (d) a perfect
Ans: (c)
(b) He was so clever to miss the point.
(d) He was clever to grasp the point.
Ans: (b)

(b) Men usually want to have their own way.

(d) Men usually want to have his own ways.
Ans: (a)

(b) Karim preferred reading that to writing.

(d) Karim preferred to read than writing.

What would be the correct form of conditionals in the blank space to complete the sentence, “If I had known he

was in trouble helped”.

(@) I'would (b) 1 would have

Narration
“Munmun says that she did.not go there.” (Make'it.direct.)

(a) Munmun says, “I did not'go there.”

(c) Munmun said, “I did not went there.”

The correct narration of, He said, “I am well”-
(a) He said that 1 am well.

(c) He said that he was well.

Choose the correct indirect speech- She asked me, “Are you happy in your new job?”

(a) She asked me if I was happy in my new job.

(b) She asked me if I have been happy in my new job.
(c) She asked me whether I am happy in my new job.
(d) She asked me if I had been happy in my new job.

What is the correct indirect form of: He said, “You had better see a doctor”?

(a) He advised me to see a doctor.
(c) He proposed to see a doctor.

Ans: (b)

(c) I should have (d) I should

Ans: (a)
(b) Munmun says, “I do not go there.”
(d) Munmun says that | did not go there.

Ans: (c)
(b) He said that I was well,
(d) He said that he is well.
Ans: (a)
Ans: (a)

(b) He advised that he should see a doctor.
(d) He suggested that he had seen a doctor.
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05. Choose the correct indirect form of: He said, “We are all sinners.”
(b) All of them were sinners was told by
(d) He said that we are all sinners.

06.

07.

08.

09.

10.

11.

01.

02.

03.

04.

05.

06.

07.

08.

09.

10.

(a) He said that all of them were sinners.
(c) All of us are sinners was told by him. them.

He said, “Alas! I am undone.” Find out the correct indirect speech of the sentence.

() He exclaimed with sorrow that he was undone.
(c) He was sorry, because he was undone.

He said, “Let me have some milk” Make it indirect.

(a) He said that he wanted some milk.
(c) He wished that he might have some milk.

correct indirect speech?

Ans: (d)

Ans: (a)

(b) He cried out so that he is undone.

(d) He expressed his misfortune.

Ans: (c)

(b) He prayed that he might have some milk.
(d) He said that he might have some milk.
“I will have a cup of tea.” My father said, “Because I'm not hungry.” Which of the following sentence is the

(a) My father said that he will have a cup of tea because he wasn’t hungry.

(b) My father said that he would have had a cup of tea because he wasn’t hungry.
(c) My father said that he would have a cup of tea because he wasn’t hungry.

(d) My father said that he will had a cup of tea because he wasn’t hungry.

“If I were you, I wouldn't go”, he said. The indirect speech is —

(a) He told me to stay with me.
(c) He advised me against going.

Anis said, “I must write a letter” The indirect speech is-

(a) Anis said he must write a letter.
(c) Anis said he had to write a letter.

Change the following speech into indirect form. “By God, I am telling the truth”, he said.
() Swearing by God he said that he was telling the truth.

(c) He said that God was telling the truth.

Parts of speech

(b) He asked me not to go.
(d) He advised me never to go.

Ans: (c)

Ans: (c)

Ans: (d)

(b) Anis said that he must write a letter.
(d) Anis said that he had to write a letter.

Ans: (a)

(b) He said that God was telling the truth.
(d) Saying by God he was telling the truth.

Choose the correct sentence. [[RERFTEA fRtewd T ©F 0]

(b) The jury is arguing among themselves.
(d) The jury has been arguing among themselves.

(a) The jury are arguing among themselves.
(c) The jury has argued among themselves.
The word 'Substantiate’ is a/an

(&) Noun (b) Adjective
The word ‘Gravity’ is- a

(&) noun (b) an adverb
Which of the following is noun?

(a) practise (b) advise

Which of the following word is an adjective?

(a) Freedom (b) Cheerful
What is the verb form of the word ‘acquisition’?
(a) Acquiesce (b) Acquisite
What is the verb of the word ‘Ability’?

(2) ableness (b) enable
which one is the noun of the word ‘brief’?
(a) Brevity (b) short

What is the verb form of ‘beauty’?

(a) beautiful (b) beautifully
Which is the noun of the word ‘beautiful’?

(a) beauty (b) beautify

(c) Verb

(c) an adjective
(C)-guise (Rac)
(c) Beautify

(c) Acquire

(c) ably

(c) Briefly

(c) beautifying

(c) beauteous

Ans:(a)

Ans: (c)
(d) Adverb

Ans: (a)
(d) a verb

Ans: ()
(d) advertise

Ans: (b)
(d) Attentively

Ans: (c)
(d) Acquirement

Ans: (b)
(d) able

Ans: (a)
(d) Briefing

Ans: (d)
(d) beautify

Ans: (a)
(d) beautific
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11. The noun form of ‘broad’ is- Ans: (d)
(a) broadly (b) breath (c) broaden (d) breadth

12. The adjective of the word ‘climax’ is- Ans: (a)
(@) climatic (b) climatical (c) climatics (d) climacteric

13. The verb for ‘culture’ is- Ans: (c)
(a) Cultivation (b) Cultivated (c) Cultivate (d) Cultured

14. Adjective of ‘circle’ is- Ans: (b)
(a) Encircle (b) circular (c) circuler (d) circle

15. The noun of ‘deter’ (A4 SA)" is: Ans:(a)
(a) deterrence (b) deterrential (c) dentention (d) detour

16. Which is the verb of the word ‘danger’? Ans: (d)
(a) Danger (b) Dangerous (c) Dangering (d) Endanger

17. The noun of ‘depart’ is- Ans: (c)
(a) department (b) depart (c) departure (d) departing

18. The verb form of ‘education’ is- Ans: (b)
() Educator (b) Educate (c) Educative (d) Educating

19. Which one is an adverb? Ans: (a)
(a) Economically (b) Economical (c) Economics (d) Economy

20. What is the verb form of the word ‘false’ is- Ans: (c)
(a) falsificate (b) falsitite (c) falsify (d) enfalse

21. What is the verb form of the word ‘friend’? Ans: (d)
(@) friend (b) friended (c) friendfull (d) befriend

22. Which one is the adverb of the word ‘favour’? Ans: (c)
(a) favourable (b) favourite (c) favourably (d) favourability

23. The adverb form of the word ‘heart’ is- Ans: (b)
(2) heartened (b) heartily (c) hearty (d) heartening

24. What is the noun of ‘Horrible’? Ans: (d)
(@) horrify (b) horribility (c) horribly (d) horror

25. What is the adjective of the word ‘Heart’? Ans: ()
(@) heart (b) hearten (c) heartening (d) heartful

26. What is the noun of ‘hate’? Ans: (b)
(a) hateful (b) hatred (c) hatefully (d) hated

27. Which is the verb of the word ‘Life’? Ans: (c)
(@) Enlife (b) Living (c) Live (d) Vividr

28. The noun of ‘Laugh’ is- Ans: (d)
(@) laugh (b) laughing (c) Taughable (d) laughter

29. Verb of ‘Number’ is- Ans: (b)
(@) Number (b) Enumerate (c) Numerical (d) Numbering

30. What is the verb form of ‘person’ is- Ans: (c)
(a) personed (b) emperson (c) personify (d) None

31. What is the adjective of ‘purify’? Ans: (c)
(a) purity (b) pureful (c) pure (d) purifying

32. The noun of ‘predict’ is- Ans: (c)
(2) predictable (b) predicting (d) prediction (d) predicted

33. The adjective of the word ‘people’ is- Ans: (d)
(a) popularity (b) popular (c) popularize (d) populous

34. The noun of persuaded is- Ans: (a)
(2) persuasion (b) persecution (c) perseverance (d) persistenc

35. The verb of the word ‘play’ is- Ans: (c)
(a) playing (b) playable (c) play (d) playing
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36.

37.

38.

39.

40.

41.

42,

43.

44.

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.
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The verb of the word ‘response’ is-

(a) responsible (b) respondent
What is the noun of ‘remove’?
(a) removing

What is the verb of ‘success’?
(a) succeed (b) successful
What is the verb of the word ‘shortly’?

(@) short (b) shorter
Verb of the word ‘simplification’ is-

(@) simply (b) simple
The adjective form of the word ‘sustain’ is-

(2) sustain (b) sustainer
The verb form of ‘trauma’ is-
(a) traumatic

Noun of the word ‘Unite’ is-
(2) Unification

(b) removal

(b) traumatically

(b) Uniform

What is the corresponding adjective of the word ‘vitality’?

(a) vitally (b) vitalize
Which is the noun of the word ‘vary’?

(a) variance (b) variety
What is the verb form of the word ‘woman’?
(a) womanly (b) womanish
What is the noun of the word ‘waste’?

(a) wastage (b) waste
What is the noun form of the word ‘defer’?

(a) defference (b) deferation
Which is the noun of the word ‘Do’?

(a) Deed (b) Did
Go and catch the falling star. Here the ‘falling’ is
(@) An adverb (b) A preposition

(c) responsibility
(c) remosion
(c) prosperity
(c) shorten

(c) simplify

(c) sustainable
(c) traumatized
(c) United

(c) vital

(c) very

(c) womanify
(c) wasting

(c) deformation
(c) Done

(c) An adjective

‘Please write to me at the above address.” The word ‘above’ in this sentence is a/an-

(&) noun (b) adjective
He sleeps a sound sleep. The underlined word is-
(@) anoun (b) a verb

(c) pronoun

(c) an adjective

I didn’t lose, but yours was a better buy. In this sentence ‘buy’ is used as-

(a) averb (b) anoun
Frailty thy name is woman. Here ‘Frailty’ is-

(@) anoun (b)-anadjective
They told us a tale about a tail. The word ‘tale’ is-
(a) adjective (b) noun

This is the go of the world. Here ‘go’ is a/an-

(@) verb (b) noun
Bangladesh has a good _____in cricket.

(2) prospectus (b) prosperous
We shall not see his look again. Here ‘look’ is a/an-
(a) Adverb (b) Noun

We shall not see his look again. Here ‘look’ is a/an-
(a) Adverb (b) Noun

(¢) an adjective
(c)-an-adverb
(c) verb

(c) adverb

(c) prospective
(c) Preposition

(c) Preposition

There is some cause for concern but no need for alarm. In this sentence ‘concern’ is-

(a) adjective (b) noun

(c) verb

Ans: (d)
(d) respond

Ans: (b)
(d) removeness

Ans: (a)
(d) succession

Ans: (c)
(d) shortness

Ans: (c)
(d) similar

Ans: (c)
(d) sustaining

Ans: (d)
(d) traumatize

Ans: (d)
(d) Unity

Ans: (C)
(d) vitality

Ans: (a)
(d) variable

Ans: (d)
(d) womanise

Ans: (a)
(d) wasteful

Ans: (d)
(d) deferment

Ans: (a)
(d) Doing

Ans: (c)
(d) A verb

Ans: (b)
(d) adverb

Ans: (a)
(d) an adverb

Ans: (b)
(d) an object

Ans: (a)
(d) a verb

Ans: (b)
(d) adverb

Ans: (b)
(d) adjective

Ans: (d)
(d) prospect

Ans: (b)
(d) Adjective

Ans: (b)
(d) Adjective

Ans: (b)
(d) adverb
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61. In the line “Tossing their heads in sprightly dance” The word ‘sprightly’ is a/an- Ans: (a)
(a) Adjective (b) adverb (c) verb (d) noun
Rule: preposition @3 Noun €3 A @1fE< word e =G Adjective @2 #Ita=G Noun 231

62. We have rights and responsibilities. Ans: (d)
(a) Adjective (b) Verb (c) Adverb (d) Noun
Rule: Have/has/ had @ object T2t noun 367 | & | have had enough of this. (noun)

63. You have no right to do waste water though you pay for it. Ans: (b)
(a) adjective (b) noun (c) adverb (d) verb
Rule: No Ji<Eei® adjective f2311ta a9=® 23 4 @& #It2 noun 7671 No + W; (Noun) + preposition

64. The doctor is a friend of mine. Identify the parts of speech ‘mine’- Ans: (b)
(@) Noun (b) Pronoun (c) Adjective (d) Adverb
Rule: Pronoun @318 verb @3 subject, object, preposition € object, complement fZ1ta 361 1

65. He was a rather disagreeable man. Here the underlined word is a/an- Ans: (c)
(@) Noun (b) Adverb (c) Adjective (d) Preposition

66. “All men must die” Here all’ is used as- or, He gave me some books. Here ‘some’ is- Ans: (b)
(@) Noun (b) Adjective (c) Pronoun (d) Verb

67. We came to an abandoned house. Ans: (d)
(a) verb (b) Adverb (c) Noun (d) Adjective
Rule: Article 8 Noun @3 Sl @6 word <0 o ©=@*52 Adjective 263 |

68. The underlined words in the line, “The lone and level sands stretch far away” are- Ans: (b)
(a) nouns (b) adjectives (c) adverbs (d) verbs

69. The house is quite near. The underlined word is a/an- Ans: (b)
(a) Pronoun (b) adjective (c) preposition (d) verb

70. This is a book of the English language. what part of speech is the underlined word? Ans: (a)
(a) Adjective (b) Noun (c) Verb (d) Adverb

71. Water the garden. the underlined word is a/an- Ans: (d)
(&) noun (b) pronoun (c) adverb (d) verb

72. Try to better your lot. Here ‘better’ is- Ans: (d)
(a) Adjective (b) Adverb (c) Noun (d) Verb

73. Ishall call you on Friday. Here ‘call’ is widely used as- Ans: (c)
(&) Noun (b)-pronoun (c)verb (d) adverb

74. Come on, it’s a time to go home. Here ‘home?’is a/an= Ans: (b)
(@) verb (b)-adverb (c)-noun (d) preposition

75. “Well” is usually an adverb and so describe ____, but when it refers to health it can be an adjective and describe
_ Ans: (d)
(a) adjectives, verbs (b) nouns, pronouns (c) adjectives, nouns (d) verbs, nouns

76. The patient visits the doctor once a month. Ans: (c)
(@) pronoun (b) adjective (c) adverb (d) verb

77. He doesn’t like Beethoven and neither do I. In this sentence ‘neither’ is- Ans: (b)
(2) preposition (b) adverb (c) adjective (d) noun

78. When you can say you can do this, well prove this. Ans: (d)
(2) preposition (b) adjective (c) conjunction (d) adverb

79. He was gravely concerned about the problem. Ans: (b)
(a) adjective (b) adverb (c) noun (d) verb
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80. Which position of ‘always’ is correct? [Ja T 74n1R 2o faee fBfe @t ToAter <t 1] Ans: (d)

() Always the old man enjoys watching television at weekends.
(b) The old man enjoys watching always television at weekends.
(c) The old man enjoys always watching television at weekends.
(d) The old man always enjoys watching television at weekends.

81. I can’t tell you how I did it. Ans: (a)
(a) adverb (b) adjective (c) noun (d) verb

82. Mr. Kabir is on the committee. @I, on *%f5- Ans:(b)
(a) adverb (b) preposition (c) conjunction (d) interjection

83. None but the brave deserves the fair. In this sentence ‘but’ is- Ans: (a)
(2) preposition (b) verb (c) conjunction (d) adverb

84. The book was neither well-written nor interesting. Ans: (c)
(@) verb (b) adjective (c) conjunction (d) adverb

85. ldentify the underlined parts of speech: What! can this be true? Ans: (b)
(a) conjunction (b) interjection (c) adverb (d) preposition

86. 1 found him guilty. Here ‘guilty’ is- Ans: (b)
(a) an object (b) a complement (c) a subject (d) a predicate

87. Which underlined word is an adverb? Ans: (b)

(@) This house is fine. (b) This shirt suits me fine.
(c) The bottle has to be fine. (d) He had to pay a fine.
88. The word ’oil’ has been used as a verb in- Ans: (c)
(a) 1 bought an oil painting (b) I need some kerosene oil
(c) Qil your own machine (d) There is no ail'in the lamp.

89. The warning of the authority falls on deaf ears. Here ‘warming’ does the function of- Ans: (d)
(a) adverb (b) adjective (c) verb (d) noun

90. An elected member can take the decision. The bold-faced word is used as a/an- Ans: (d)
(@) verb (b) adverb (c) conjunction (d) adjective

91. The child sat mute in the corner of the park. Here ‘mute’ is a/an- Ans: (b)
(a) noun (b) adjective (c) adverb (d) verb

92. All spoke in his favour. Ans: (b)
(&) Noun (b) Pronoun (c) Adverb (d) Conjunction

93. Either of the two girls will be awarded. The underlined word is- Ans: (d)
() Adjective (b) Adverb (c) Noun (d) Pronoun

94. A part of speech of the underlined word-is:*Sit.down and rest.for.a.while.’ Ans: (d)
(a) Adverb (b) Adjective (c)-Preposition (d) Noun

95. “Who’s that?” In the sentence ‘that’ is a/an- Ans: (a)
(a) pronoun (b) conjunction (c) adjective (d) adverb

Sub Verb Agreement

01. Sweet __the uses of adversity. (7549 @& W43) Ans:(b)
@) is (b) are (c) has (d) have

02. The majority ___ that he is an honest man. Ans: (a)
(a) believes (b) believe (c) is believing (d) are believing

03. Choose the correct sentence. Ans: (d)
(a) The matter was informed to the police. (b) The matter has been informed of the police.
(c) The police was informed of the matter. (d) The police were informed of the matter.

04. Here _  book and bag that I lost last week. Ans: (a)
(@) are the (b) is the (c) was the (d) has been
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05. The number of students seeking admission ____. Ans: (d)
(a) have increased (b) have been increased
(c) is increased (d) has increased

06. Three-fourths of the assignment ___. Ans:(b)
(a) have been finished (b) has been finished (c) have been finish
(d) have been finish (e) have finished

07. At least one of the students _____ full marks every time. Ans: (c)
(@) get (b) are getting (c) gets (d) have got

08. Each of the girls ____ the class regularly. Ans:(b)
(a) attended (b) attends (c) attending (d) attend

09. Ten thousand dollars___a lot of money. Ans: (b)
(@) are (b) is (c) were (d) aren’t

10. Neither Rini nor Simi _____qualified for the job. Ans: (b)
(@) are (b) is (c) were (d) had

11. The virtuous (be) always happy. Ans: (b)
(2) have been (b) are (c)is (d) none

12. Fill in the blank with right form of verb. If I ____ aking! Ans: (c)
(@) am (b) was (c) were (d) shall be

Voice

01. Change the voice: ‘Let us go, you and I’ Ans: (a)
(a) Let you and I be gone. (b) Let’s you and I are gone.
(c) You and I should go now. (d) Let’s go then, should we?

02. The passive of ‘Who taught you French?’ is- Ans: (d)
(a) By whom you were taught French? (b) By whom French was taught you?
(c) French was taught you by whom? (d) By whom were you taught French?

03. The passive form of ‘Whom does he love’? is- Ans: (a)
(a) Who is loved by him? (b) Who was loved by him?
(c) Who had he loved? (d) Who loves him?

04. Choose the correct active form ‘He is thought to be a poet by them’ Ans: (b)
(@) The thought him to be poet. (b) They think him to be a poet.
(c) They think to him be a poet. (d) They think him be a poet.

05. What is the active voice of ‘It is known to me how it was done by him’ Ans: (d)
(@) I know how he has done. (b) 1 knew how he has done.
(c) I knew how he did it. (d)-1-know how he did it.

06. “I have a cat” Make it passive: Ans: (d)
(a) A cat is being had by me: (b) A cat is has been had by me.
(c) A cat have been had by me. (d) A cat is had by me.

07. Change the voice: | have a red cat. Ans: (a)
(a) A red cat is possessed by me. (b) A red cat has been had by me.
(c) Ared cat belongs to me by me. (d) A red cat is to be had by me.

08. Give the correct passive form of “My teacher embodies all the good qualities.” Ans: (b)
(a) All the good qualities are embodied by my teacher.
(b) All the good qualities are embodied in my teacher.
(c) All the good qualities are embodied to my teacher.
(d) All the good qualities are embodied on my teacher.

09. The correct passive form of the sentence: “Take care of your health.” Ans: (b)
(a) Let your health taken care. (b) Let your health be taken care of.
(c) Let your health taken care of. (d) Health is taken care by you.
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10. The correct passive form of “You must shut these doors.” Ans: (d)

(c) These must be shut doors.
(c) Shut must be the doors.

(b) Shut the doors you must.
(d) These doors must be shut.

11. Correct passive form of “I have to do it” is- Ans: (a)
(@) It has to be done by me. (b) It is to be done by me.
(c) It has to be done to me. (d) Let it be done by me.

12. Let her sing a song. Passive form is- Ans: (a)
(a) Let a song be sung by her. (b) Let a song be sung by her.
(c) Let a song sing by her. (d) Let a song sung by her.

13. “Never catch the Jatka.” Make it Passive. Ans: (b)
(a) Let the Jatka never be caught. (b) Let not the Jatka ever be caught.
(c) Never the Jatka be caught by you. (d) The Jatka is caught by you.

14. The Passive voice of “He made us work.” is- Ans: (b)
(a) We was made the work by him. (b) Work was made by him for us.
(c) Work were made by him to us. (d) We were made the work for him.

15. The passive form of “They were flying kites.” Ans: (b)
(a) Kites were flown by them. (b) Kites were being flown by them.
(c) Kites were being flowing by them. (d) Kites was being flown by them.

16. Choose the correct passive voice of “BBC broadcast the breaking news.” Ans: (c)
(@) The breaking news is broadcasted by BBC. (b) The breaking news were broadcasted by BBC.
(c) The breaking news was broadcast by BBC. (d) The breaking news are broadcasted by BBC.

Transformation

01. “In spite of being old, he was young at heart.” The compound sentence of it is- Ans: (c)
() Though he was old he was young at heart. (b) He was too old to be young at heart.
(c) He was old but young at heart. (d)-All-of the above.

02. The complex sentence of “He is too weak to walk.” is- Ans: (a)
(a) He is so weak that he cannot walk. (b) He is very weak to walk.
(c) He is so weak to walk. (d) He is to weak to walk.

03. Which one is the correct sentence? Ans: (a)
(a) Although he is poor, he is honest. (b) Although he is poor, so he is honest.
(c) Although he is poor, but he is honest. (d) Although he is poor and he is honest.

04. Change the following sentence into a complex one. “Tell me your name.” Ans: (d)
(@) Tell me what is your name. (b) Tell me the name you bear.
(c) Tell me what your name. (d) Tell me what your name is.

05. Select the right compound structure of the sentence: “Though he is poor, he is honest.” Ans: (c)
(a) He is poor and honest. (b)-As-he'is poor, he is honest.
(c) He is poor but honest. (d)-Since he-is poor, he is honest.

06. “A rolling stone gathers no moss” The complex form of the sentence is- Ans: (d)
(a) Since a stone is rolling, it gathers no moss. (b) Though a stone is rolls, it gathers no moss.
(c) A stone what rolls gathers no moss. (d) A stone that rolls gathers no moss.

07. “We must not be late, else we will miss the train” This is a- Ans: (a)
(a) compound sentence (b) complex sentence
(c) simple sentence (d) interrogative sentence

08. Pioneer men and women suffered terrible hardships,and . Ans: (d)
(a) also did the children (b) also the children
(c) so do the children (d) so did their children

09. Neptune is an extremely cold planet,and . Ans: (c)

(a) so does Uranus
(c) so is Uranus

(b) Uranus so
(d) so has Uranus
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Degree of Comparison

01. The roots of the old tree spread out _____thirty meters in all directions and damaged nearby building. Ans: (c)
(a) too much (b) so much (c) as much as (d) much more

02. The students of Bangladesh are more meritorious than ___ of the USA. Ans: (b)
(@) that (b) those (c) all (d) another

03. This book is so exciting. | can hardly wait to get to the _____ chapter. Ans: (a)
(@) last (b) latest (c) new (d) youngest

04. Change the sentence “She is the best housewife” into positive form. Ans: (d)

(a) No housewife is so good as she.
(c) No housewife are as good as she.

(b) No other housewife was so good as she.
(d) No other housewife is so good as she.

05. Which is not the superlative degree? Ans: (c)
(2) palest (b) last (c) none (d) least
06. There is nothing a glass of cold water on a hot sunny day. Ans: (b)

(a) as refreshed as (b) more refreshing than
(c) so refreshing that (d) refreshing enough
07. The situation is than ever. Ans: (b)

(2) aggravate (b) graver (c) grave (d) worst
08. Computers that once took up entire rooms are now _____to put on desktops and into wrist watches.  Ans: (a)
(a) small enough (b) smaller that (c) as small as (d) so small

Spelling

i o i i
Abduction et Amalgamation GIaFAY
Aborigines it Archaeology Agog/adgikwt
Abundance AT Ascertain e st
Acclamation ANeAR AL Assassination @It
Accommaodation LISAEISISE Assurance R
Accelerate sifegfa vt Astronaut RISCE
Accessories TR I8 Awareness HoSoTS!
Accomplish gl LD Blasphemy qicairet
Acquiescence IS Bourgeoisié ToovpeE e At e
Acknowledgment AfeRea Bureaucracy RIELIICH
Believable ey Colonel A
Belligerent TEOINA Commemorate RAT I A
Beneficiary BICEIC Commission GHE TS G
Calligraphy fereent Commentary &I
Catastrophe R Committee Affe
Cholera e Convenience et
Chrysanthemum SR Condescension s, e
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b wref bk wef
Competition afswifet Councillor Tt
Connoisseur N TP R Diphtheria TN @R

TE &
Conscientious IRSaalE] Dissonance IR A
Constellation TS /ANIS Diarrhoea BRI
Cigarette LRI Dilemma Toy-%b
Descending qIeqqy Dysentery R
Desiccate uF 4l Efflorescence T (o
Entrepreneur TSt Exhilaration T
Evanescence e Exaggerate wfexfere 4t
Etiquette IREE Embarrassment kS
Fallacious e, ot Expedient ST 0

ot

Foreigner IR Forty g
Giraffe e Grandeur LiEae ey
Hallucination wftew Hygiene MIEREEIEPRIO)
Hierarchy cafafqesT Heterogeneous Rt e /ot
Humorous hetsl Hypocrisy ooy
Inaccessibility ofaret Inoculate Bt ezt
Inaugurate Traigs 4 Interrogate e =t
Influenza e Intuition e, @Y 3
Merchant 9w Irresistible Geferary
Maintenance THNEH Lieutenant AR wfEg
Millennium BT Millionaire ifbefs
Mischievous woeq Mongoose &
Necessary AT Navigation FifR=sRwt
Obsession RSt Occasion ToeTE
Privilege Rogfasw Pronunciation Twige
Perseverance YA Pyorrhoea =R
Personnel ELLE| Quotient oEe

W
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il e kil
Questionnaire CRIEC]] Renaissance
Recommendation Lk Restaurant
Reconnaissance aefi wiest Rhododendron
Remittance Bt SO Supersede
Schizophrenia T @R Souvenir
Transfiguration O IF Surveillance
Transparency TR Volunteer
Waitress Iy ARt Walkie-talkie a3ife-5fe
Analogy

01. Vacillate : Hesitate; Ans: Irresolute : Indecisive
02. Happy : Cheerful; Ans: articulate : express

03. Distort : Twist; Ans: Harmonize : Balance

04. Lengthen : Prolong; Ans: Stretch : extend

05. Delay : Retard; Ans: slow down : hold up

06. Submission : Yielding; Ans: Compliant : Acquiescent
07. Tranquility : peace; Ans: chaos : disorder

08. Captive : Free; Ans: enlarge : reduce

09. Coward : Brave; Ans: break : restore

10. Assert : Dissent; Ans: Affirm : Object

11. Conscious : Careless; Ans: Careful : Indifferent
12. Carpenter : Saw; Ans: seamstress :-sensors

13. ‘Botany’ is to ‘plants’ as ‘Zoology” is to-; Ans: animals
14. Tiger : Zoology :: Mars : Ans: Astronomy

15. Fire : Ashes; Ans: event : memories

16. Degree : Temperature; Ans: Ounce : Weight
17. Harm : Damage; Ans: injure : incapacitate

18. Monotheism : theism; Ans: monocle : glasses
19. BRUSH : PAINTING; Ans: Chisel : Sculpture
20. Discharged : Soldier; Ans: graduated : student
21. Sky : bird :: water: __ Ans: fish
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Idioms & Phrases

Idioms & Phrases Meaning in Bengali Idioms & Phrases Meaning in Bengali
A bed of roses EASERCEEY At first glance g Wit
. TR
Allin R, %% oy & At large AR, IS
oI Tege A
FIC TS
After one’s own heart A piece of cake G TS
A S fFg
Apple of discord A dime a dozen abfere /47 LR
T A
Achilles heel wderes g All at once TN
At the eleventh hour o TS At a stretch GFACE A GO
All but A At a snail's pace 37 7 ofete
e W, TR fA4fy,
Armed to the teeth Ffeere Apple of one's eye
o <
At a loss [RaachiI S Bear market T ASF
Bull market TR I Bone of contention e
Bring to mind RS AT Bring to book =% creat
Bottom of my heart TBEA (FEET At a stretch GINTG A qFoI!
By and large BT CAR End in a fiasco L 7T
Cry in wilderness EC )T Figure out TS At
Sillv-dall et <=, e Fish introubled CNETRICETR SJCCt Pt
i FECTFAS Tt water NEQIEE|]
Donkey work IR FIGT F& Flesh and blood TSN MR
Down to earth I Go astray et ezt
Dog days IRLAF TS Y Give a hand Refyet T4t
Drop the hammer I T A1 Hard and fast gt
AT Teaem e,
Gala day Tee e Hold water
for U=t
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Idioms & Phrases

Meaning in Bengali

Idioms & Phrases

Meaning in Bengali

Greek and Latin &g« In vogue aofere

Hole and corner et 7pes In brief g A

In vain Tk, Lingua franca Y O Rt

In a dilemma faqaca S;ﬁetzgeiiifnd @IS ({06 A

In a nutshell HALHCA Kith and kin LSRRI

fRom J=rs e .

Keep one’s head e Maiden speech g gl

Olive branch “feq eSie Mal;eel;):th ends 08 QIR 41

Prior to LSk Null and void e

Pass the buck g «few vatt Red letter day Ty Wt

Rainy day L&l Sixes & sevens e, qeeiife
Readbetween the lines o (et Rain cats and dogs TR IR e

Snake in the grass e T Safe and sound Ratom

Stone’s throw Yq R Sit on the fence Ratm= s fF=eers <t

Soft soap oI Swan song Y e, Sfes o1
Throw cold water on TeAR 78 41 Slow-coach fostt Wy

Tooth and nail & fea Through& through PRI R

A A ) |
Take for granted | (9. foRes 79 Ivzgilesoone’s el
Under the water eI 29 Take after 12 e ey e
& TG AT
Verbose speech G == Jt qtroTR Ups and down TYF-Aoq
=T
Watch out for Tk Without issue TR
White elephant [T With an eye to s
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Idioms & Phrases

Meaning in English

Idioms & Phrases

Meaning in English

A Machiavellian

character A cunning person At a stretch Without stopping
A life only of j All
A bed of roses e on_y of joy and daggers On the point of fighting
happiness drawn
At il
Apple of discord A matter of dispute paa:::nal > Slowly
hing that i At the el th
A piece of cake Something that Is the eleven At the last moment
very easy hour
A bgrnlng An |m.portant Bite your Be silent
question question tongue
Beati d Avoiding th [ .
eating aroun VOi |r.19 e main Bad blood Enmity
the bush point
Boot leg Smuggle First language Mother tongue
i k
Bottom line The essential point Fish to fry Some lgzzrtant wor
Call to mind To remember For good Permanently
End in smoke Come to nothing Olive branch Symbol of peace
Greek to me Understand nothing s . Uncomfortable feeling
needles in a part of the body
I have butterflies .
: I am nervous Pass away To die
in my Stomach
K hi
eez;/our chin Be cheerful Red letter day Memorable day
Synonym
Word SyRenym Word Synonym
Abettor accompnce, Despise W
(@emEIR) conspirator =4 Abhor, contempt
Disseminate (251K
Amenable (F737S) Agreeable ( Circulate
=40)
. . Emancipate (& Set free (T 1)
Amicable (%% Friendly (%% ’
Ky Y Ky @& Liberate
Strong Dislike, Extempore
Antipathy (Rta9) opposite feeling, (rdera> o) Impromtu (&foet=F)
grudge (f&eT) :
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Word Synonym Word Synonym
Economical
Anxiety (Ba%) disquiet, unease (o) Frugal (fRreadh)
Authentic Genuine (SFf&)
' Futile (=T, Vain (s
(Xif5/2F®) Lowering R )
Arduous (&311<5) Laborious Furtive (¢ot#i¥7) Secret
Apex (A=) Zenith (A=) Fiasco (539 g€t Debacle
Forsake (sifest
Astute (iﬁ) Shrewd, smart Abandon
=40)
Auspicious
fortunate Gesture Body movement
() (i) y
ing (Tgatet Hindrance Barrier (JT4M);
Benevolent (S*=I) Caring _ ) . obstacle, cramps, bunker,
empathetic ( )
block
Fragile (7G): Impromptu
Brittle (@%3 s Extempore
(5%%) Delicate (CF19=1) (@fbe=s, egfel) P
Pirate Incredibly _
Buccaneer (&&%)) (@RTeIR) unbelibevably
Calculate (o=t
( assess Intrepid (Fares) fearless, brave
F90)
Congregate (®rg
gregate (e Assemble Indigence (TeR) Poverty
41 9 e)
Cognition (S=ifs, intelligence Integrate (4GS "
unite
LG EIRSECTS) )
Commemorate Observe (e Hluminate bright
righten
(o =) Ay S ) (emniee) :
Constraint Limitati Ingenious Skillful
imitation illfu
(Freret) (TTIR)
. Indifferent
Dank (FTeriTe) damp (@) apathetic
Diffraction (fa3®=) Division Noxious (&f¥839) Harmful
Idiosyncratic sl Pitfall (&, Shortcoming (F&eTst):
sua
(o) fpfe) Lacking (SreR)
Lure (2% <) Decoy Plight (g@=) Suffering (qTSi)
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Word Synonym Word Synonym
Devoted (S1®),
obedient
Loyal (e1®) @), adherent Pungent (€1, Overpowering (TSR
(&rg7r®), complying A ’ )
(Tgore)

Magnanimous Generous (CWF,

Placid (*I'®) Serene

(RIT=9) ART)

Pandemonium commotion
Mellifluous : smooth
) (Repeeer )
Continuance Redundant Unnecessary
Sequel (@, AR | (earatfeeren () (reicarera)
Skepticism Retarded )

() Doubt (FT%R) @uietie) Handicapped ([R%=1%)
Synergy (&Fei) Alliance Tumult (caiteTer) commotion
Savagery (353t Cruel, violent Tranquil (@) Placid (*%)

Unreadable Ilegible
Sever (Reo® F41) Cut @1%)

Vilify (7]
Shabb ™ unsmart Defame

abby (3o ) i -

Sluggish (TZF°1f®) Slow moving Vigilant (7<) Watchful (Rf¥®)
Suceumb g submit Zealot (1) Fanatic
F4)
Antonym
Word Antorym Werd Antonym
Acrimonious ) ) Belittle | @ eeT )
armonious (IS Exto ¢ <
(Baret) (AIT51/c2’B 1)
Pure (Re®), clean
Adulterated ( & i ( ) sharp (4191Ea), tactful
¢ b ] @ b ? Eﬁy B|Unt Célsl

(co=) ’ (M)

faster, erfere)
Native (%), Dim (SIege1/er=i2),
Alien (Roe) Bright (Seg=)
indigenous (C7) vague obscure (S2)
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Word Antonym Word Antonym
Alleviate (®2*q P 2
:\;?)e ® aggravate (Jrel) Barren (S39) Fertile (84%)
A (T8 C i
;:1;3 disperse (S* ) m:;mc))us Informal (AfeRw=)
Assemble (9Fq Charitable )
=) Separate (S=w) () Miserly (f=t3)
Cl o
Austere (THITF) Naive (AW :;\T/)e S Unite (9FR%)
Amenable Stubborn (cs@Y), Console (et Aggravate grief (8%
(Tgere) obdurate (I%%%) @eR) I
Changeable
Autonomous . (AfgSTA=),
a) dependent (FSae) Constant (%) Variable (8f), Rare
(=)
Compel (It Bbstruct (et Greal) Discrete (¢4%) Grouped (7&3):
struc : iscrete
=40 United (9Fiqa)
Col | (251, Divul
o:‘o.ssa) ( Tiny (@fosw) :/;T)ge ™ Conceal (coto/« Jralt)
Commendable Deplorable (Fafe Docile (xt& =t Unruly (@@, 7zes =
(2eTAI) ) A G%) A N GT)
Clandestine Overt (&%), clear Epilogue orol ( )
(o) (o) (o) rologue (VR
Return (2<1qeA):
5 ) Strength (%), Exodus () Come
ecay ' Progresg (@ﬂf%‘) xodus m Back m WT); Entry
(eT=™)
Desolat (@ﬂ“jﬂl Friendl
::O:.af) Populous (&+32) (Tgn';f,[n‘ﬂ y Hostile (*leFsts)
Elegant (Tif&re) Awkward (&) Gloomy (S«%=1) Bright (&&ge)
Entangle (&f¢® H i
n:;g e (& Untwist (;zrar;%nlous Discordant (i)
Enmity (*&ef) Amity (IF9) Intricate (&fb=) Simple (375#1)
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Word Antonym Word Antonym
F (==,
ormer Subsequent Infatuation (M) Apathy (8wH)
4ree)
Flamboyant Dull ((f=®): Tedius Impertinent
(i) () (RiEsRE) respectful (<FaTeD)
Flawlessness Imperfectness Inimical Friendly ( ‘i‘ﬁ
(s = «ifd) (coweT) (HeFata) riendly (Y
Indul 3
" :::)WW Abstain (e ) Meager (S&RF) Enough (It®)
Nebul
Jolly (21%%) Depressed We ;il%l;) Clear (412, f*%)
List ( . Sway to and fro Ominous (T¥S, Auspicious (&P,
ist (= (sifers 1) ’ ) TGS, AGEA),
Favourable
Opaque Resilient o
(TR Transparent (%) Rfogem) Unyielding (S %=1x)
Pacific (life=, Agitated (Srefers, Refractory Obedience (a4)
ASAITE) ol g, Sselde, ) (Sr]1%)
] Comfortable
Perilous P
Frotrree) (EE), Robust (Fg]1+) Weak (75%)
Secure (Rar=w)
Plaintiff (314,
afsqmy Repel (2f$tiy P
i, afewet, Defeggs?etn(din ) e:;T)( Attract (SiFd4 <41)
e : '
Pernicious Innocuous (M), Ratify (S Cancel (3ife=1 =1),
(o) Helpful =4) Negate
Stupidity (@,
Profound (*189) Superficial Sagacity (Reest) | we=st, Jret, wwe!, woy,
Qo)
Periheral Tranquility L ack of calm (&1
eriphera ack of calm
Central (=i, =it w<y,
Zer) entral (%) ﬁ?‘ﬂg) o3l Agitation (3tae)
Severity (fFmret,
Mild (e,
@, A, Fiove, aness ) Transient (rZi) Permanent (Z3)
AT, o) ’
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Word Antonym Word Antonym
Supervillious
(sﬁ;g %\gﬁ%;) Affable (SR) Trivial (%1°5) Significant (¥%g=)
Energetic (S99,
Slothful (&™) | @erersfera, T, Tedious (Ffe) Refreshing (7Te%)
CSTEHINT), Active
Superficial Deep (17, A, =, Turbulence _
(W‘i%?[) ﬁgié B (@) Quietness (&*Mifs)
Synch Vul bl
m%; ous out-of-phase (CTCIC) (a;f;g)a © Guarded (f%®)
] Well-defined
Scarcity (S1ge1) Abundance (2g%) Vague (38) (RTHR), clear (=215
segregation Integration (Rfeq S VICIOU% 1, Gentle (7, 9&, 93+,
(Feiead) AT qRe) , e, ot T, TR, ewel)
AR, L)
Tranquility Laclf of_calm (et " :
(nfe, =fe=f =g, g)) Agitation (Breer) g™ Determine (Frai® <41)
fiﬁQFﬁﬂ) Qﬁgn
Conditional
01. Which one of the following uses zero conditional? Ans: (c)

(@) If he came, 1 would go
(c) If you hit ice, it melts

(b) If he come, I will go
(d) If he had come, | would go

02. If 1 ___ amillionaire, I____ help every worth cause. Ans: (c)
(@) be, should (b) was, could
(c) were, would (d) on, may

03. If I knew the answer, tell you. Ans: (b)
@rnu (b) I'd (c) I must (d) Ican

04. If teaching ___ more, fewerteachers/students would leave the profession. Ans: (c)
(@) had paid (b) iscplaying (€)paid (d) has paid

05. Ifthey___ arrive late, they will-have to get their meal Ans: (b)
(@) had (b) should (c) do (d) would

06. If aruby is heated, it temporarily lose its colour. Ans: (a)
(@) will (b) would (c) does (d) has

07. Noonewould have__ Ans: (b)
(a) attended the lecture if you (b) told
(c) the truth about the (d) guest speaker

08.1f I__ you, I would not have done this. Ans: (c)
(a) was (b) am (c) were (d) are

09. He___ tosee us if he had been able to. Ans: (d)
(a) had been (b) came (c) is coming (d) would have come

10. This could have worked if I ___ been more cautious. Ans: (a)
(a) had (b) might (c) have (d) would
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11. What would have happened if __ ? Ans: (c)
(a) The bridge is broken (b) The bridge would break
(c) The bridge had broken (d) The bridge had been broken

12. If | had known you were coming ___ . Ans: (b)
(a) I would go to the station (b) 1 would have gone to the station
(c) I had gone to the station (d) 1 would be going to the station

Tense

01. They __ this much fun since they came to study at this school. Ans: had not had

02. By this time next year, I ____all my exams. Ans: will have taken

03. Thetrain ____late three times this week. Ans: has been

04. By the time they arrive____. Ans: he’ll have left

05. 1 __ atsixO’clock, but ___ to be by five. Ans: normally get up, sometimes | have

06. It heavily whenhe __ up. Ans: was snowing, woke

07. He ___ prefers____ speak very little. Ans: himself, to

08. | came home after the rain____. Ans: had stopped

09. Do not make a noise while your father____. Ans: is sleeping

10. __ himyet? Now is your chance to do so. Ans: Haven't you met

11. Air ___ pollution a big threat to living beings. Ans: poses

12. Thebus ___left before all the passengers arrived. Ans: had

13. When the guest arrived, they __ lunch. Ans: were having

14. The number of COVID-19 related deaths __ the world. Ans: has overwhelmed

15. | ___ toaforeign country. Ans: have never been

16. I ___ twenty kilometers to work every day. Ans: commute

17. The Arabian Nights _____ still a great favorite. Ans: is

18. While going to the class____. Ans: | was bitten by a dog

19. Rabindranath’s stories often _____ surprise endings. Ans: have

20. He has just ____ out. Ans: gone

21. One of my friends ____ a student. Ans: is

22. Faridaand | ____ watching television when he arrived. Ans: were

23. Roma ____ill since last week: Ans:-haseen

24. Sabina ____ her hand when she was cooking dinner.”Ans: burnt

25. My uncle arrived while I ____ the dinner. Ans: was cooking

26. I don't mind ___ home, but I'd rather ____a taxi. Ans: walking, get

27. "Would you mind having a cup of a tea?’ is a sentence in- Ans: Present tense
28. Without the right software, I'm afraid you can't ____ that particular programme. Ans: access
29. No sooner had he left ____ | came. Ans: than

30. They___their reports yet. Ans: haven't written

31. The rain started after we ____ for about an hour. Ans: had been playing

32. The building ____left unoccupied since 1950. Ans: has been

33. Itistwoyears | had a holiday. Ans: since

. By 9 O’clock we ___ our homework. Ans: will have finished
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35.
36.
37.
38.
39.
40.

01.

02.

03.

04.

05.

06.

07.

08.

09.

10.

11.

12.

The thief said he was ashamed of what he_ . Ans: had done
He said that he _ be unable to come. Ans: would
Asthesun_ | I decided to go out. Ans: was shining

We hoped that she__ able to return in time. Ans: would be
Those (be) costly items, she bought. Ans: were

Galileo taught that the earth___around the sun. Ans: revolves

Identification of phrase and clause

We look for the brilliant students. What kind of phrase is ‘look for’? Ans: (d)
(a) conjunctional phrase (b) prepositional phrase
(c) adverb phrase (d) verbal phrase
He worked with all sincerity. The underlined phrase is- Ans: (d)
(a) A noun phrase (b) An infinitive phrase
(c) An adjective phrase (d) An adverbial phrase
‘He ran with great speed.” The underlined part of the sentence is a- Ans: (b)
(a) noun phrase (b) adverb phrase
(c) adjective phrase (d) participle phrase
He is in the room. Ans: (b)
(a) prepositional clause (b) adverbial adjunct
(c) adjective complement (d) object complement
‘Please try to think out of the box.’ the underlined part is- Ans: (a)
(2) prepositional phrase (b) adjective phrase
(c) verb phrase (d) Conjunctional phrase
We were waiting for_ the bus. The underlined part is- Ans: (c)
(a) a noun phrase (b) an infinitive phrase
(c) a prepositional phrase (d) a verb phrase
Identify the underlined phrase: What a pity! The man is dead. Ans: (a)
(a) Interjectional phrase (b) Adverbial phrase
(c) Prepositional phrase (d) Conjunctional phrase
Identify the underlined phrase: | drank water as much as | could. Ans: (d)
(a) Interjectional phrase (b) Adverbial phrase
(c) Prepositional phrase (d) Conjunctional phrase
While hiking through the woods yesterday, we saw a tiger. Ans: (c)
(a) Prepositional phrase (b) Adverbial-phrase
(c) Participle phrase (d)-Noun phrase
We must buy the tickets next week. Ans: ()
(a) object (b) noun (c) adverbial (d) complement
The elm tree has been standing in front of our house for 30 years. Ans: (d)
(2) an adjective phrase (b) a propositional phrase
(c) anoun phrase (d) an adverbial phrase
They arrived home safe and sound. Identify the underlined phrase: Ans: (d)
(a) noun phrase (b) adjective phrase
(c) complex phrase (d) adverbial phrase

. Which part of the sentence ‘‘Rahim said that he good’’ is sub-ordinate clause? Ans: (b)
(a) Rahim said (b) that he was good (c) was good (d) he was good
I know that he is thoroughly honest. Ans: (b)
(a) main clause (b) noun clause
(c) adjective clause (d) adverbial clause
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15. He asked me whether | would help him, in this sentence the underlined part is-. Ans: (a)
(a) a noun clause (b) an adverbial clause
(c) an adjective clause (d) a Prepositional clause

16. The underlined part of the sentence ‘The question is how he will respond’ is - Ans: (c)
(a) an adverb clause of manner (b) an adjective clause
(c) anoun clause (d) an adverb clause of time

17. That was the reason why he came late. The underlined portion is Ans: (c)
(a) Noun clause (b) Adverbial clause
(c) Adjective clause (d) Principal clause

18. ‘Towin a prize is my ambition.” The underlined part of the sentence is a/an- Ans: (b)
(2) adjective phrase (b) noun phrase
(c) adverb phrase (d) conjunctional phrase

19. Qualifying in the admission test is not easy - Ans: (b)
(a) main phrase (b) noun phrase
(c) adjective phrase (d) adverbial phrase

20. A woman with a veil over her body approached the doctor. The underlined phrase is - Ans: ()
(a) Verbal phrase (b) Adverbial phrase
(c) Adjective phrase (d) Prepositional phrase

21. ‘Strike while the iron is hot’ is an example of- Ans: (c)
(a) Noun clause (b) Adjective clause
(c) Adverbial clause (d) Subordinate clause

22. This is the book I lost. Here ¢I lost” is- Ans: (c)
(a) a noun clause (b) a adverbial clause
(c) An adjective clause (d) None of the three

23. The news that he has died is false. The underlined part is a/an- Ans: (a)
(&) Noun clause (b) Adjective clause
(c) Adverbial clause (d) no/clause

24. 1 shall go where he lives. The underlined part of the sentence is - Ans: (c)
() a noun clause (b) a verb clause
(c) an adverbial clause (d) an adjective phrase

Group Verb

01. Letusnot your past mistakes. Ans: (a)
(@) dwell on (b) dwell (c) dwell at (d) dwell about

02. Heisa very difficult person to get___. Ans: (b)
(@ On with (b) in with (c) up with (d) out with

03. Bashir gets____ well with his colleagues. Ans: (a)
(@) on (b) upon (c)-for (d) at

04. The unfortunate father found-it difficult to put up with his son’s behaviour. Select the alternative that best
replaces the underlined portion of the sentence. Ans: (a)
(a) tolerate (b) accept (c) encourage (d) admit

05. When they had their first child, they put____large sum for his education. Ans: ()
(@) on (b) into (c) aside (d) up

06. The accused men have been __ custody to await trial. Ans: (d)
(a) delivered into (b) handed into (c) put into (d) remanded in

07. | couldn’t find a hotel and___sleeping on the bench at the station. Ans:(a)
(a) ended up (b) blew up (c) cleaned up (d) broke up

08. My nephew___ chicken pox this weekend. Ans: ()
(a) came round with (b) came along with (c) came down with (d) came over with

09. You must cut your expenditure. Ans: (c)
(@) at (b) with (c) down (d) out
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10. ‘To do away with’> means- Ans: (c)
(a) to repeat (b) to start (c) to get rid of (d) to drive off

11. | called his address on the computer- Ans:(c)
(@) on (b) after (c) up (d) for

12. John died___sleep and his friend died__accident. Ans:(b)
(@) at, of (b) in, by (c) for, in (d) over, at

13. Hedied___illness. Ans:(a)
(a) of (b) on (c) by (d) with

14. The man died____overeating. Ans:(d)
(@) by (b) for (c) of (d) from

15. The orphan boy died___cholera.
He died__ covid-19.
He died__heart failure.
The boy died__dengue Ans: (a)
(@) of (b) by (c) from (d) to

16. Hedied____ an accident yesterday. Ans: (d)
(@) of (b) from (c) off (d) by

17. His aunt brought him __when his parents died. Ans: (b)
(a) grown (b) up (c) over (d) off

18. Fill in the blank with appropriate preposition. ¢“The girl burst__tears’. Ans:(a)
(@) into (b) for (c) of (d) from

19. The tree has been blown__by the storm. Ans:(a)
(a) away (b) up (c) off (d) out

20. This computer is useless; it’s always breaking . Ans: (d)
(@) out (b) off () in (d) down

21. The thief broke___the house last night. Ans: (b)
(@) in (b) into (c)at (d) among

22. Overwork will tell___your health.
Alcohol tells __ your health. Ans: (a)
(@) upon (b) at (c) of (d) for

23. Threes have___ off their leaves. Ans:(c)
(@) thrown (b) fallen (c) cast (d) put

24. ‘Pass away’ means- Ans:(b)
(a) disappear (b) die (c) erase (d) fall

25. His father came to see him___. Ans: (c)
@) of (b) after (c) off (d) away

26. Hetook her___ aspy. Ans: (c)
(a) with (b).like (c)-for (d) about

27. We need to do more___the poor flood victims- Ans: (d)
(a) reach out to (b) live up to (c) put up with (d) make up for

28. The teamis___ eleven players. Ans: (b)
(a) made of (b) made up of (c) made up (d) made

29. As the boy’s father felt sick, he had to look___ him. Ans: (d)
(a) for (b) in (c) at (d) after

30. If you do not know the meaning of a word, look it___in a dictionary. Ans: (b)
(@) on (b) up (c) to (d) for

31. I have___ himtogive__ smoking. Ans: (c)
(a) said, up (b) talked, for (c) told, up (d) told, in

32. In spite of my requests, he did not____. Ans: (a)
(a) give in (b) fall in (c) get off (d) give forth
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01.

02.
03.
04.
05.
06.
07.
08.
09.

10.

11.

12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
25.
26.

01.
02.
03.

04.

frefersr 2ot fefmyiers ©f$S ggfor ot Moacaty dfed

Sentence Completion

Bangladesh has been one of the ___in formulating and implementing a National Drug Policy in the face of
the massively powerful and ____ global pharmaceutical industry. Ans: pioneers, lucrative
Snorkeling is one kind of- Ans: diving

Scientists have discovered a liquid which boils at about 165°C with __ decomposition. Ans: partial
Yogais____ agood exercise for ____ breathing. Ans: considered, controlling

The __ words of the mother comforted the child. Ans: sweet

In the essay the student has ____ about a road trip. Ans: written

I think my brother has ____ his friends badly and displayed selfishness for a long time. Ans: heel
The discovery of penicillinwasa _____ event. Ans: sensational

Choose the word which fits best within the texts below. Among ___ 12-year-olds have

on average only three missing, decayed of filled teeth. Ans: children

Choose the word which fits best in the space within the text. _ on October 12, 1492,

Columbus and his men landed on a small island he nhamed San Salvador. Ans: Finally

Choose the word or phrase which completes best the sentence. He spent a long time

looking for a tie which ___ with his new shirt. Ans: went

| took a map with me, as | didn'twantto ____ my way on the journey. Ans: lose

My friend believes that research is a group effortand = do l. Ans: so

She was taken by _when her name was announced for the first prize. Ans: surprise

He has supported the team for over ten years through .~ The right option is:*/Ans: thick and thin
The novels of Humayon Ahmed sell like . The missing expression is: Ans: hot cakes

River erosion has ___ thousands of people homeless. Ans: rendered

A contest always has . Ans: opponents

A statement based upon suppositionissaidtobe _ Ans: hypothetical

I always like to get to an appointment in ___ time. Ans: good

How much ofan ___ did World War Il have on Europe? Ans: effect

The professor was pleased with ___ of the students. Ans: the remarkable progress

She had avery __ tongue, and could-besrally sarcasticwhen she waswveryangry. Ans: sharp
Why _ use the medieval Bengali'legend inthe poem? Ans: does thepoet

We human beings tend to forget __we have come as a species in a relatively short period of time. Ans: how far
One swallow does not makea __ Ans: summer

Translation
L 41 A - Patience bears fruit.

wfSeEe! 2 QI AI@D 4% - Experience is the best teacher in life.
@ AR, O ®_e 7% - He who s disciplined succeeds in life.
TR IR wfbeTet @RI IR - The intricacies of the human mind are beyond comprehension.
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05.
06.
07.
08.
09.
10.
11.

12.
13.
14.

01.
02.
03.
04.
05.

01.

02.

03.

04.

05.

06.

07.

08.

09.

W

SrocEq 14 [T TR 0 RS - The essence of democracy lies in the voice of the people.

RS Q37 oA - Mankind is at stake now.

&7 ReePRAP =@ ¢ - He found himself at his wit's end.
&I 2P 7R - Life is not a bed of roses.

@ (= FAAC® ST - He did nothing but laugh

QTS @Te AN ‘{fﬁw - While lumbering along the path in cresent moon light.

TEYIeT P R - It s raining cats and dogs.

4 @ R =Iees &M=l - The sun is, as it were, the lamp of the universe.
firge QMM (R AT & IPEE - Our teacher told us off for being late.
Bf FI1F =C - Who is your father?

Proverbs
RS FTS RIte TW @R JF = - Blessings are not valued till they are gone.

O (RCE AGCTS [ TKENS ©f - It is all the same whether such a boy lives or dies.

Y (AT Fierewm (rdl AF - The orphan boy is seen once in a blue moon.

TYROLBA 7Y 9% W& - It’s two miles to the sea beach.
I8 I FACE (8 @A - No pains no gains.

One Word Substitution
A radiologist is most often employed in-

(a) power plants (b) workshops (c) finance
Oncology relates to-
@) law (b) medicine (c) ecology

One who is the hater of womenisa____

(a) imposter (b) somnambulist
‘Empiricism’ is a word which means____

(2) the doctrine that all knowledgesis hased on.experience
(b) the doctrine that all knowledge is based 'on skepticism
(c) the doctrine that all knowledge is based on-evolution
(d) the doctrine that all knowledge is based on criticism
Extempore speech means
(2) First speech

(c) misogynist

(b) speech without preparation (c) Early speech

Etymologically ‘veterinary’ means-

(a) animal (b) cattle (c) beast
A lexicographer writes -

(a) stories (b) novels (c) letters
One’s inner or mental life, or self-image is -

(a) psychogenic (b) psyche (c) psychic

Mythology is the study of various beliefs about -
(a) monsters and fairies
(c) gods and goddesses

PHYSIC
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(b) kings and queens
(d) knights and suires

Ans: (d)
(d) hospitals
Ans: (b)
(d) environment
Ans: (c)
(d) pilgrim
Ans: (a)

Ans: (b)
(d) Final speech
Ans: (a)
(d) livestock
Ans: (d)
(d) dictionaries
Ans: (b)
(d) psychology
Ans: (c)
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10. Since many teachers today draw on material from a variety of sources, disciplines and ideologies for their lesson,

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

their approach could best be called-

(a) eclectic (b) simplistic

An auriscope is an instrument used for examining the -
(@) ear (b) nose

A person who writes about his own life writes-

(a) a diary (b) a biography

The closet meaning of Zoonotic transmission’ is-

(a) coming from a monkey

(c) coming from blood

There are not many men who are so famous that they are frequently referred to by their short

names only-

(@) initials (b) signatures
One who studies heavenly bodies is called-

(a) Astrologer (b) Astronomer
‘Pediatric’ relates to the treatment of-

(a) Adults (b) children

A place where earth and sky seem to meet-

(a) admiral (b) vortex

A ‘cardiologist’ is a doctor who treats-

(a) cancer (b) heart patients
One whose attitude is ‘eat, drink and be merry’ is-

(@) cynic (b) stoic
Which color is a moonbow?
() The passage does notsay (b) Yellow

sHUNTERSH

Ans: (a)
(c) invidious (d) impromptu
Ans: (a)
(c) throat (d) eye
Ans: (d)
(c) a chronicle (d) an autobiography
Ans: (d)
(b) coming from human being
(d) coming from an animal
Ans: (a)
(c) pictures (d) middle names
Ans: (b)
(c) Palmist (d) Vintner
Ans: (b)
(c) women (d) old people
Ans: (c)
(c) horizon (d) rainbow
Ans: (b)
(c) leprosy (d) dengue fever
Ans: (c)
(c) epicurean (d) materialistic
Ans: (c)
(c) White (d) Green
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